PREFACE

Today, the CTD (conductivity temperature and depth profiling system) observation, from which we can
get vertical profile of water temperarute and salinity in the ocean, is an important means of marine observation to
get precise and fundamental oceanographic information not only for physical oceanography but marine biology
and ocean chemistry. However, the sensor of the CTD system is so sensitive that the data obtained is variable
according to the condition and the treatment of the sensor and after-processing and quality control of the data is
difficult. But we do not have the established method yet and it's often said about fear against reliability of the data

obtained.

Realizing these facts, for the purpose of establishing the method to obtain precise data efficiently, "CTD
data examination committee” headed by Dr. Kawabe, Oceanographic Institution, Tokyo University, was organized
and there they examine the method of obtaining and correcting of the CTD data and also check the effectiveness of

that method at actual observation.

We expect disseminating their result widely for observer use will promote the accuracy and reliability of
the CTD data obtained in this country and, further more, will contribute to the international global environment

project, so we decded to publish it as a JODC Manual/Guide.

We hope this Manual would be used as a guideline for CTD data processing by each observer.

Osamu YAMADA

Director

Japan Oceanographic Data Center
March 1993
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EARENCRENIIERE TRV, EERUIRKRE EREHEDCEN EFMBMLE 25, Filkmt
VH-DREDESHNMBEL A, ERZEELVH—1Z20Th, TDILEICIDKPBOBRTEEIZL o
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TELDEVIHHENS S, EREEEVEER LI I v 7HO—I5mmE EO/N S UANEHEAVTWAS /2
B, FIERETRA L EIREFPOKDEI L 2L, bF P TiEH AL EFMIENLTLINOTH S,
[BAEE L CTDASD B OB T EE OMAIL, Giles and McDougall (1986)iISRENTWE DT, T4V FN - T 4
Wy —%FEoTHETAIENTEA, HERKBREVHF—DILENESEHETRILLV,

FORBER. 5P LOKBEVT—DREREL DD > TWHIEIESTH D, TRILIZKAD2ODHFIEN S
2, 1013, BEERADOKBE Y F—BIHIH —I X 42 EBL, - I XFOREOMS E BEEIEDIT
BIIMEBIET, KBEDEELERCEELEARECRELTAIAETHS, - IR, BELREETH
BEEREICE 2 L DDEE IR, FRIC L BHIEKIB% Fast Response Temperature(dh 5 WL HIZ "Fast T') &
BATWA, b3 100Kk, RREBEORRFIF 5074 Vo LT« L5 —2 P T, RRYCHESE
EekBLACES YR LD THE, BRESEF -5 £E6EI0TE (KBT —F EEDA L LTRTH
B, A BRDAIIELRT—IDNBRAERSEEDLILETH), THOL/IAZFFTEHEDTLEI- T,
PRoTITVEREER

—IRFIEAHEREETREY, LL, EBCIHLEAAOBERIRIBE 4 DKL o TKRECES
DNTVENT, BEMOAKEICEDE Y —IAF THII(HETELVWOFERTHS, HERRNEE
HEHF—IRIDOBEHOAEENTTIT A Vo iBEIRV Y, —EEICIRBREOV (RRICELZ W,

FDID, FTAVIN - T4V —%E) T Ehb, U — OETHEET LOZCHALTELTSE

T5E, £V —DILEIL,
daT/dt =0"—=T)/= (5.1)

EEIFDH, IIT, iU —DIEERMTH D, EEL AT v THEE(1<,TO, t2t,TT*(t) [=const] ) & § 5

ELtZ TOTICONT

STty =T () [1—exp —(t—ty)/ 7} ] (5.2)
EVIBEERDL, CORNEGHRCRAT L L,

dr/dt =z "T'(t)exp |—(t—t)/ 7} (5.3)

Efdh, —BZICEBEOBRIIZ, WAVLAELZ (THAF Y 7THENHT HELDT, T (EKL (THOEMBNE
{5 L. BEL ECOEBCHTAREEMIT L, T4 bbb, GHRIC/ Ld2Ril, (05 & =1,—tlEK
ERTBE,

() =r”JlT%W5rwNE/rM£ (5.4)

b, ChEERTHE.
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Ty = 7' T+ E)exp(&/ T)de
+ T"'/-: T (t+ &) exp(& /7)d& . (5.5)

2132, ART—IDOH Y T) VTR TH A, (5.5)RDG:LIT,

FI1E =exp(—a/ 1) r—"f_a.,.T'(t—A‘i'r])'exp(q/r)drl
(TCT, p=¢+48)

=exp(—A/ 1) T(t—4),

BOE = T (1—a/2)0) _,exp(&/ T)dE

= [—exp(—a/ 1)l ‘T'(t—A,/2)
LEXEELDNT, #5
Tt) =-exp(—Aa/ ) Tt—aA) + [1—exp(—a/ 1)l T (t—A/2) (5.8)

E% 5,

BRCEEL - DILEEME c LTHLE. ¥V —DECIK(S.6)R & BRI,
Cl) =exp(—A/ 1) Clt—a) + [H—exp(—A/rgl C'(1—a/2) (5.7)
E b, RO VDIE, KiBt VT — ERLCERM c DBERFICTHH, £HIZOVTIL,
Ct) =-exp(—a/ 1) Ct—a) + [H—exp(—a/ 1)l ‘C'(t—2/2) (5.8)

DD LD, GDHREGHRAPOC EHETHILT,

C(t) =-exp(—A/ 1) Clt—a)
4+ [H—exp(—a/ )l / li—exp(—&/ ) - lC(t)—exp(—-A/rc)-C(t—A)i (5.9)

%182, BEEZEEL /Y —OLEREVNT, BEDLHIZ, c 20&T2E, (5.DHRIT
C(t)y = exp(—A/ ) Clt—a)+ [H—exp(—a/ )l *C() (5.10)

EfB, 2HLT. v DWVIkexp(—A/ ¢t [(=FP] Sx banid, COREHE->T, HATHOLNL T
SIZEET—yCODPSRERM . DF—5Co 2IHTHIEMNTE S,
KLV —DOEEHM ¥ REL 5103, ALTORL? o OEH LTHEFTHEL, BFANA 7 %
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BINITAH 2R LT, TOEZNEEM e Angidiv, ERICEFPOE*REELTHSZHEL. 1832
T RBEENEIADBMMELOEND_RMNER/PMTHELRD L, &6, FALTHEON/fEEL S
HEVEME S EICFYL, BECER T, 12750, COIHECIHBIEETH, EFANA 72 EE
TAHABREICKEL, 28MICEEBEF ST vEEIL IS CENIT LIV, (ABAKHI-SKMENT—F TR
L7:Elh, 0SEDMBTEAZER Lo THIBBBOGELIIEALEDLLTY, VLI/DFHEIZL(FELTS
27, )

T, BAENZENIEOBIZOVWTHET IV WD THA I b, BEILBEITHETHT— S % &
DRITUIVITEVOR, HEVEHIBENBOT - 4 2EIDHFDL, HOPLHARTE(LENH
ANDT. BRAKHII-SKAED L UCBT 2270 DOCIDRIZE N7 — 8 2> TR/, ) 7 -5 DERE E
HTHEEL, BOHFDOHEPmin, FVFEPmax £ T 5, F§Pmax £2000dbICEZEL. Pmin #VWAVWAERX T,
FPZ R 72(E2), FIECO7TIE, Pmin=1db DEEICFP=0.76 &£ W) BRSNS LBl H o7, TD L) 2P AN
BLHINT, EEICIEVE TAHRBH LAY L v, Pmin 25dbA S KE LTV &, FPARAIZ/ S
(e AEMIEH BT, KEAREIERV, Pmin 2 EDEICE s THEDLLVE I TH A, Kt EXRZEED
HREORFKEVDRIEBTH), LV —OELEREOBNHPHBICLINIII ORGFLOT, 25 EW
FEEDEHENLVTHE ), €T, Pmin & LTSdbEBRET LICLTS,

RiZPmin Z5dbiZEE L T, Pmax KX TH/(E3)o, #HCO7TTiE, Pmax=6000db DEFISHAL M B L %

B h, EAEDZRMLEEICKEV, Thit, BTS5 {5000db&6000dbNfZ/ A IHEA>TWBEDTH
By, INEHRCE, BEALRILEICZo TV A, $IZC8LECHITIR, EDHELRLTH B, COTTH,
Pmax #5200db & 500db®B5(CFP=0.90, Pmax #°1000dbEL £ TIZFP=0.891% > T, E A LEIELL TV 5,
COEIRBELIELITA OGN BAY, Pmax %1500dbLL L iC B LR L AL EILL 2w, THid, %< ED
1500db 3 THRIE L THIFiE, FPERH B ETRMAL VI L 2 &KL TV 5, Pmax 2°2000dbll E TR KL
LAWDT, & TidPmax=2000db (2T B Lill7, bbHAPmax £ bo LR Lo TLEDL WA, EH
DEEICIIEMADL2EOT, FILERIROND LS5 ITPmax /S VEN LW,
A5, 5db~2000db DA TESFEN ZRMELH AL, TREBRNCTBFPERDNITL WV, EV)H T EILE
3, 0L A HET, ABRRAKHI-SKMEDEH SISO VWTFPE R 745 R A%, #4TH5, Cl6, C23,
C28. C29, CIOTIHHALPICBNLABEILZ 2 TWVADY, HEASEND_RAORELEI S, BREEhudholz/
AZDENTHAIENDPD, CRLEDBSELBRVTFEYE E5 L FP=090THY). VII(CO1~C30)& V7
2(C31~CE)NTNEFNOFHLE LETH o 72,

F—sn% 7)) IEBAR. A=18/327— % =31.25mSec #N T, FP=0.90i r, =29TmSec LK 5,
KBt ¥ — DEERMIEAHRI75mSec TH 5 45, EFHITIL110~300mSecDIENH D L FEHNTD, Iy bH
TAE, BRAMBTEALKBE Y —i2, —RICEDATVAENI L, BELCENEVHBREAOHmE W

I EWK A,
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Co7

MIN PR= 1.0 MAX PR= 2000.0 FP= 076 del-S= 0.6353535E+01
MIN PR= 5.0 MAX PR= 2000.0 = 0.89 del-S= 0.8832964E+00
MIN PR= 10.0 MAX PR= 2000.0 = 0.89 del-S= 0.8755649E+00
MINPR= 20.0 MAX PR= 2000.0 FP= 089 del-S= 0.8750797E+00
MIN PR= 50.0 MAX PR= 2000.0 FP= 088 del-S= 0.1983034E+00
MINPR= 1000 MAX PR= 2000.0 FP= 087 del-S= 0.1723885E+00
MINPR=  200.0 MAX PR= 2000.0 = 087 del-S= 0.1668736E+00
MINPR= 3000 MAX PR= 2000.0 FP= 087 del-S= 0.1639438E+00
MINPR= 5000 MAX PR= 2000.0 FP= 087 del-S= 0.1172122E+00
MINPR=  1000.0 MAX PRa 2000.0 FP=  0.87 del-S= 0.1459527E-00
cos ‘
MINPR= 1.0 MAX PR= 2000.0 = 0.88 del-S= 0.1404221E+01
MIN PR= 5.0 MAX PR= 2000.0 FP= 088 del-S= 0.1400842E +01
MIN PR= 10.0 MAX PR= 2000.0 FP= 088 del-S= 0.1397167E+01
MIN PR= 20.0 MAX PRa 2000.0 FP= 0388 del-S= 0.1388318E+01
MIN PR= 50.0 MAX PR= 2000.0 FP= 089 del-S= 0.4902246E+00
MINPR=  100.0 MAXPR= 2000.0 FP= 087 del-S= 0.1263979€+00
MINPR=  200.0 MAX PR= 2000.0 = 0.86 del-S= 0.1118115E+00
MINPR=  300.0 MAX PR= 2000.0 FP= 086 del-S= 0.9881705E-01
MINPR= 5000 MAX PR= 2000.0 FP=  0.86 del-S= 0.5774903E-01
MINPR=  1000.0 MAX PR= 2000.0 = 085 del-S= 0.1371067E-01
Co9
MIN PR= 1.0 MAX PR= 2000.0 FP= 090 del-S= 0.5685879E+00
MIN PR= 5.0 MAX PR= 2000.0 FP= 090 del-S= 0.5680366E+00
MIN PR= 10.0 MAX PR= 2000.0 FP= 0.0 del-S= 0.5659928E+00
MIN PR= 200 MAX PR= 2000.0 = 0.90 del-S= 0.5604314E+00
MIN PR= 50.0 MAX PR= 2000.0 FP= 088 del-S= 0.2027767E+00
MINPR= 1000 MAX PR= 2000.0 FP= 087 del-S= 0.1508043E+00
MINPR=  200.0 MAX PR= 2000.0 = 087 del-S= 0.1311287E+00
MINPR=  300.0 MAX PR= 2000.0 FP= 086 del-S= 0.1208628E+00
MINPR= 5000 MAX PR= 2000.0 = 086 del-S= 0.8819979E-01
MINPR= _ 1000.0 MAX PR= 2000.0 = 087 del-S= 0.1931789E-01
®2. Pmin, Pmax BN F— a2 SHEA L LB SEDZFHO B/\ME(DA-S) & FP
[=exp(—A/ 1)) D, Pmax £ 2000dbicEE L 2188220\ T. &
RAKH-91-5REBDIVENZERERLTWVWS,
Co7
MINPR= 5.0 MAX PR= 200.00 FP= 090 del-S= 0.7036924E+00
MINPR= 5.0 MAX PR= 500.00 FPa 090 del-S= 0.7568198E+00
MIN PR= 5.0 MAX PR= 1000.00 = 089 del-S= 0.8683640E +00
MIN PR= 5.0 MAX PR= 1500.00 FP= 089 del-S= 0.8784102E+00
MINPR= 5.0 MAX PR= 2000.00 - 089 del-S= 0.8832964E +00
MIN PR= 50 MAX PR= 2500.00 FP= 089 del-S= 0.8874831E+00
MINPR= 5.0 MAX PR= 3000.00 FP= 089 del-S= 0.8915793E+00
MINPR= 5.0 MAX PR= 4000.00 = 0.89 del-S= 0.8993164E +00
MIN PR= 50 MAX PR= 5000.00 FP=  0.89 del-S= 0.9075936E+00
MIN PR= 5.0 MAX PR 6000.00 - 095 del-S= 0.1780020E+02
cos
MIN PR= 50 MAX PR= 200.00 - 088 del-S= 0.1285783E+01
MINPR= 5.0 MAX PR= 500.00 FP= 088 del-S= 0.1340508E +01
MIN PR= 50 MAX PR= 1000.00 FP= 088 del-S= 0.1386612E+01
MIN PR= 50 MAX PR= 1500.00 FP= 088 del-S= 0.1396598E +01
MIN PR= 5.0 MAX PR= 2000.00 FP« 088 del-S= 0.1400842€ +01
MIN PR= 50 MAX PR= 2500.00 FP= 088 del-S= 0.1403667E+01
MINPR= 5.0 MAX PR= 3000.00 FP= 088 del-S= 0.1406201E+01
MINPR= 5.0 MAX PR= 4000.00 FP= 088 del-S= 0.1411727€+01
MIN PR= 5.0 MAX PR= 5000.00 FP= 088 del-S= 0.1416591E+01
MIN PR= 5.0 MAX PR= 6000.00 FP= 088 del-S= 0.1420849E +01
co9
MIN PR= 5.0 MAX PR= 200.00 = 090 del-S= 0.4140588E+00
MIN PR= 50 MAX PR= 500.00 FP= 090 del-S= 0.4591068E +00
MINPR= 5.0 MAX PR= 1000.00 FP= 0.90 del-S= 0.5476407E+00
MIN PR= 5.0 MAX PRa 1500.00 FP= 090 del-S= 0.5586916E+00
MINPR= 5.0 MAX PR= 2000.00 FP= 090 del-S= 0.5680366E +00
MINPR= 50 MAX PR= 2500.00 FP= 090 del-S= 0.5711558E+00
MINPR= 50 MAX PR= 3000.00 FP= 0.9 del-S= 0.5737075E +00
MiINPR= 5.0 MAX PR= 4000.00 FP= 090 del-S= 0.5822106E+00
MIN PR< 5.0 MAX PR=a 5000.00 FP= 090 del-S= 0.5865946E+00
MIN PR= 50 MAX PRa 6000.00 FP=__ 0.9 del-S= 0.5908298E +00
®3. 2@, L. PmnESdbiCBEE L -BS
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C1 226 db - 2000.0 db FP= 0.89 del-S= 0.5960767E+01
Cc2 50 db - 20000 db = 0.89 del-S= 0.4025132E+01
C3 50 db - 2000.0 db FP= 083 del-S= 0.3324894E+01
C4 50 db - 2000.0 db = 0.88 del-S= 0.1993105E+01
Cs 5.0 db - 2000.0 db = 0.92 del-S= 0.5914285E+01
Cs 5.0 db - 2000.0 db = 0.88 del-S= 0.2600421E+01
c7 50 db - 2000.0 db = 0.89 del-S= 0.8836036E+00
cs 5.0 db - 2000.0 db FP= 0.88 del-S= 0.1399989E+01
C9 5.0 db - 2000.0 db = 0.90 del-S= 0.5681666E+00Q
Ci4 5.0 db - 20000 db = 0.92 del-S= 0.1928816E+01
Ci15 50 db - 20000 db FP= 091 del-S= 0.6860853E+00
Ci16 50 db - 20000 db = 0.99 del-S= 0.2979433E+02
ci17 51.3 db - 20000 db FP= 090 del-S= 0.4668695E+01
Ci8 5.0 db - 2000.0 db = 091 del-S= 0.2161882E+01
C178 5.0 db - 2000.0 db FP= 0.90 del-S= 0.2529355E+01
c188 5.0 db - 2000.0 db = 0.91 del-S= 0.2803788E+01
C19 50 db - 2000.0 db FP= 094 del-S= 0.4349595E+01
c20 5.0 db - 20000 db FP= 092 del-S= 0.1730413E+01
c2t 5.0 db - 2000.0 db = 0.92 del-S= 0.1212246E+01
c22 50 db - 2000.0 db FP= 091 del-S= 0.2040421E+01
ca23 50 db - 2000.0 db = 096 del-S= 0.6058657E+03
C24 50 db -2000.0 db FP= 091 del-S= 0.3582348E+01
C25 50 db - 2000.0 db FP= 091 del-S= 0.1240594E+01
C26 5.0 db - 2000.0 db = 0.90 del-S= 0.1217467E+01
c27 5.0 db - 2000.0 db = 0.90 del-S= 0.7680951E+00
cas 15.2 db - 2000.0 db = 0.97 del-S= 0.2411823E+02
C29 5.0 db -2000.0 db = 099 del-S= 0.1871693E+03
C30 5.0 db -2000.0 db FP= 099 del-S= 0.6683770E+03
C31 5.0 db - 2000.0 db FP= 093 del-S= 0.2787151E+01
C32 5.0 db - 2000.0 db = 0.92 del-S= 0.2787112E+02
C33A 5.0 db - 20000 db FP= 093 del-S= 0.4738757E+01
C33 23.8 db - 20000 db FP= 092 del-S= 0.3116409E+01
C34 5.0 db - 2000.0 db FP= 090 del-S= 0.5470300E+01
C35 50 db - 2000.0 db FP= 093 del-S= 0.6805353E+01
C36 5.0 db - 2000.0 db = 092 del-S= 0.2912254E+01
C37 5.0 db - 2000.0 db = 0.92 del-S= 0.6495940E+01
[oxc 1) 5.0 db - 2000.0 db FP= 090 del-S= 0.4075874E+01
C39 5.0 db - 2000.0 db = 0.91 del-S= 0.7350249E+01
Cc42 5.0 db - 2000.0 db = 0.93 del-S= 0.3636537E+01
C43 50 db - 11798 db FP= 088 del-S= 0.2315461E+01
C44 5.0 db - 2000.0 db FP= 0.94 del-S= 0.4685982E+01
C4s 50 db - 2000.0 db FP= 090 del-S= 0.3087481E+01
C46 50 db - 20000 db FP= 091 del-S= 0.4254436E+01
C47 5.0 db - 2000.0 db FP= 0.90 del-S= 0.3465541E+01
C48 5.0 db - 2000.0 db FP= 0.90 del-S= 0.3114460E+01"
C49 5.0 db - 2000.0 db = 0.90 del-S= 0.4832692E+01
Cso 5.0 db - 20000 db = 0.88 del-S= 0.2912918E+01
Cs1 50 db - 2000.0 db = 0.89 del-S= 0.2592515E+01
C52 5.0 db - 20000 db = 0.89 del-S= 0.3105742E+01
Cs3 5.0 db - 20000 db FP= 090 del-S= 0.2447948E+01
Cs4 5.0 db - 20000 db = 087 del-S= 0.1565851E+01
Cs5 5.0 db - 2000.0 db FP= 088 del-S= 0.5483459E+01
Csé 5.0 db - 20000 db FP= 091 del-S= 0.3714524E+01
Cs7 5.0 db - 2000.0 db FP= 092 del-S= 0.3404859E+01
Cs8 5.0 db - 20000 db FP= 0.91 del-S= 0.2693446E+01
Cs9 5.0 db - 2000.0 db FP= 083 del-S= 0.2809527E+01
Cé0 50 db - 2000.0 db = 0.90 del-S= 0.4217770E+01
Cst 5.0 db - 20000 db = 0.90 del-S= 0.5552881E+01
Cce2 5.0 db - 2000.0 db FP= 087 del-S= 0.4977493E+01
Ce3 5.0 db - 1653.3 db = 0.89 del-S= 0.6397893E+01
Cé4 5.0 db - 18405 db FP= 088 del-Sa 0.1942797E+01
C6s 5.0 db - 20000 db FP= 089 del-S= 0.2074058E+01
Cé6 5.0 db - 20000 db FP= 0.91 del-S= 0.1684935E+01
Cce7 5.0 db - 2000.0 db FP= 0.91 del-S= 0.1636438E+01
Cc68 5.0 db - 2000.0 db FPx_0.91 del-S=_ 0.1327995E+01

Fd, 5db&2000dbMIDF— I N SHML 72FP, BRAKH-II-SRABNER
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ERUIR LIz, EEHCEN - 777 5 —CIDBBMA L W 1000dbLARICOVT B L T £ 47 X 5(K8)s
ACRAS, SEENL, EN - 777 8 —CIRETRETHAHAMEEMIL W, EHEREND,

SCOR Working Group(1988)4 . £ - 777 ¥ —DERAEBH TV 5, TOHIER, GEAMMIZL, T2l
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LIEDOTEYr LN, TOEZETOFES, 2TOEATE I 2wIbDTHL, L L

HKEHAGICENLTAOT, FHETOYVEREZ RV, WOCEDER T, Con o8I &9

IZKRDICop PIRXNEBELEALTW S,

BSES | 7389 7390 7405 7410 7415 7445

-1 18 10.35 8 7.8 3.42 15.69

(20) (20) (24) (19) (18) (18)

-2 16.33 10.35 7.87 5.27 2.92 7.88

(18) (20) (15) (15) (12) (16)

7 =23 46.39 18.9 9 20.53 4.58 16.81
#S5. BARALKBEVWTEN TP I2-CltEENDIRRICEBAL. TDOIRHK%F

STHM LB ME ERKIC LB P EDE £100018 LT2R T £ & - 1218,
EHYNENEEREN I E V222 ERRTIEIE, IBUANNMFRIFEAL
¥ -k ERT,

F=Z1 BAL-2BOF -2 %5 1138,

=22 BSNNREFEHN0.003db T KBICE T ITF-2NAERFE S 118E,

=23 F—22THE/BRXDPEPYEE IV TP 78— LTE- 88,

BaES 7389 7390 7405 7410 7415 7445

-1 5.25 7.71 1 3.5 4.33 0

4 @ (8) (8) (6 (2)

-2 5.25 7.71 1.13 3.5 3.83 1

4) N (8) (8) (6) 2)

4 —23 1.5 6.71 2.5 12.38 5.17 42.5
%6, RSTE/-{EDN S 51000 dbLIEDENHTHEL 72K,

Ba&ES | 7389 7390 7405 7410 7415 7445
INe 17.2 9.4 107 7.9 2.9 8.8
A8 17.8 10.3 .3 6.1 3.8 8.6
Cf 183 10.4 7.9 5.3 2.9, .9
St 18.3 10.6 8.5 5.9 3.9 3.8
R7. AOC,AS,CH,SIHEF-ST, RSNy — X2 AHRICKD -7 E, TRIZ4DOD

SENRAME. BT BIMEERT.
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ElHaES | 7339 7390 7405 7410 7415 7445
AC 9.5 9.9 L8 3.4 3.8 2.3
AS 5.3 8.6 0.8 3.9 5.3 L
Cf 5.3 2 1.1 3.5 3.8 L
St 5.3 8.6 0.9 3.5 5.7 L
£8. RITHRENS 51000 dOLURDENATHRL 222, TRELVET

BOERRETEAL,

ac 7.9 [8.9]
AS 4.7 [2.9]
ct 1.5 [0.5)
Sf 6.9 [3.0]
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TRD-R6aD BRI, BTN T—IDEETRKECEI2TVEH, COHMPLDT— 50T hD
RMS(root mean square) ¥ 5K, TOHELL EFPBEAD ST/ 7 -7 2R ER6bD L H 7% > T, 1500db
DETOERDNEL LD, 86412, BILLH)ECLTHRPSOTFRORMSE AL, £03ELUEEFRATY
AF—5 ¥BRILL TR T RDO(E6c), SHICRMSOMELERTN TS T — 7 2RV TEHKNZELH A
RO (F6d), RIEITIE, EOVRBEFAICEMICE LT ARBENTF - S IHUELT@METH LI L LML
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THh, LIr2Tit,

b,=0.9999086, b,=0.6578022X1075, b,=—0.3865528X107*,
b,=0.1120873 %1072, b=—0.1563393X10™",  b,=0.8308362X10"?'
—C;J 2 f:o

ZDE . BAAKHI-SKHETHOCIDREI IR, €777 8 —%ENDSKATENT 5 5ELE- -
B, WOCEDEHHTIR, VR - POBIEL T, CupnpollB ) &) IKBED72Corp PIRRIC L BHEFREN TS,
I T, HRBAKHII-SKMENT — 5 2EV, €WV T 72§ —CEEESIP. Campe & Ceam CFE Cop DREAFRIC &
ZIWHOUREFEL AT,

K0, ENETNDOHETIE SN Sep ESumpe & PEEFRLI:, BEHT— §ICHVEENER S 1L 22000db
URICOVTiR, CI-POSRRDOBEN BRONELREELRLTVE, THH, COFELBRAT - OREIC
Bwr-BdTH 2, OFEICHERTERMIIRNE wé DIFTIE% VY Cumpe—Cem by Cf—Cep EL 220
BRELLTED, 2000dbLRICDOVWTI>, CNHEE S HNCI—POFELY REDHASVGEELH S,
F 720 Campel0r CE)=Cerp PAETIE, 1RRRIRK &L ) b2ARNE{E) AL I e, HBRIARLTWS, L
DL, BRHLZEREZEFDICER, o tRAPIZHEC L TRATHILENFH S,

Ct—=P Ceampe ~Cero Ct—Cero

N=5 N=1 N=2 N=3 N=1 N=2 N=3

Leg 1
P<2000db | 4.43 3.93 3.72 3.84 4.53 3.94 3.98
(432) (414) (4200 (424) (424)  (430) (432)
P>2000db | 2.41 2.97 2.73 2.73 2.79 2.55 2.48
(258) (260)  (259) (259) (258)  (257) (256)
Total 3.80 3.59 3.38 3.46 3.97 3.49 3.50
(690) (674)  (679)  (683) (682) (687) (688)

Leg2
P<2000db| 3.74 4.09 3.56 3.77 4.57 3.69 3.91
(455) (452)  (446) (453) (458) (454)  (458)
P>2000db | 2.22 2.96 2.56 2.56 3.17 2.32 2.32
(177) (178) (178)  (178) (178 (1770 (177)
Total 3.39 3.81 3.30 3.47 4.22 3.36 3.54
(632) (630)  (624) (63D (636)  (631)  (635)

F10 BHETHEL 7:Cop & ) KO 1183 Sp ERK DIZRS 4 e & D E DRoOL
Mean Square(X10 *psu)s #1y IR F— 28, CIdBALT 7 72— %R
1. 1ITEOY—X(CI —PEDRTRIL, Y&X@&IEET,Yﬁ%a“-X"‘C‘S&fmb‘
S EOREFESTCp ERMETHICLERKT S, WThbReNLIICK &
CTR-UWEMEZFEL TVE, BRACHEXOMHIIAVWAEF -2 (&
HNRBENF— 2)EFEA L1,
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Hb, INLORETIE, RADEXEBEELEALZLTEZRICEDELDT, KRNI Luds, ERELHEE
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RAOREBRLENHEREREEBEDEECRALELALToTVANE I B, 2 EIRATILENSH S,
T, BRBFOKERIFVDEVE Vo 72 KAPROENBIZ, THOENDRBEYELALBRLTBI(RETH S,
HLuHII, WOCETIHE, T— 772 TRRABOKBIZOVWTIRDONHBEICEB 7T v/ TRT LKL
%oTHEN, KRLDFEIR, SR LRP 0B ETRIEN)I Ty 7L THARNEDIZL TS,

BELV/ -2, FOLEIHATHURERETR TV A ERTI R, TRELLBIVLETHS, L L.,
FNTHLRLIRN TOBEREETHD, TELMHATRELVF—OfW/CIDEEIRETH D, BHIZ22H 5,
121, REL L TLRBECHEIRLE LT, REDAAKNBE 70774 M DPBIETHE, BRE
DHRETT774INVik, BRKBRECHERKBRELARS LT, RELHERTH D, /A XTEI2VWEIT LR
i, RRECESHDTENZ ZREC2VTIT 2, HIXo0TH A ErLBTENLH L, 20HNEHIT, 7
KEEDEREL V —EdH L, 6B TRNHRKEENHNH LA L DERIITE, TARKICIZIBREMED
GEOHTH LN LT LBIETHE, CID-BKTF—F £y FOFERICBVWT, BELVHF -0l Ka %
BRETRLTIELRELTIZG RN,
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7075 AFEBBICEETE

¥ CDTZaTN  HLFILBRLTWATOS I8y XA M, 709y E—F 4 A2 LD RETETT,
I oWTiR, BABETF -5tV —FTTELHT IV,

1. FH - BRERAETF—2ICHPFB3FAT8IL - T4 2—DEREFPERkHZ7OT 5 A
(TCRESPON.FOR) [ A2—A3—A4—A5—A6 ]

EF— S R—BEIILEBTAICREART EA2D0TNQET DRATLET S LI XL, F0LH. 707 7 45%
LERC 2T 0D, EHTN-F Uy TCORBIE) F— P77 s 0GEY*HRLTBHL,

' NDATA  —
INOISE  IFIL NQ INOISE

I (1) IE

e 2) IE
2@ 8L
 —— NDATA —_—
INOISE  INOISE NQ
— ;Eﬁ’_ —_ L J
INOISE
I (1) I
m 2) IE

(1) 2.SUB ROUTINE NOISE, TCORRECT, PCORDOWN, TEMPFILT, CELLCORR
(2) 12.SUB ROUTINE FILTCOEF THMIZ{#E 5 BH,
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(A ASAREAEE S A EREEASESEE SRS RREREAREEEEREEEEEEE R RN R IR IR

c
C

Program to calculate the differsnce in response

*

*

between T sensor and ?, C sansors (April, 1992)
C"'Y'Ir't'tt'*tt**tttr*'l’itttt"'"ti*tii"ttit!ﬁi*fi**ti‘t'!'
Files
INPUT FT30F001 CO1.DATA (LRECL=29)
INPUT FT31F001 CO2.DATA (LRECL=29)

OOOO0OO0ON +O000N

O0O0O0O =

noon

OUTPUT FTSOF001 F2CO0L1CO02.DATA (LRECL=80)

NSTN: Number of station processed here

PTH, TTH, CTH: Threshold values used in SUB. NOISE

PMIN, PMAX: Min. and max. pressures of the data used here

If IL>1, values of PMIN and PMAX must be defined in the
increasing order

FP: Lag of response of T sensor behind P, C sensors

Seek the best value of FP among NDS (number) values
with an interval of DFP from the minimum FPS

PARAMETER (NQ=20000, IP=NQ+80)

REAL*8 P(IP),T(IP),C(IP),S(IP)

PARAMETER (NSTN=2, IL=1,NDS=20)

REAL*8 DS (IL,NDS), PA(NDS),CA(NDS)

RZAL*8 PTH/0.1D+1/,TTH/0.1D+0/,CTH /0.2D-1/
REAL*8 FP,FPS,DFP

DIMENSION PMIN(IL), PMAX(IL),ISTOP(IL)
DIMENSION PRMIN(IL) , PRMAX(IL)

DATA PMIN/S./

DATA PMAX/2000./

CHARACTER*12 FRM1O0/'(F5.%,2F6.3)'/
CHARACTER*1 DUM
CHARACTER*S STA

NSEC: Observed data number per second
INOISE: Used in SUB. NOISE
IUP?, IDN: Used in SUB. TEMPFILT
IFIL: Used in SUB. FILTCOEF
COMMON /OBSDAT/ NSEC
COMMON /NOISIE/ INOISE
COMMON /TFILTR/ IUP, IDN
- COMMON /FILCO/ IFIL
COMMON /COMFPS/ FPS,DFP

NSEC=32
INOISE=2
IUP=NSEC/2
IDN=NSEC/2
IFIL=NSEC
£25=0.80D0
DFP=0.1D-1

DO S50 NF=1,NSTN
IDF=NF+29
DO 3 I=1,IL
PRMIN(I)=PMIN(I)
PRMAX (I)=PMAX(I)
3 CONTINUE
Find the beginning of valid data observed in the sea
Determine IINIT. The IINIT'th data is the first of
valid data series measured in the sea
IINIT=0
JC=0
J=0

LOOP BEGIN (READ RAW DATA)

READ(IDF, ' (Al) ') DUM
S READ(IDF,FRM10) PD,TD,CD
TD=TD*0.5
JC=JC+1
IF(PD.GT.20.0.AND.PD.LT.25.5.AND.
TD.GT. S5.0.AND.TD.LT.3S5.0.AND.
CD.GT.30.0.AND.CD.LT.70.0) GO TO 1
IF(CD.LT.40.0) THEN

*

*

J=J+1
IF(J.GE.J3) IINIT=JC
ELSE
IF(CD.LT.70.0) J=0.
END IF
GO TO 5
END OF LOOP
1 REWIND IDF

WRITE(6,*) *IINIT=',IINIT

TCR00240

TCR00010
TCR00020
TCROQO30
TCR00040
TCRO00S50
TCR00060
TCRO0070
TCROQ080
TCRO0090
TCR00100
TCRO0110
TCR00120
TCRO0130
TCR00140
TCR0O0150
TCR0O0160
TCRO0170
TCRO0180
TCR0O0190
TCRQ0200
TCR0O0210
TCR00220
TCRO0230

TCR0O0250
TCR00260
TCR00270
TCR00280
TCR00290
TCR00300
TCRO0310
TCR00320
TCR00330
TCR00340
TCR0O0350
TCR00360
TCR0O0370
TCRO0380
TCR00390
TCR00400
TCR00410
TCR00420
TCROQ430
TCR00440
TCROQ450
TCRO0460
TCR00470
TCR00480
TCR00490
TCRO0500
TCRO0510
TCR00520
TCR0O0530
TCRO0540
TCRO0S550
TCROO0S60
TCRO0S570
TCR00580
TCR00590
TCRO0600
TCR00610
TCR00620
TCR00630
TCR00640
TCR00650
TCRO0660
TCRO0670
TCR00680
TCR00690
TCR0O0700
TCRO0710
TCR00720
TCR00730
TCR00740
TCROQ750
TCR00760
TCR0Q770
TCR00780
TCR0O0730
TCR0O08QO0
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10

15

20

30
35
40

CO 10 K=1,IL
ISTOP(X) =0

DO 10 I=1,NDS
DS(X,I)=0.0D+0

CONTINUE

II=INOISE + 1

II1=II + 1

IPROC=INQISE*2+IFIL+1

READ(IDF, ' (AS)') STA
IF(IINIT.GE.1l) THEN
DO 15 I=1,IINIT
READ(IDF, ' (Al) ') DUM
CONTINUE
END IF

LO 20 I=1,IPRCC
READ(IDF,FRM10) P(I),T(I),C(I)
T(I)=T(I)~*.5D+0
CONTINUE
DO 2 I=1,NDS
PA(I)=P(II)
CA(I)=C(II)
CONTINUE

JEND=0

NUM=0

NI=0

NUM=NUM + 1

O 30 I=1,NQ
IS=I + IPROC
READ(IDF, FRM10,END=35) P(IS),T(IS),C(IS)
T(IS)=T(IS)*.5D+0
NI=I

CONTINUE

GO TO 40

JEND=1

IF(NI.EQ.0) GO TO 900

CONTINUE

NDATA=IPROC + NI

IE=NDATA - INOISE

C Process A2

WRITE(6,*) 'A2: CHECKING NOISE ' NDATA

CALL NOISE(P,IP,PTH,IFLGP,II,IE)

CALL NOISE(T,IP,TTH, IFLGT,II, IE)

CALL NOISE(C,IP,CTH, IFLGC,II,IE)

WRITE(6,*) 'NOISE CHECK COMPLETED', IFLGP, IFLGT, IFLGC

C Process Al

WRITE(6,*) 'A3: T AND P CORRECTION'
CALL TCORRECT(T,IP,II,IE)
CALL PCORDOWN(P,IP,II,IE)

C Process A4

WRITE(6,*) 'A4: FILTERING TEMP DATA'
CALL TEMPFILT(T,P,IP,II,IE)

C Process AS

45
55

60

900

WRITE(6,*) 'AS: CORRECT C FOR CELL DEFORMATION'
CALL CELLCORR(C,P,T,IP,II,IE)

IF(P(IE).LT.PMIN(1l)) GO TO 55
CALL FILTCOEF(P,C,T,S,PA,CA,IP,DS,ISTOP,
PMIN, PMAX, PRMIN, IL,NDS,NUM, II1, IE)

DO 45 K=1,IL

IF(ISTOP(K).EQ.0) GO TO S5
CONTINUE
GO TO 800
CONTINUE

IPROC=INOISE*2 + IFIL
DO 60 I=1,IPROC
IS=NDATA - IPROC + I

P(I)=P(IS)

T(I)=T(IS)

C(I)=C(IS)
CONTINUE

II=INOISE+IFIL+1
II1=INOISE + 1
IF(JEND.EQ.0) GO TO 25

CONTINUE
DO 65 K=1,IL

TCR0O0810
TCR00820
TCRO0330
TCR00840
TCR0O0850
TCR0O0860
TCR0O0870
TCR0O0880
TCR00890
TCRO0900
TCRO0910
TCR00920
TCR0O0S30
TCR00940
TCR00950
TCR0O0960
TCRO0970
TCR0O0980
TCR00990
TCRO1000
TCRO1010
TCR01020
TCRO1030
TCRO1040
TCRO1050
TCR0O1060
TCRO1070
TCR01080
TCR01090
TCRO1100
TCRO1110
TCR01120
TCRO1130
TCRO1140
TCRO1150
TCRO1160
TCRO1170
TCRO1180
TCRO1190
TCRO1200
TCRO1210
TCR01220
TCRO1230
TCR01240
TCRO1250
TCRO1260
TCR01270
TCR01280
TCR0O1290
TCRO1300
TCRO1310
TCRO1320
TCRO1330
TCRO1340
TCRO1350
TCRO1360
TCRO1370
TCRO1380
TCRO1390
TCRO1400
TCRO1410
TCR01420
TCR01430
TCRO1440
TCR01450
TCR01460
TCR01470
TCRO1480
TCRO1490
TCRO1500
TCRO1510
TCRO1520
TCRO1530
TCRO1540
TCRO1550
TCRO1560
TCRO1570
TCR0O1580
TCRO1590
TCRO1600
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IT(ISTOP(X).=Q.0) THEN TCRO1610

PRMAX (X) =2 (NDATA-INOISE) TCRO1620

XEND=X TCRO1630

GO TO 700 TCRO1640

END IF TCRO1650

85 CONTINUE TCRO1660
800 XEND=IL TCR01670

C Process Af TCR01680
C Search for the smallest DS(I) and determine adequate F? TCR01690
WRITE(*,*) 'Ad: SEARCHING FOR THE BEST LAG OF P,C FILTER' TCR0O1700

700 DO 70 K=1,KEND TCRO1710
DSMIN=DS (XK, 1) TCRO1720

NMIN=1 : TCRO1730

DO 75 I=2,NDS TCR01740
IF(DS(X,I).LT.DSMIN) THEN TCRO1750

DSMIN=DS (K, I) TCRO1760

NMIN=I TCRO1770

END IF TCRO1780

75 CONTINUE TCRO1790
FP=FPS + DF?*DFLOAT(NMIN-1) TCR01800

b TCRO1810
C Create final dataset TCR01820
WRITE (S50, 100) STA, PRMIN(K),PRMAX(K),FP,DSMIN, IFIL TCR01330

100 FORMAT(AS5,F6.1,' db - *',F6.1,' db',5X,'FP=',F5.2, TCRO1840

b 4X, 'del-S=',E15.7,4X, 'IFIL=",12) TCRO1850

70 CONTINUE TCRO1860

S0 CONTINUE TCR01870

N TCR01880
1000 sTOP TCRO1890
END TCR01900

. TCR0O1910
Cttttttﬁtft!twtt'ﬁi'iw!'t*it*i#f'.itﬁt*tﬁtitt**tt*ﬁiititttfit TCR01920
SUBROUTINE NOISE(X,IP,XTH,IFLG, IINI,IEND) TCRO1930

C Remove noise of raw conductivety data TCR0O1940
C Criterion: Distinguish as noise when TCR01950
(o4 X(I) > XTH + MAX(X(I-N),X(I+N)) TCRO1960
C X(I) < -XTH + MIN(X(I-N),X(I+N)) TCRO1970
C --> Revise to X(I) = (X(I-N)+X(I+N))/2 TCRO1980
Cc The number of revised data will be set in IFLG TCRO1990
- TCR02000
REAL*S X(IP),XTH, XMAX, XMIN TCR02010

COMMON /NOISIE/ N TCR02020

IFLG=0 TCR02030

. TCR02040
DO 10 I=IINI,IEND TCR02050
XMAX=MAX(X(I-N),X(I+N)) TCR02060
AMIN=MIN(X(I-M),X(I+N}) . TCR02070
IF(X(I).GT.XMAX+XTH .OR. X(I).LT.XMIN-XTH) THEN TCR02080

X(I) = (X(I-N)+X(I+N))=0.5D0 TCR02090

IFLG = IFLG+1 TCRO2100

ENDIF TCRO2110

10 CONTINUE TCR02120
RETURN . TCR02130

END TCR02140

* TCR02150
Cttttﬁttttiit*tttt*ﬁt'1-#"'.&*"'t'i't*t'tt!ttttttttti'ttt" TCR02160
SUBROUTINE TCORRECT(T,IP,IINI,IEND) TCR02170

C Correct temperature data using the quadratic polynominal TCR02180
C obtained in a laboratory TCR02190
C DT: Correction, DT = A * T**2 + B * T + C TCR02200
* : TCR02210
REAL*8 T(IP),DT,A(2),B(2),C(2) TCR02220

C----- FOR THE CTD WITHOUT 02 SENSOR TCR02230
c BELOW "“TEMP", ABOVE “TEMP" . TCR02240
c DATA A/-0.100093D-4, 0.677039D-6/ TCR02250
c DATA B/-0.566937D-3, -0.721866D-3/. TCR02260
c DATA C/ 0.166095D-1, 0.170540D-1/ TCR02270
c DATA TEMP/10.0/ TCR02280
C----- FOR THE CTD EQUIPPED WITH 02 SENSOR TCR02290
C BELOW "TeEMP", ABOVE "TEMP"® TCR02300
DATA A/ 0.121937D-4, 0.179550D-4/ TCRO2310

DATA B/-0.803083D-3, -0.127571D-2/ TCR02320

DATA C/ 0.251885D-1, 0.290126D-1/ TCR02330

DATA TEMP/ 9.1/ TCR02340

. TCR02350
DO 10 I=IINI,IEND TCR02360

K=1 TCR02370
IF(T(I).LT.TEMP) K=2 TCR02380

DT = A(K)*T(I)**2 + B(K)*T(I) + C(K) TCR02390

T(I) = T(I) + DT TCR02400
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10 CONTINUZ
RETURN
END

AL AAASAREEAL AR EALEEEAREE RS RALESASS AR AL AL LEAEE S

SUBROUTINE PCORDOWN(P,IP,IINI,IEND)
C Correct pressure data using the polynominal

C obtained in a laboratory
C DP: Correction, DP = CDN(1l) + CDN(2)* P + CDN(3)*P**2
c +CDN(4)* P**3 + CDN(S)* P**4 + CDN(6)*P**5
C +CDN(7)* P**6
REAL*8 pP(I?),CDN(7),DP
C SELECT ONE OF THE FOLLOWINGS
C 1. FOR CTD WITHOUT 02 SENSOR
c DATA CDN/ 0.356999D+01,-0.681617D-02,-0,127216D-05,
c * 0.331650D-08,-0.118204D-11, 0.170710D-15,
c * -0.905423D-20/
C 2. FOR CTD EQUIPPED WITH 02 SENSOR
DATA CDN/-0.269719D+01, 0.699556D-02,-0.455414D~05,
* 0.154059D-08,-0.289204D-12, 0.287633D-16,
* -0.116484D-20/
DO 10 I=IINI,IEND
DP = CDN{1l)+ P(I)*(CDN(2)+ P(I)*{(CDN(3)+
+ P(I)*(CDN(4)+ P(I)*(CDN(5)+ P(I)*(CDN(6)+
+ P(I)* CDN(7) )))))
P(I) = P(I) + DP
10 CONTINUE
RETURN

END

*
AR RS ERLREAEERE AR AL LA AR AAAALALESESE S

SUBROUTINE TEMPFILT(T,?,IP,I1I,IE)

C Delay T response using digital filter for change of
C C response due to speed change of CTD fish
REAL*S T(IP),P(IP),TINT,SPD,SP

DIMENSION IFT(16)
COMMON /OBSDAT/ NSEC
COMMON /TFILTR/ IUP, IDN
*
C IFT for CTD Neil Brown Mark III:
DATA IFT/97,84,74,65,59,53,48,44,40,36,33,
* 30,26,23,20,18/
C Estimate downward speed of CTD fish
C using P(I) between I-IUP and I+IDN
IINI=II + IUP
IEND=IE - IDN
TINT=DFLOAT(IUP+IDN) /DFLOAT (NSEC)
DO 10 I=TINI,IEND
C db/s*100 ---> cm/s
SPD=(P(I+IDN)-P(I-IUP))/TINT*0.1D+3
SP=DABS (SPD)
IS10=INT(SP)/10
ISP=IS10*10
IF(ISP.GE.150) THEN

IFT1=IFT(16)

IS=16
ELSE

IS=IS10+1

IFTl=(IFT(IS+1)-IFT(IS)) *(SP-ISP)/10.+IFT(IS)
END IF

IFT2=100-IFTL
T(I)=(DFLOAT(IFTL)*T(I-1)+DFLOAT(IFT2)*T(I))/0.1D+3
10 CONTINUE

DO 1 I=II,IINI-1
TINT=DFLOAT(I+IDN-II)/DFLOAT (NSEC)
SPD=(P(I+IDN)-P(II))/TINT*0.1D+3
SP=DABS (SPD)

IS10=INT(SP)/10

IsP=IS10*10

IF(ISP.GE.150) THEN
IFTL=IFT(1l8)

ELSE
IS=IS10+1
IFTL=(IFT(IS+1)-IFT(IS))*(SP-ISP)/10.+IFT(IS)
END IF

IFT2=100-IFT1

TCR02410
TCR02420
TCR02430
TCR02440
TCR02450
TCR02460
TCR02470
TCR02480
TCR02490
TCR02500
TCR02510
TCR02520
TCR02530
TCR02540
TCR02550
TCR02560
TCR02570
TCR02580
TCR02590
TCR02600
TCRO2610
TCR02620
TCR02630
TCR02640
TCRO02650
TCR0O2660
TCR0O2670
TCR0O2680
TCR02690
TCR02700
TCR02710
TCR02720
TCRO2730
TCR02740
TCR02750
TCRO2760
TCR02770
TCR02780
TCR02790
TCR02800
TCR02810
TCR02820
TCR02830
TCR02840
TCR02850
TCR02860
TCR02870
TCR02880
TCR02890
TCR02900
TCR02910
TCR02920
TCR02930
TCR02940
TCR02950
TCR02960
TCR02970
TCR02980
TCR02990
TCR03000
TCRO3010
TCRO3020
TCRO3030
TCR0O3040
TCR03050
TCR0O3060
TCR03070
TCR03080
TCR03090
TCRO3100
TCRO3110
TCR03120
TCRO3130
TCRO3140
TCRO3150
TCR0O3160
TCR03170
TCR03180
TCRO3190
TCR03200
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T(I)=(DFLOAT(IFTL)"T(I-1)+DFLOAT(IFT2)*T(I))/0.1D+3
1 CONTINUEZ

DO 2 I=IEZND+l, I
TINT=DFLOAT (IEZ-I+IU?)/DFLOAT (NSEC)
SPD=(P(IE)-P(I-IUP))/TINT*0.1D+3
SP=DABS (SPD)
IS10=INT(SP)/10
ISP=IS10-10
IF(IS?P.GZ.130) THEN
IFT1=IFT(16)

ELSE
IS=IS10+1
IFT1=(IFT(IS+1)-IFT(IS))*(SP-ISP)/10.+IFT(IS)
END IF

IFT2=100-IFTL
T(I)=(DFLOAT(IFTL)*T(I-1)+DFLOAT(IFT2)*T(I))/0.1D+3
2 CONTINUE
RETURN
END

*

A A A RS RE AR LR AR SRR RS AREEEEEERESRERSEESREEEEESEREERLEEES

SUBROUTINE CELLCORR(C,P,T,IP, IINI,IEND)

C Conductivity correction for the cell deformation due to T and P

"REAL*8 C(1I»),P(IP},T(IP)
REAL*8 ALPHA, BETA, TO, PO

ALPHA=-6.5D-6
BETA = 1.5D-8
TO = 1.5D+1

= 0.0D+0

DO 10 I=IINI,IEND
C(I)=C(I)*(1.0D+0 + ALPHA*(T(I)-TO) + BETA*(P(I)-P0))
10 CONTINUE
RETURN
END

*

o AS AR EEE S AR SRR SRR A AR E RS R ARl REE RS R

SUBROUTINE FILTCOEF(P,C,T,S,PA,CA,IP,DS, ISTOP,
* PMIN, PMAX, PRMIN, IL,NDS,NUM, II1l, IEND)
C Compute lag coefficient used in SUB. PCFILTER

*

REAL*8 p(Ip),C(IP),T(IP),S(IP),PA(NDS),CA(NDS)
REAL*8 DS(IL,NDS),FPl,FP2,FPS,DFP
REAL*3 PW(l),CW(Ll),TW(1),SW(Ll),SSUM

COMMON /FILCO/ IFIL
COMMON /COMFPS/ FPS,DFP
DIMENSION PMIN(IL),PMAX(IL),ISTOP(IL),PRMIN(IL)

IINI=II1 + IFIL
DO 20 N=1,NDS
FP1=FPS+DFLOAT(N-1) *DFP
FP2=1.0D+0 - FPl
PW (1) =PA(N)
CwWw(l)=CA(N)
DO 10 J=IIl1,IEND
PA(l)=FPL*PW(l) + FP2*P(J)
CW(1l)=FPL"CW(Ll) + FP2-C(J)
TW(1)=T(J)
CALL SALCOMP(PW,TW,CW,SW,1,1,1)
S(J)=SW (1)
IF(J.EQ.IEND-IFIL) THEN
PA(N) =2W (1)
CA(N) =CW (1)
END IF
10 CONTINUE
SSUM=0.0D0
DO 70 I=IINI,IEND
SSUM=SSUM + (S(I)-S(I-IFIL))"(S(I)-S(I-IFIL))
70 CONTINUE
DO 40 X=1,IL
IF(P(IINI).GT.PMAX(K)) GO TO 40
IF(P(IEND).LT.PMIN(K)) GO TO 40
IF (NUM.ZQ.1l) THEN
IF(P(IINI).GT.PRMIN(K)) PRMIN(K)=P(IINI)
END IF
IF(P(IINI).GT.PMIN(K).AND.P(IEND).LT.PMAX(K)) THEN
DS (X,N)=DS(X,N) + SSUM
ZLSE

TCR0O3210
TCR03220
TCR03230
TCR03240
TCRO3250
TCR03260
TCR03270
TCR03280
TCR03290
TCR03300
TCR03310
TCR03320
TCRO3330
TCRO3340
TCR03350
TCR03360
TCR03370
TCR03380
TCR03390
TCR03400
TCRO3410
TCR03420
TCR03430
TCR03440
TCR03450
TCR03460
TCR03470
TCR03480
TCR03490
TCR03500
TCR0O3510
TCR03520
TCR03530
TCR03540
TCR03550
TCR03560
TCR03570
TCR03580
TCRO3590
TCR0O3600
TCRO3610
TCR03620
TCR03630
TCRO3640
TCR0O3650
TCR03660
TCR03670
TCRO3680
TCRO3690
TCRO3700
TCRO3710
TCR03720
TCR03730
TCR03740
TCR0O3750
TCR03760
TCR03770
TCR03780
TCRO3790
TCR03800
TCRO3810
TCRO3820
TCR03830
TCR03840
TCR03850
TCR03860
TCR03870
TCR03880
TCRO3890
TCR03900
TCRO3910
TCR03920
TCR03930
TCR03940
TCR03950
TCRO3960
TCR03970
TCR03980
TCRO3990
TCR04000
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60 DO 30 I=ILINI,I:ZND TCR04010
IF(?(I).LT.PMIN(K)) GO TO 30 TCR04020
IF(?(I).GT.”MAX (X)) THEN TCR04030

ISTOP(X) =1 TCRO4040

GO TO 40 TCR04050

END IF TCR04060

DS(X,N)=DS(X,N) + (S(I)-S(I-IFIL))~*(S(I)-S(I-IFIL)) TCRO4070

30 CONTINUZE TCR04080
END IF TCR04090

40 CONTINUE TCR04100

20 CONTINUE TCR04110
RETURN TCR04120

END TCRO04130

. TCRO4140
G AN T o N T e X A A N R T P NN T XA A XN A NN NI RN A H kRN w TCR04150
SUBROUTINE SALCOM?(P,T,C,S,IP,IINI,IEND) TCR04160

C Compute salinity from P, T and C TCR04170
* TCR04180
REAL*8 P(IP),T(IP),C(IP),S(IP),SAL78,C35150,CND TCR04190
EXTERNAL SAL78 TCR04200
PARAMETER (C35150=0.42914D+2) TCR04210

v TCR04220
DO 10 I=IINI,IEND TCR04230
CND=C(I)/C35150 TCR04240
S(I)=SAL78(CND,T(I),P(I),0) TCR04250

10 CONTINUE TCR04260
RETURN TCR04270

END TCR04280

. TCR04290
Ct-ttt*t'*i*ﬁttttur*tw-vttattw'atfitithtt~~t:-tfti****ﬁtﬁittitt**ktﬁ TCR04300
C SEPT. 28 1983 TCR04310
C ADD TF(S,P) FREEZING PT. TCR04320
C WHOI CTD GROUP DISK FILE SPEC=BLUE::CTDA:<CTDEV.PRSW>PHYPROPSW.FOR TCRO4330
> TCRO4340
C TITLE: ALGORITHMS FOR OCEANOGRAPHIC COMPUTATIONS TCR04350
C N FOFONOFF & R MILLARD TCR04360
* TCR04370
C SAL78 FCN ***x»*¥x¥*x MAR 28 1983 ***»~=x TCR04380
FUNCTION SAL78(CND,T, P, M) TCR04390
IMPLICIT REAL*8 (A-H,0-2) TCR04400

* TCR04410
C THE CONDUCTIVITY RATIO (CND) = 1.0000000 FOR SALINITY = 35 PSS-78 TCR04420
C TEMPERATURE = 15.0 DEG. CELSIUS , AND ATMOSPHERIC PRESSURE. TCR04430
* TCR04440
C FUNCTION TO CONVERT CONDUCTIVITY RATIO TO SALINITY (M = 0) TCR04450
C SALINITY TO CONDUCTIVITY RATIO (M = 1,CND BECOMES INPUT SALINITY) TCRO4460
* TCR04470
C REFERENCES: ALSO LOCATED IN UNESCO REPORT # 37 1981 TCR04480
C PRACTICAL SALINITY SCALE 1978: E.L. LEWIS IEEE OCEAN ENG. JAN. 1980 TCR04490
b TCR04500
C UNITS: TCRO4510
C PRESSURE |34 DECIBARS TCR04520
C TEMPERATURE T DEG CELSIUS (IPTS-68) TCRO4530
C CONDUCTIVITY CND RATIO (M=0) TCR04540
Cc SALINITY SAL78 (PSS-78) (M=0) TCR04550
C CHECKVALUES: TCR04560
C SAL78=1.888091 :CND= 40.0000,T=40 DEG C,P= 10000 DECIBARS: M= 1TCR04570
C SAL78=40.00000 :CND=1.888091,T=40 DEG C,P=10000 DECIBARS: M=0 TCR04580
* - TCR04590
C SAL78 RATIO: RETURNS ZZRO FOR CONDUCTIVITY RATIO: < 0.0005 TCRO4600
C SAL78: RETURNS ZERO FOR SALINITY: < 0.02 TCRO4610
* TCR04620
C INTERNAL FUNCTIONS TCR04630
* TCR0O4640
C PRACTICAL SALINITY SCALE 1978 DEFINITION WITH TEMPERATURE CORRECTION TCR04650
C XT=T-15.0 : XR=SQRT(RT) TCR04660
SAL(XR, XT) = TCR04670

* ((((0.27081D+1"XR-0.70261D+1) *XR+0.140941D+2) *XR+0.253851D+2) *XR TCR04680

X -0.1692D0)* XR+0.0080D0 TCRO4690

X +(XT/(1.0D0+0.0182DO0"XT) ) *{((((-0.144D-1*XR+ TCR0O4700

X 0.636D-1) *XR-0.375D-1) *XR-0.66D-2) *XR-0.56D-2) *XR+0.5D-3) TCR0O4710

C DSAL(XR,XT) FUNCTION FOR DERIVATIVE OF SAL(XR,XT) WITH XR. TCR04720
DSAL (XR,XT) = TCR04730
*((((0.135405D+2*XR-0.281044D+2) *XR+0.422823D+2) *XR+0.507702D+2) *XRTCR04740

X -0.1692D0) + (XT/(1.0D0+0.162D-1*XT)) *((((-0.720D-1*XR+0.2544D0) *XRTCRO4750

X -0.1125D0) *XR-0.132D-1) *XR-0.56D-2) TCR04760

C FUNCTION RT3S : C(35,T,0)/C(35,15,0) VARIATION WITH TEMPERATURE TCR04770
C WITH TEMPERATURE. TCRO4780
RT3S(XT) = (((1.0031D-9°XT-6.9698D-7) *XT+1.104259D-4) *XT TCR04790

X + 2.00564D-2)"XT + 0.56766097D0 TCR04800

Mtz 1-7



[ tcrespon.tor |

O +0O0 =0

*

POLYNOMIALS OF RP: C(S,T,P)/C(S,T,0) VARIATION WITH PRESSURE

C(XP) POLYNOMIAL CORRESPONDS TO Al-A3 CONSTANTS: LEWIS 1980
C(XP) = ((3.989D-15*XP-6.370D-10) *XP+2.070D-5) *XP
B(XT) = (4.464D-4"XT+3.426D-2)*XT + 1.0D0

A(XT) POLYNOMIAL CORRESPONDS TO B3 AND B4 CONSTANTS: LEWIS 1980
A(XT) = -3.107D-3*XT + 0.4215D0

ZERO SALINITY/CONDUCTIVITY TRAP
SAL78=0.0D0
IF((M.EQ.0) .AND. (CND.LE.5D-4)) RETURN
IF((M.EQ.1) .AND. (CND.LE.0.2D-1)) RETURN

DT = T - 0.15D+2
SELECT BRANCH FOR SALINITY (M=0) OR CONDUCTIVITY (M=1)
IF(M.EQ.1) GO TO 10

CONVERT CONDUCTIVITY TO SALINITY
R = CND
RT = R/(RT35(T)*(1.0D0 + C(P)/(B(T) + A(T)*R)))
RT = DSQRT(DA3S(RT))
SAL78 = SAL(RT,DT)
RETURN
*wxxxxxwx  END OF CONDUCTIVITY TO SALINITY SECTION *****»*rwxw

INVERT SALINITY TO CONDUCTIVITY BY THE
NEWTON-RAPHSON ITERATIVE METHOD.

FIRST APPROXIMATION
10 RT = DSQRT(CND/0.35D+2)
SI = SAL(RT,DT)
N =790
ITERATION LOOP BEGINS HERE WITH A MAXIMUM OF 10 CYCLES
15 RT = RT + (CND - SI)/DSAL{RT,DT)
SI = SAL(RT,DT)
N =N+ 1.
DELS = DABS(SI - CND)
IF((DELS.GT.1.0D-4) .AND. (N.LT.10))GO TO 15
tt'tit#tfﬁ*****tt*fttii*tttiEND OF ITERATION LOOP W de ok kW ok kN

C COMPUTE CONDUCTIVITY RATIO

RTT = RT35(T)*RT*RT
AT A(T)

BT B(T)

cp C(P)

cp RTT* (CP + BT)
BT BT - RTT*AT

C SOLVE QUADRATIC EQUATION FOR R: R=RT35*RT*(1+C/AR+B)

= DSQRT(DA3S(BT*3T + 0.4D+1*AT*CP)) - BT
CONDUCTIVITY RETURN
SAL78 = 0.SDO*R/AT
RETURN
END

TCR04310
TCR04820
TCR04830
TCR04840
TCR0485S0
TCR04860
TCR04870
TCR04880
TCR04890
TCR04900
TCR04910
TCR04920
TCR04930
TCR04940
TCR04950
TCR04960
TCR04970
TCR04980
TCR04990
TCR0O5000
TCR05010
TCR0S020
TCRO5030
TCR0O5040
TCR05050
TCRO5060
TCR05070
TCR05080
TCRO5090
TCR0O5100
TCRO5110
TCR05120
TCRO5130
TCRO5140
TCR05150
TCRO5160
TCROS170
TCR05180
TCR05190
TCR0O5200
TCR05210
TCR0S5220
TCR05230
TCR05240
TCROS5250
TCR05260
TCR0S5270
TCR05280
TCR0S5290
TCR0O5300
TCROS310
TCR0S5320
TCROS330
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2. CTDOEHKF— 4 #®EL, 1dEBNF -2ty MCTBH7OT T 4
(CTDCALIB.FOR) [ A2—~A3—A4—A5—A7—A8—A9—A10]

CIDDHRETF—4 L Ebil, BET— I DHUEILBE WA T —% €y F(COIDO2DATA) 2T 5, BEET — 7 i,
1BIIBLIAEOSNTWREWDT, TREVDANWELTWA,
TCRESPON.FORE E4£12, NQET ORATRET 5L )L, FH TN —F 2V TORBIIE) T - 8P T —

SOTEBEIILTOEY THbH, kB, BERHIRIONDT— 5 DEKIE, LDATATH 5,

1 @8 ' '
= NDATA —
INOISE  NR2 NQ NR2 INOISE

2 EELIE
———— NDATA —

INOISE NR2 NQ NR2 INOISE
— — L J — —
NR2
— L 1
) 1), ) E
2 3) IE2

(1) t£. SUBROUTINE NOISE, TCORRECT, PCORDOWN, TEMPFILT, CELLCORR
(2) 2. SUBROUTINE PCFILTER

(3) 12, SUBROUTINE RESAMPLE THXIZ{E S HHE,
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AR RARAEEEE S R A A AR RS R R R R R R R R AR

C Program to calibrate CTD data and to create a dataset *
C of P, T, C, S with 1-db interval (June, 1992) *

[ohEAARRARLER R R R R R R R R R R R R R R R I 2 I S I I S R

Files
INPUT

OO0

PARAMETER
REAL*8
REAL*8
REAL*8
REAL*8
REAL*8
REAL*8

aon

NP=4 for cubic
PARAMETER
REAL*8

For leg 1 (KH-9
PARAMETER
DATA co/ 0.

0.

For leg 2 (KH-9
PARAMETER
DATA co/ 0.

0.

OO0 *

CHARACTER*12
CHARACTER*12

CHARACTER*1
CHARACTER*S

FT107001
OUTPUT FT20F00L
OUTPUT FT307001

CO: Coefficients

CO1.DATA
COLCALIB.DATA
CO01DO2.DATA

(LRECL=29)
(LRECL=40)
(LRECL=50)

(MQ=20000, IP=NQ+80, IR=56500)
P(IP),T(IP),C(IP),OC(IP),OT(IP)
PR(IR),TR(IR),CR(IR),SR(IR)

PRA, TRA,CRA

PP/0.0D+0/
2TH/0.1D+1/,TTH/0.1D+0/,CTH /0.2D-1/
£P/0.90D0/

of (NP-1)-th order polynomial of P for cell factor
Eq., NP=3 for quadratic Eq.

(NP=6)

CO(NP)

1-5)
(LEG=1)
1000054D+1, 0.5069215D-6, =-0.1927917D-9,
2664620D-13,-0.4903089D- 18 -0.9984428D-22/
1-5)
(LEG=2)
9999086D+0, 0.6578022D-6,
1120873D-12,-0.1563393D-16,

-0.3865528D-9,
0.8308362D-21/

FRM10/' (FS.1,4F6.3)'/
FRM20/'(F8.1,3F8.4) "'/
DUM
STA

NSEC: Observed data number per second
INOISE: Used in SUB. NOISE
IUP, IDN: Used in SUB. TEMPFILT
to estimate the falling speed of CTD fish

NRUN: Running-mean interval
INTDEP: Data interval (db) in the final dataset
NRUN, INTDEP: Used in SUB. RESAMPLE

COMMON /OBSDAT/ NSEC

COMMON /NQISIE/ INOISE

COMMON /TFILTR/ IUP, IDN

COMMON /RESAM?/ NRUN,NR2, INTDEP

NSEC=32

NRUN=NSEC

NR2=NRUN/2

NRUN=NR2*2

INOISE=2

IUP=NSEC/2

IDN=NSEC/2

INTDEP=1

OO0O00O000 =

C Find the beginning
IINIT=0
JC=0
J=0 :
> LCOP BEGIN {(READ RAW DATA)
READ(10, ' (Al)') DUM
5 READ(10,FRM10) PD,TD,CD,OCD,OTD
TD=TD*0.5
JC=JC+1
IF(PD.GT.20.0.AND.PD.LT.25.5.AND.
TD.GT. 5.0.AND.TD.LT.35.0.AND.
* CD.GT.30.0.AND.CD.LT.70.0) GO TO 1
IF(CD.LT.40.0) THEN
J=J+1
IF(J.GE.3)
ELSE
IF(CD.LT.70.0)
END IF
GO TO 5
* END OF
1 REWIND 10
WRITE(6,*)

of valid data observed in the sea

IINIT=JC
J=0

LooP
‘IINIT=', IINIT

PRA=0.0D+0
TRA=0.0D+0

CTD00010
CTD00G020
CTD00030
CTD00040
CTD0O0050
CTD0O0060
CTD00070
CTD00080
CTD00090
CTD00100
CTD00110
CTD00120
CTDO0130
CTD00140
CTD00150
CTDO0160
CTDQ0170
CTD00180
CTDO0190
CTD00200
CTD00210
CTD00220
CTD00230
CTD00240
CTD00250
CTD00260
CTD00270
CTD00280
CTD00290
CTD00300
CTD00310
CTDQ0320
CTD00330
CTD00340
CTD00350
CTD00360
CTD00370
CTD00380
CTD00390
CTD00400
CTD00410
CTD00420
CTD00430
CTD00440
CTD00450
CTD00460
CTDO00470
CTD00480
CTD00490
CTD00500
CTDO0510
CTD00520
CTDO00S530
CTD00540
CTD00S550
CTD00560
CTD00570
CTD00580
CTDO00590
CTD00600
CTD00610
CTD00620
CTD00630
CTDQ0640
CTD00650
CTD00660
CTD00670
CTD00680
CTD00690
CTD00700
CTD00710
CTD00720
CTD00730
CTD00740
CTD00750
CTD0Q760
CTD00770
CTD00780
CTD00790
CTD00800

fit43.2-2



[ ctdcalib.for ]

o0 an a0

an

o0

CRA=0.0D+0

NDR=0

II=INOISE + 1

I11=1II + 1

II2=II1 + NR2
IPROC=INOISE*2+NRUN+1

READ(10, ' (A5)') STA
WRITE (30, ' (AS)') STA
IF(IINIT.GE.1) THEN
DO 15 I=1,IINIT
READ(10, ' (Al) ') DUM
15 CONTINUE
END IF

DO 20 I=1,IPROC
READ(10,FRM10) P(I),T(I),C(I),0C(I),OT(I)
T(I)=T(I)*0.5D+0
OC(I)=0C(I)*0.5D+0
IF(LEG.EQ.1) THEN

OT(I)=0T(I)*0.128D+3
ELSE
OT(I)=0T(I)*0.5D+0
END IF
20 CONTINUE
JEND=0
NUM=0
25 NI=0

NUM=NUM + 1

DO 30 I=1,NQ
IS=I + IPROC

READ (10, FRM10, END=35) P(IS),T(IS),C(IS),0C(IS),OT(IS)

T(IS)=T(IS)*0.5D+0
OC(IS)=0C(IS)*0.5D+0
IF(LEG.EQ.1) THEN
OT(IS)=0T(IS)*0.128D+3
ELSE
OT(IS)=0T(IS)*0.5D+0
END IF
NI=I
30 CONTINUE
GO TO 40
35 JEND=1
IF(NI.EQ.0) GO TO 900
40 CONTINUE
NDATA=IPROC + NI
IE=NDATA - INOISE
IE2=IE-NR2
Process A2
WRITE(6,*) 'A2: CHECKING NOISE ' . NDATA
CALL NOISE(P,IP, PTH, IFLGP,II,IE)
CALL NOISE(T,IP,TTH, IFLGT,II, IE)
CALL NOISE(C,IP,CTH,IFLGC,II,IE)
WRITE(6,*) 'NOISET CHECK COMPLETED', IFLGP, IFLGT, IFLGC
Process A3
WRITE(6,*) 'A3: T AND P CORRECTION'
CALL TCORRECT(T,IP,II,IE)
CALL PCORDOWN(P,IP,II,IE)
Process A4
WRITE(6,*) ‘A4: FILTERING TEMP DATA'
CALL TEMPFILT(T,P,IP,II,IE)
Process AS
WRITE(6,*) 'AS: CORRECT C FOR CELL DEFORMATION'
CALL CELLCORR(C,P,T,IP,II,IE)
Process A7
WRITE(6,*) ‘A7: FILTERING P, C DATA"
CALL PCFILTER(P,C,IP,FP,IIl,IE)
Process A8
WRITE(*,*) 'A8: RUNNING MEAN AND RESAMPLING'
CALL RESAMPLE(P,T,C,IP,PR,TR,CR, IR,
. PRA,TRA,CRA,NDR, PP, II2,IE2)

Make a file for DO2 correction
WRITE(6,*) *MAKING A FILE FOR DO2 CORRECTION'
CALL DOFILE(P,T,C,0C,OT,IP,NUM,NN,II2,IE2,30,CO,NP)

IPROCC=INOISE*2 + NRUN

DO 60 I=1,IPROC
IS=NDATA - IPROC + I
P(I}=P(IS)

CTD00810
CTD00820
CTD00830
CTD00840
CTD00850
CTD00860
CTD00870
CTD00880
CTD00890
CTD009%00
CTD00910
CTD00920
CTD00930
CTD00940
CTDO0950
CTD00960
CTD00%70
CTD00980
CTD00990
CTDO01000
CTD01010
CTD01020
CTD01030
CTD01040
CTD0O1050
CTDO1060
CTDO1070
CTD01080
CTD01090
CTDOL1100
CTDO1110
CTD01120
CTDO1130
CTDO1140
CTDO1150
CTDO1160
CTD01170
CTD01180
CTDO1190
CTD01200
CTD01210
CTD01220
CTDO01230
CTD01240
CTD01250
CTDO1260
CTD01270
CTD01280
CTD01290
CTDO01300
CTD01310
CTD01320
CTD01330
CTD01340
CTDO1350
CTDO1360
CTD01370
CTDO01380.
CTD01390
CTD01400
CTDO1410
CTD01420
CTD01430
CTDO01440
CTDO1450
CTD01460
CTDO1470
CTDO01480
CTDO1490
CTDO1500
CTD01510
CTDO1520
CTDO1530
CTD01540
CTDO1550
CTDO01560
CTDO1570
CTDO1580
CTDP01590
CTDO1600
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60

900

(e N e}

an

T(I)=T(IS)
C(I)=C(IS)
OC(I)=0C(I5)
OT(I)=0T(IS)
CONTINUZ
II=INOISE+NRUN+1
IIl=II
II2=II1 - NR2
IF(JEND.EQ.0Q) GO TO 25

CONTINUE
LDATA=NDR-1

Process A9

WRITE(~*,*) 'AS: CORRECTING C DATA'
CALL CCORRECT(CR,PR,IR,CO,NP,1,LDATA)

Process Al0

WRITE(*,*) 'Al0: COMPUTING SALINITY'
CALL SALCOMP(?R,TR,CR,SR, IR, 1,LDATA)

C Create final dataset

90

>

1000

*

oA ARARAELEE AR R SRR AR R R SR R ARl R R N

WRITE(*,*) ‘CRZATING THE FINAL DATASET'
WRITE(20, ' (A5)') STA
DO 90 I=1,LDATA

WRITE(20,FRM20) PR(I),TR(I),CR(I),SR(I)
CONTINUE

STOP
END

SUBROUTINE NOISE(X,IP,XTH,IFLG,IINI, IEND)

C Remove noise of raw conductivety data
C Criterion: Distinguish as noise when

X(I) > XTH + MAX(X(I-N),X(I+N))

X(I) < -XTH + MIN(X{(I-N),X(I+N))

The number of revised data will be set in IFLG

C
o)
C --> Revise to X(I) = (X(I-N)+X(I+N))/2
C

10

-

A ASEER AR R R RS R R AR N R R

C Correct temperature data using the quadratic polynominal

C
Cc DT:

«

REAL*8 X(IP),XTH, XMAX, XMIN
COMMON /NOISIZ/ N
IFLG=0

DO 10 I=IINI,IEND
XMAX=MAX (X (I-N),X(I+N))
XMIN=MIN(X(I-N),X(I+N))
IF(X(I).GT.XMAX+XTH .OR. X(I).LT.XMIN-XTH)

X(I) = (X(I-N)+X(I+N))<0.5D0
IFLG = IFLG+1
ENDIF
CONTINUE
RETURN
END

SUBROUTINEZ TCORRECT(T,IP,IINI,IEND)

obtained in a laboracory
Correction, DT = A * T**2 + B * T + C

REAL*8 T(IP),DT,A(2),B(2),C(2)
FOR THE CTD WITHOUT 02 SENSOR

BELOW °"TEMP*, ABOVE “TEMP"
DATA A/-0.100093D-4, 0.677039D-6/
DATA B/-0.566337D-3, -0.721866D-3/
DATA C/ 0.166095D-1, 0.170540D-1/
DATA TEMP/10.0/
FOR THE CTD EQUIPPED WITH 02 SENSOR

BELOW °*TEMP", ABOVE "TEMP"
DATA A/ 0.121937D-4, 0.179550D-4/
DATA B/-0.803083D-3, -0.127S71D-2/
DATA C/ 0.251885D-1, 0.290126D-1/
DATA TEMP/ 9.1/

DO 10 I=IINI,IZND
K=1
IF(T(I) .LT.TEMP) K=2
DT = A(K)"T(I)**2 + B(X)*"T(I) + C(K)
T(I) = T(I) + DT

THEN

CTDO01610
CTD01620
CTDO1630
CTDO1640
CTDO1650
CTDO1660
CTD01670
CTD01680
CTD01690
CTDO1700
CTD01710
CTD01720
CTD01730
CTD01740
CTD01750
CTD01760
CTDO01770
CTD01780
CTD01790
CTD01800
CTDO1810
CTD01820
CTDO1830
CTD01840
CTD01850
CTDO01860
CTD01870
CTD01880
CTD01890
CTD01900
CTD01910
CTD01920
CTD01930
CTD01940
CTD01950
CTD01960
CTD01970
CTDO01980
CTD01990
CTD02000
CTD02010
CTD02020
CTD02030
CTD02040
CTD02050
CTD02060
CTD02070
CTD02080
CTD02090
CTD02100
CTDO02110
CTD02120
CTD02130
CTD02140
CTD02150
CTD02160
CTD02170
CTD02180
CTD02190
CTD02200
CTD02210
CTD02220
CTD02230
CTD02240
CTD02250
CTD02260
CTD02270
CTD02280
CTD02290
CTD02300
CTD02310
CTD02320
CTD02330
CTD02340
CTD02350
CTD02360
CTD02370
cTD02380
CTD02390
CTD02400
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10 CONTINUE
RETURN
END

*

Ctt!ttii*i'ittti'tl‘tt"t'rtt""'tt""ti'!tt"'!t'i't"'r'
SUBROUTINE PCORDOWN(P,I?,IINI,IEND)

C Correct pressure data using the polynominal

c obtained in a laboratory
C DP: Correction, DP = CDN(1) + CDN{2)* P + CDN(3)*P**2
C +CDN(4)* P**3 + CDN(S)* P**4 + CDN(35)*P*"5
C +CDN(7)* P**o
REAL*3 P(I?),CDN(7),DP
C SELECT ONE OF THE FOLLOWINGS
C 1. FOR CTD WITHOUT 02 SENSOR
c DATA CDN/ 0.356999D+01,-0.681617D-02,-0.127216D-05,
c * 0.3315650D-08,-0.118204D-11, 0.170710D-15,
c * -0.905423D-20/
C 2. FOR CTD EQUIPPED WITH O2 SENSOR
DATA CDN/-0.269719D+01, 0.699556D-02,-0.455414D-05,
* 0.154059D-08,-0.289204D-12, 0.287633D-156,
* -0.116484D-20/

DO 10 I=IINI,IEND

DP = CDN(1)+ 2(I)*(CDN(2)+ P{I)*(CDN(3)+
+ P(I)*(CDN(4)+ P(I)~(CDN(S)+ P(I)*(CDN(6)+
+ P(I)* CDN(7) )))))

P(I) = P(I) + DP
10 CONTINUE
RETURN
END

*

AR AAAREE RS AL AL SRR R AR RS R R R

SUBROUTINE TEMPFILT(T,?,IP,II,IE)
C Delay T response using digical filter for change of
Cc C response due to speed cgange of CTD fish
*

REAL*8 T(IP),P(IP),TINT,S?D,SP

DIMENSION IFT(16)

COMMON /OBSDAT/ NSEC

COMMON /TFILTR/ IU2, IDN

*
C IFT for CTD Neil Brown Mark III:
DATA IFT/97,84,74,65,59,53,48,44,40,36,33,
* 30,26,23,20,18/
L]
C Estimate downward speed of CTD fish
(o] using P(I) between I-IU? and I+IDN

IINI=II + IU?P
IEND=IE - IDN
TINT=DFLOAT(IUP+IDN) /DFLOAT (NSZC)
DO 10 I=IINI,IEND
C db/s*100 ---> cm/s
SPD=(P(I+IDN)-P(I-IUP))/TINT*0.1D+3
SP=DABS (SPD)
IS10=INT(SP) /10
ISP=IS10-10
IF(ISP.GE.150) THEN
IFT1=IFT(16)
IS=16
ELSE
IS=IS10+1
IFT1=(IFT(IS+1)-IFT(IS))*(SP-ISP)/10.+IFT(IS)
END IF '
IFT2=100-IFT1
T(I)=(DFLOAT(IFTL)"T(I-1)+DFLOAT(IFT2)*T(I))/0.1D+3
10 CONTINUE

DO 1 I=II,IINI-1
TINT=DFLOAT(I+IDN-II)/DFLOAT(NSEC)
SPD=(P(I+IDN)-P(II))/TINT"0.1D+3
SP=DABS (SPD)

IS10=INT(S?) /10

ISP=IS10*10

IF(ISP.GE.150) THEN
IFT1=IFT(16)

ELSE
IS=IS10+1
IFT1=(IFT(IS+1)-IFT(IS)) " (SP-ISP)/10.+IFT(IS)
END IF

IFT2=100-IFTl

CTD02410
CTD02420
CTD02430
CTD02440
CTD02450
CTD02460
CTD02470
CTD02480
CTD02490
CTD02500
CTD02510
CTD02520
CTD02530
CTD02540
CTD02550
CTD02560
CTD02570
CcTD02580
CTD02590
CTD02600
CTD02610
CTD02620
CTD02630
CTD02640
CTD02650
CTD02660
CTD02670
CTD02680
CTD02690
CTD02700
CTD02710
CTD02720
CTD02730
CTD02740
CTD02750
CTD02760
CTD02770
CTD02780
CTD02790
CTD02800
CTD02810
CTD02820
CTD02830
CTD02840
CTD02850
CTD02860
CTD02870
CTD02880
CTD02890
CTD02900
CTD02910
CTD02920
CTD02930
CTD02940
CTD02950
CTD02960
CTD02970
CTD02980
CTD02990
CTD03000
CTDO3010
CTD03020
CTDO3030
CTD03040
CTD03050
CTDO3060
CTD03070
CTD03080
CTD03030
CTD03100
CTDO311l0
CTD03120
CTD03130
CTD03140
CTDO3150
CTDO03160
CTD03170
CTDO3180
CTDO3190
CTDO03200
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T(I)=(DFLOAT(IFTL1)*T(I-1)+DFLOAT(IFT2)*T(I))/0.1D+3
1 CONTINUE

DO 2 I=IEND+!,IZ
TINT=DFLOAT(IZ-I+IUP)/DFLOAT (NSEC)
SPD=(P(IE) -P(I-IUP))/TINT*0.1D+3
SP=DABS(S2D)

IS10=INT(S?)/10

ISP=IS10*10

IF(ISP.GE.150) TH=N
IFT1=IFT(18)

ELSE
IS=IS10+1
IFT1=(IFT(IS+1)-IFT(IS))*(SP-ISP)/10.+IFT(IS)
END IF

IFT2=100-I7T1
T(I)=(DFLOAT(IFT1)*T(I-1)+DFLOAT(IFT2)*T(I))/0.1D+3
2 CONTINUE
RETURN
END

-

[oh AR AAEA AL AL SRS AR RS R R E R A R R RN

SUBROQUTINE CELLCORR(C,?,T,I?,TINI, IEND)

C Conductivity correccion for the cell deformation due to T and P
REAL*3 C(I?),P(IP),T(IP)
REAL*3 ALPHA,BETA,TO, PO

ALPHA=-6.5D-6
BETA = 1.5D-8
TO = 1.5D+1
PO = 0.0D+0

DO 10 I=IINI,IEND
C(I)=C(I)*(1.0D+0 + ALPHA*(T(I)-TO) + BETA*(P(I)-P0O))
10 CONTINUE
RETURN
END

*
AR RRSEARE AR R RS S A AR R R Y

SUBROUTINE PCFILTER(P,C,IP,FPl,IINI, IEND)
C Delay P, C responses using digital filter

REAL*8 P(IP),C(IP),FPLl,FP2

FP2=1.0D+0-FPl

DO 10 I=IINI,IZEND
P(I)=(FPl"2(I-1)
C(I)=(FP1l*C(I-1)

10 CONTINUE
RETURN
END

+ +

*

AR AEA LR RS R RS E A A AR AR A R R A R R R R

SUBROUTINE R=SAMPLE(?,T,C,IP?,PR,TR,CR,IR,
- PRA, TRA,CRA,NDR, PP, II,IE
C Resample P, T and C every N db

REAL*8 P(IP),T(IP),C(IP),PR(IR),TR(IR),CR(IR)
REAL*S PRA, TRA, CRA, PR3, TR3,CR3, PP, RATIO
COMMON /RESAMP/ NRUN,NR2,N
C NDACHX=0: NDA IS MOT DEFINED, NDACHK=1: DEFINED
NDACHK=0
ND=II
IF(NDR.EQ.0) THEN
NDA=ND
NDACHK=1
CALL RMEAN(P,IP,NDA,NRUN, PRA,II,IE)
INIT?=PRA
IF(MOD(INITP?,N) .EQ.0.AND.
- DABS (PRA-DFLOAT(INITP)) .LT.0.1D-7) THEN
PR(1)=PRA
CALL RMZAN(T, I?,NDA,NRUN,TRA,II, IE)
CALL RMEAN(C,IP,NDA,NRUN,CRA,II, IE)
TR(1)=TRA
CR(1)=CRA
NDR=2
PP=DFLOAT(INITP+N)
ND=ND+1

CTD03210
CTP03220
CTD03230
CTD03240
CTD03250
CTD03260
CTD03270
CTD03280
CTD03290
CTD03300
CTDO3310
CTD03320
CTD03330
CTD03340
CTD03350
CTD03360
CTD03370
CTD03380
CTD03390
CTD03400
CTDO03410
CTD03420
CTD03430
CTD03440
CTD03450
CTD03460
CTD03470
CTD03480
CTD03490
CTD03500
CTD03510
CTD03520
CTD03S30
CTD03540
CTD03550
CTD03560
CTD03570
CTD03580
CTD03590
CTD03600
CTD0O3610
CTP03620
CTD03630
CTD03640
CTD03650
CTD03660
CTD03670
CTD03680
CTD03690
CTD03700
CTD03710
CTD03720
CTDO3730
CTD03740
CTD03750
CTD03760
CTD03770
CTD03780
CTD03790
CTD0380Q0
CTD03810
CTD03820
CTD03830
CTD03840
CTD03850
CTD03860
CTD03870
CTD03880Q
CTD03890
CTD03900
CTD03910
CTD03920
CTD03930
CTD03940
CTD03950
CTD03960
CTD03970
CTD03980
CTD03990
CTD04000
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NDA=ND
CALL RMEAN(P,IP,NDA,N2UN,PRA,II,IE)
ELSE
NDR=1
PP=DFLOAT ( (INIT?/N+1) *N)
END IF
END IF

10 ND=ND+l1
IF(ND.GT.IE) GO TO 20
NDB=ND
CALL RMEAN(P,IP,NDB,NRUN,PR3,II,IE)
I7 (DABS(PRB-PP) .LT.0.1D-7) THIN
PR (NDR) =PRB
CALL RMEAN(T,IP,ND,NRUN,TR3,II,IE)
CALL RMEAN(C,IP,ND,NRUN,CR3,II,IE)
TR (NDR) =TRB
CR(NDR) =CRB
NDR=NDR+1
PP=PP+DFLOAT (N)
ND=ND+1
IF(ND.GT.IE) THEN
PRA=PRB
TRA=TRB
CRA=CRB
RETURN
END IF
NDA=ND
NDACHK=1
CALL RMEAN(P,IP,NDA,NRUN, PRA,II, IE)
IF(PRA.GT.PP) THEN
WRITE(6,*) 'PRA>PP','PRA=', PRA,'PP=', PP
STOP
END IF
GO TO 10
END IF
IF(PRB.LT.PP) THEN
IF(PRB.GT.PRA) THEN
PRA=PRB
NDA=NDB
NDACHK=1
END IF
ELSE
RATIO=(PP-PRA)/ (PRB-PRA)
PR (NDR) =PP
IF (NDACHK.NE.O) THEN
CALL RMEAN (T, IP,NDA,NRUN,TRA,II, IE)
CALL RMEAN(C,IP,NDA,NRUN,CRA,II, IE)
END IF
CALL RMEAN(T,IP,NDB,NRUN,TRB,II,IE)
CALL RMEAN(C,IP,NDB,NRUN,CRB,II,IE)
TR (NDR) =TRA+ (TRB-TRA) *RATIO
CR(NDR) =CRA+ (CRB-CRA) *RATIO
NDR=NDR+1
PP=PP+DFLOAT (N)
PRA=PRB
NDA=NDB
NDACHK=1
END IF
GO TO 10
20 IF(NDACHK.EQ.0) RETURN
CALL RMEAN(T, IP,NDA,NRUN,TRA,II, IE)
CALL RMEAN(C,IP,NDA,NRUN,CRA,II, IE)
RETURN
END

*

[ AAREASSE AL RS A A RS RS RSN AR R R SRR R R A R RN

SUBROUTINE RMEAN(X,IP,ND,NRUN,XRUN,II,IE)
Compute a running mean for the NDth data of X(IP)
XRUN: Output
NRUN: Data number used for the calculation of running mean

+sO00

REAL*S X(IP),XRUN, TOT

*

Running mean
NR2=NRUN/2
NINI=ND-NR2
NEND=ND+NR2
IF(NINI.LT.II-NR2.OR.NEND.GT.IE+NR2) THEN

WRITE(6, ") 'Invalid NRUN or ND',' NRUMN=',6NRUN,' ND=',ND

* CTD04450

CTD04010
CTD04020
CTD04030
CTD04040
CTD04050
CTD04060
CTD04070
CTD04080
CTD04090
CTD04100
CTD04110
CTD04120
CTD04130
CTD04140
CTD04150
CTD04160
CTD04170
CTD04180
CTD04190
CTD04200
CTD04210
CTD04220
CTD04230
CTD04240
CTD04250
CTD04260
CTD04270
CTD04280
CTD04290
CTD04300
CTD04310
CTD04320
CTD04330
CTD04340
CTD04350
CTD04360
CTD04370
CTD04380
CTD04390
CTD04400
CTDO4410
CTD04420
CTD04430
CTD04440

CTD04460
CTD04470
CTD04480
CTD04490
CTD04500
CTD04510
CTD04520
CTD04530
CTD04540
CTD04550
CTD04560
CTD04570
CTD04580
CTD04590
CTD04600
CTD04610
CTD04620
CTD04630
CTD04640
CTD04650
CTD04660
CTD04670
CTD04680
CTD04690
CTD04700
CTD04710
CTD04720
CTD04730
CTD04740
CTDO4750
CTD04760
CTD04770
CTD04780
CTD04790
CTD04800
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10

C I EEE R EREEEEESEEEEEEEESEREEERERESNEENRERESIEEIREEI I I ITN TI I I I I S0 I I 20 3 I 2
SUBROUTINE DOFILE(P,T,C,0C,OT,IP,NUM,NN,II,IE,IFILE,CO,N?)
be used for the D02 correction
REAL*8 p(I?),T(I?),C(IP),0C(I?P),0T(IP),?R,TR,CR,S

(9]

10

100

*

A AAARAS AR SRS SRS A RS RS AR ARALE AR AR SRR LR ER SRS ESRE A

SUBROUTINE CCORRECT(C,P,IP,CO,NP,IINI,IEND)
C Multiply observed values of Cctd by the cell factor

*

*

20
10

*

A ARE R AR A R SR AR AR R AR R AR R R AR R AR AR RR SRR RS SA LR

Create the file which will

STOP

END IF

TOT= (X (NINI)+X(NEND))*0.5D0
DO 10 I=1,NRUN-1

TOT=TOT+X (NINI+I)
XRUN=TOT/DFLOAT (NRUN)
RETURN
END

REAL*8 SAL78,C35150,CND,CO(NP),CF
EXTERNAL SAL78

PARAMETER (C35150=0.42914D+2)

COMMON /OBSDAT/ NSEC

COMMON /RESAMP/ NRUN, NR2, INTDEP

IF(NUM.EQ.1l) THEN
NN=II
NN=NN+1

IF(OC(NN).EQ.OC(NN-1) .AND.OT(NN) .EQ.OT(NN-1))
IF(OC(NN).GT.0.2D+1.0R.OT(NN) .GT.0.3D+2)

ELSE
NN=NN+II-1
END IF

CALL RMEAN(P,IP,NN,NRUN,PR,II,IE)
CALL RMEAN(T,IP,NN,NRUN,TR,II,IE)
CALL RMEAN(C,IP,NN,NRUN,CR,II,IE)
CF = CO(1l)
DO 10 J=2,NP
CF = CF + CO(J)*PR**(J-1)
CONTINUE
CR = CR*CF
CND=CR/C35150
S=SAL78 (CND, TR, PR, 0)
WRITE(IFILE,100) PR,TR,CR,S,OC(NN),OT(NN)
FORMAT(F8.1,3F8.4,2F8.4)
NN=NN+NSEC
IF(NN.LE.IE) GO TO 2
NN=NN-IE
RETURN
END

REAL*8 C(IP),P(IP),CO(NP),CF

DO 10 I=IINI,IEND
CF = CO(1)
DO 20 J=2,NP
CF = CF + CO(J)*P(I)**(J-1)

CONTINUE

C(I) = C(I)*CF
CONTINUE
RETURN
END

SUBROUTINE SALCOMP(P,T,C,S,IP,IINI, IEND)

C Compute salinity from P, T and C
*

10

*

AL AS AN R R R AR AR AR SRR SAREAARAAAAEEALEEE LSS EESAAAREELEEAR LRSS

REAL~*8 p(IP),T(IP),C(IP),S(IP),SAL78,C35150,CND

EXTERNAL SAL78
PARAMETER (C35150=0.42914D+2)

DO 10 I=IINI,IEND
CND=C(I)/C35150
S(I)=SAL78(CND,T(I),P(I),0)

CONTINUE

RETURN
END

C SEPT. 28 1933
C ADD TF(S,?) FREEZING PT.

CTD04810
CTD04820
CTD04830
CTD04340
CTD04850
CTD04860
CTD04870
CTD04880
CTD04890
CTD04900
CTD04910
CTD04920
CTDO4930
CTD04940
CTD04950
CTD04960
CTD04970
CTD04980
CTD04990
CTD0S5000
CTDO5010
CTD05020
CTD05030
CTD05040
CTD05050
CTD05060
CTD05070
CTD0S080
CTDOS090
CTD05100
CTDO5110
CTD0S120
CTDO05130
CTD0S5140
CTDOS5150
CTD05160
CTD05170
CTDOS180
CTD0S190
CTD05200
CTD05210
CTD05220
CTD05230
CTD05240
CcTD05250
CTD05260
CTD05270
CTD05280
CTD05290
CTDO0S5300
CTD05310
CTD0S5320
CTDO0S5330
CTDO05340
CTD05350
CTD0S360
CTDO0S370
CTD0S380
CTD05390
CTD0S400
CTD05410
CTD0S420
CTD0S5430
CTD0S5440
CTD05450
CTD05460
CTD05470
CTD0S480
CTD05490
CTDOS500
CTD0S5510
CTD05520
CTDOS530
CTD05540
CTDO0S5550
CTDO05560
CTD05570
CTDO05580
CTDO0S5590
CTDO5600
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WHOI CTD GROUP DISX FILE SPEC=BLUE::CTDA:<CTDEV.PRSW>PHYPROPSW,.FOR CTDOSglO

CTD05620

TITLE: ALGORITHMS FOR OCEZANOGRAPHIC COM2UTATIONS CTD05630

N FOFONOFF & R MILLARD CTD05640

CTD05650

SAL78 FCN *#****xvxvxx MAR 28 1983 R CTDOSGGQ

FUNCTION SAL78(CND, T, P, M) CTD05670

IMPLICIT REAL*8 (A-H,0-2Z) CTD0S5680

CTD05690

THE CONDUCTIVITY RATIO (CND) = 1.0000000 FOR SALINITY = 35 PSS-78 CTD05700

TEMPERATURE = 15.0 DEG. CELSIUS , AND ATMOSPHERIC PRESSURE. CTDO5710

CTD05720

CTD05730

FUNCTION TO CONVERT CONDUCTIVITY RATIO TO SALINITY (M = 0) CTDO5740

SALINITY TO CONDUCTIVITY RATIO (M = 1,CND BECOMES INPUT SALINITY) CToggzgg
CTD

REFERENCES: ALSO LOCATED IN UNESCO REPORT # 37 1981 . CTD05770

PRACTICAL SALINITY SCALE 1978: E.L. LEWIS IEEE OCEAN ENG. JAN. 1980 CTD05780

CTD0S790

UNITS: CTD0S5800

PRESSURE P DZCIBARS CTD05810

TEMPERATURE T DEG CELSIUS (IPTS-58) CTD05820

CONDUCTIVITY CND RATIO (M=0) CTD0S830

SALINITY SAL78 (PSS-78) (M=0) CTD05840

CHECKVALUES: CTD05850

SAL78=1.888091 :CND= 40.0000,T=40 DEG C,P= 10000 DECIBARS: M= 1CTDO0S5860

SAL78=40.00000 :CND=1.888091,T=40 DEG C,P=10000 DECIBARS: M=0 CTDO0S5870

CTD05880

SAL78 RATIO: RETURNS ZERO FOR CCNDUCTIVITY RATIO: < 0.0005 CTD05890

SAL78: RETURNS ZERO FOR SALINITY: < 0.02 CTD05900

) CTD05910

INTERNAL FUNCTIONS CTD05920

CTD05930

PRACTICAL SALINITY SCALE 1978 DEFINITION WITH TEMPERATURE CORRECTION CTD05940

XT=T-15.0 : XR=SQRT(RT) CTD05950

SAL(XR, XT) = CTD05960

* ((((0.27081D+1*XR-0.70261D+1) *XR+0.140941D+2) *XR+0.253851D+2) *XR CTD0S5970

X -0.1692D0)* XR+0.0080D0 CTD0S980

X +(XT/(1.0D0+0.0162D0*XT)) " (((((-0.144D-1*XR+ CTD05990

X 0.636D-1)*XR-0.375D-1)*XR-0.66D-2) *XR-0.56D-2) *XR+0.5D-3) CTD06000

DSAL (XR,XT) FUNCTION FOR DERIVATIVE OF SAL(XR,XT) WITH XR. CTD06010

DSAL(XR,XT) = CTD06020

*((((0.135405D+2*XR-0.281044D+2) *XR+0.422823D+2) *XR+0.507702D+2) *XRCTD06030
X -0.1692D0) +(XT/(1.0D0+0.162D-1*XT)) *((((-0.720D-1*XR+0.2544D0) *XRCTDO6040

X -0.1125D0) *XR-0.132D-1) *XR-0.56D-2)

FUNCTION RT3S5 : C(35,T,0)/C(35,15,0) VARIATION WITH TEMPERATURE

WITH TEMPZRATURE.
RT3S(XT) = (((1.0031D-9*XT-6.9698D-7)*XT+1.104259D~-4) *XT
X + 2.00564D-2)*XT + 0.6766097D0
POLYNOMIALS OF RP: C(S,T,P)/C(S,T,0) VARIATION WITH PRESSURE
C(XP) POLYNOMIAL CORRESPONDS TO Al-A3 CONSTANTS: LEWIS 1980
C(XP) = ((3.989D-15*XP-6.370D-10) *XP+2.070D-5) *XP
B(XT) = (4.464D-4"XT+3.426D-2)*XT + 1.0DO

A (XT) POLYNOMIAL CORRESPONDS TO B3 AND B4 CONSTANTS: LEWIS 1980

A(XT) = -3.107D-3*XT + 0.4215D0

ZERO SALINITY/CONDUCTIVITY TRAP
SAL78=0.0D0
IF((M.EQ.0).AND. (CND.LE.SD-4)) RETURN
IF((M.EQ.1) .AND. (CND.LE.0.2D-1)) RETURN

DT = T - 0.15D+2
SELECT BRANCH FOR SALINITY (M=0) OR CONDUCTIVITY (M=1)
IF(M.EQ.1) GO TO 10

C CONVERT CONDUCTIVITY TO SALINITY

O +00 =0

R = CND

RT R/(RT3S(T)*(1.0D0 + C(P)/(B(T) + A(T)*R}))
RT DSQRT (DABS (RT) )

SAL78 = SAL(RT,DT)

RETURN

wrvwwwkrw END OF CONDUCTIVITY TO SALINITY SECTION **=reermwwr¥
INVERT SALINITY TO CONDUCTIVITY BY THE
NEWTON-RAPHSON ITERATIVE METHOD.
FIRST APPROXIMATION
10 RT = DSQRT(CND/0.35D+2)
SI = SAL({RT,DT)
N =20

CTD06050
CTD06060
CTD06070
CTD06080
CTD06090
CTD06100
CTDO6110
CTD06120
CTD06130
CTD06140
CTD0O6150
CTD06160
CTD06170
CTD06180
CTD06190
CTD06200
CTD06210
CTD06220
CTD06230
CTD06240
CTD06250
CTD06260
CTD06270
CTD06280
CTD06290
CTD06300
CTD06310
CTD06320
CTD06330
CTD06340
CTD06350
CTD06360
CTD06370
CTD06380
CTDO6390
CTDO6400
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LN Q]

ITERATION LOOP? BEGINS HERE WITH A MAXIMUM OF 10 CYCLES

15 RT = RT + (CND - SI)/DSAL(RT,DT)

SI = SAL(RT,DT)
N =N=+1
DELS = DABS(SI - CND)
IF((DELS.GT.1.0D-4) .AND. (N.LT.10))GO TO 15

HHAwkxA M AKX AN xRk wxk**END OF ITERATION LOOP *r*wxn+«

COMPUTE CONDUCTIVITY RATIO
RTT = RT3S5(T)*RT*RT

AT = A(T)

BT = B(T)

CP = C(P)

CP = RTT*(CP + BT)
BT = BT - RTT*AT

SOLVE QUADRATIC EQUATION FOR R: R=RT3S*RT*(1+C/AR+B)

R = DSQRT(DABS(BT*BT + 0.4D+1*AT*CP)) - BT
CONDUCTIVITY RETURN

SAL78 = 0.SDO*R/AT

RETURN

END

- CTD06600

CTD06410
CTD06420
CTD06430
CTD06440
CTD06450
CTD06460
CTD06470
CTD06480
CTD06490
CTD06500
CTD06510
CTD06520
CTD06530
CTD06540
CTD06550
CTD06560
CTD06570
CTD06580
CTD06590

CTD06610
CTD06620
CTD06630
CTD06640
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3. BABOCTDF— 2L URKICL 2180 - BHEEEEOT -2ty FEERT 37075 4
(CTDROSET.FOR)

QIIRADH, 24B TORKEEREATO/ S VRK, RERUKOD & OFFRABKD26Y ¥ TV ERBLIZDT,
1Q=26 iK%k 2 T\ 5,
B, AXAVIXPOUMOL Lit, pmol DT L TH5,

TOSSATHERTAF -5y FERTAT— 5ty OB BICOUIDVTUTIRRT,

(1) CTDSTLG1.DATA

WOCEDMBIEHRATF— vty b ENE VY —HOBEICEBCVLIBEREHERZCDT—F £y 25T,

EXPOCODE WHP-ID STNNBR CASTNO TYPE DATE GMT CODE LATITUDE LONGITUDE CODE BOTDEP WHEEL MAXPRS
49HHI15/1 P13 co1 1 ROS 081791 2140 BE 39 59.79N 16500.29E GPS 5451

49HH915/1 P13 cot 1 ROS 081791 2321 BO 39 59.60N 16501.12E GPS 5473 5500
49HH915/1 P13 co1 1 ROS 081891 0104 EN 3959.70N 16502.09E GPS 5477

49HHI15/1 P13 co2 1 ROS 081891 0503 8E 39 00.15N 16500.04 GPS 5350

49HH915/1 P13 co2 1 ROS 081891 0637 BO 38 59.77N 16500.44E GPS 5372 5401
49HH915/1 P13 co2 1 ROS 081891 0807 EN 38 59.40N 16501.19E  GPS 5375

49HHS15/1 P13 co3 1 ROS 081891 1201 BE 38 00.04N 16459.98E GPS 5441

49HH915/1 P13 co3 1 ROS 081891 1342 BO 37 59.75N 16501.49E GPS 5438 5500
49HH915/1 P13 Co3 1 ROS 081891 1524 EN 3759.65N 165 02.43E GPS 5417

(2) CTDROSL1.DATA

RAKOCIDT =%, MY v H—FF, EN, KE ERZEE, RELRE REXBEEOMICEAT NS,

cot
1 5502.8 1.561 32.251 0.0695 1.7
2 4999.3 1.506 32,046 0.0725 1.7
3 4500.6 1.473 31.851 0.0755 1.5
4 4003.2 1.465 31.674 0.0765 1.5
5 3503.5 1.483 31.507 0.0765 14
6 3004.5 1.556 31.376 0.0720 1.4
7 2501.6 1.697 31.287 0.0630 1.5
8 2002.9 1.967 31.281 0.0455 1.7
9 1803.2 2.090  31.286 0.0410 18
10 1602.7 2239  31.303 0.0350 20
11 1403.1 2453  31.379 0.0315s 22
12 1203.1 2712 31.480 0.0200 23
13 1003.1 3.053  31.647 0.0305 26
14 852.8 3390 31.818 0.0355 29
15 702.7 3850 32.088 0.0465 32
16 602.7 4163  32.258 0.0620 34
17 503.0 4518 32.453 0.0870 38
18 403.5 4,769 32.514 0.1330 4.1
19 302.6 5.929 33.448 0.2190 4.6
20 203.0 7.228 34619 07735 54
21 103.6 8.117  35.281 0.3345 63
22 53.0 11.741  38.638 03820 74
23 22 17.087  43.713 0.4290 96
24 13.3 17.231 43.874 0.4470 114
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(3) ROSETLG1.DATA

BRT =25, FINET, Py 7-FF BRCL2 BRIZEER, 2K BEEAT Y TLIZOVWTOE Y &
5, BB E S TFARERST M) T LADRERAEENEATV S,

by A—FFE, MOREIVEFERLTHE, MABO L) v F—THE VIR E oz 0htHEL T
(791 ZBS), My T —BFFEHBET S, GlACOINBE, 19EEDO MY vy A—% TRHEACHTI -T2 bDD

0B ETIRIASEHIOT, 21AB 2RI LD THI oL HEL,

STNBTL TRI CNDRTIO  OXYGEN! OXYGEN2

Cot 1 1 099211 8888 1.1875 0.05089 091 1.3325 0.05089
cot 2 2 0.99209 064 1.3175 0.05089 508 1.2950 0.05089
Cot 3 3 0.99201 281  1.295CG 0.05089 493 1.2675 0.05089
Cot 4 4 099189 359 1.2675 0.05089 155 1.2450 0.05089
Cot S5 5 099169 454 1,0100 0.05089 093 1.1450 0.05089
Cot 6 6 099132 274 1.0075 0.05089 074 1.0450 0.05089
Cot 7 7 0.98937 246 0.8175 0.05089 239 0.8225 0.05089
Cot 8 8 0.98934 262 0.5450 0.05089 458 0.5400 0.05089

Cot 9 9 0.98875 309 0.4950 0.05089 109 0.4950 0.05089
f COt 10 10 99.99999 9999 99.9999 0.05089 9999 99.9999 0.05089
Co1 11 11 99.99999 9999 99.9999 0.05089 9999 99.9999 0.05089
COo1 12 12 99.99999 9999 99.9999 0.05089 9999 99.9999 0.05089
Cot 13 13 0.98423 385 0.3450 0.05089 486 0.3525 0.05089
Cot 14 14 0.98239 108 0.3450 0.05089 115 03775 0.05089
Cot 15 15 0.98027 094 0.4425 0.05089 507 0.4575 0.05089
Cot 16 16 0.9785 114 05625 0.05089 446 0.5375 0.05089
Cot 17 17 097622 198 0.7650 0.05089 144  0.7850 0.05089
Ccot 18 18 0.9728 221 1.1475 0.05089 138 1.1150 0.05089
Cot 19 19 049715 258 1.6850 0.05089 120 1.6850 0.05089
Co1 20 21 0.97047 100 2.3075 0.05089 098 22275 0.05089
Co1 21 2t 99.99999 9999 99.9999 0.05089 9999 99.9999 0.05089
Co1 22 22 097184 071 2.2200 0.05089 491 2.1875 0.05089
Cot 23 23 097192 503 2.0300 0.05089 088 2.0975 0.05089
Cot 24 24 097219 350 2.1575 0.05089 361 2.0250 0.05089

cot 25 0.970S6 099 2.1000 0.0508% 252 2.0925 0.05089
cot 26 0.97108 PORTASAL TEMP=25.010
(4) O2BINFAC.DATA

P e nBILUVRHOT— by b

1 5241 2 5259 3 53.60 4 54.57 5 54.91

6 5289 7 5343 8 52.47 3 5349 10 53.93
11 5000 12 5465 13 5537 14 S3.00 15 5573
16 5331 17 5494 18 57.60 19 5194 20 56.95
21 5465 22 S53.03 23 5257 24 5234 25 53.59
26 5220 27 5237 28 S3.94 29 5251 30 51.97
31 53.08 32 5581 33 5219 34 5283 35 53.61
36 5550 37 5259 38 53.74 39 5334 40 5353
41 51,79 42 5483 43 5275 44 5621 45 5475
46 5283 47 56.08 48 5397 49 5226 50 55.51
51 5572 52 5457 53 5549 54 5345 S5 5534
56 54.75 57 5422 58 5259 53 5484 60 57.43
61 5515 62 5465 63 5462 64 5410 65 54.29
66 S§3.22 67 5509 63 5573 69 5654 70 52.91
71 5481 72 56.07 73 5532 74 53.01 75 55.49
76 5272 77 5452 78 5447 73 5478 80 51.76
81 5244 82 5429 83 5279 84 5216 85 52.65

86 5537 87 S321 88 5442 89 5382 90 57.20
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(5) CTDRMSL1.DATA

ul

TE&ER.

(Stepl] MDIEENT 725 —bBRELVH-DRBEFY (7055 ATOEMAC,D, EF) bbb, K+
WPFEITHE Db DRLLEVDT, 2 VT 725 =103, BEL VY —ECIZEL L FERR.
U H—FFREFIVESERALELE-THEL, ZOF— 5 2o TR MVIERIHAI o L&
& %#!J#frv!,‘ ROSETLG1.DATA OTRI 2 ET %,

(Step2) #5IEL7-ROSETLGL.DATA 2> CTatE LE L. N2 % CFACPOLY.FORIZfE > T, [ENDE NS
5N T 728 -DEEXLEE TS (b Lk, CSCCPOLY.FORTCo, NHEXRTEC) o 61T,
BREX VT -OBER AL L HETKD S,

[Step 3] #5EL7:ROSETLGI.DATA . EXRZEELBEDHER 2 F o THEL, BRERLEL,

CCRRLIDRERGERTH 5,

STN BO TR CTDPRS CTDTMP CTDTMP CTDCND CTDSAL CNDTVT SALNTY CTDOXY  OXYGEN CTDOXY OXYGEN
DBAR IPTS68  ITS-90 MS/CM PSS-78 MS/CM  PSS-78 UMOLKG UMOULKG MUL MULL MLL

cor 1t 1 5505.0  1.5881 1.5877 322724 34.6905 32.2716 34.6895 167.5 99999 1599 3857 99.999 3.681
Cot 2 2 50009 1.5331 1.5328 32.0667 34.6892 32.0663 34.6887 1649 1576 1572 3795 3.6827 3.620
Cot 3 3 4501.7 15002 1.4998 31.8711 34.6834 31.8729 34.6856 161.8 1545 1533 3726 3.556 3.530
Cot 4 4 40039 14922 1.4918 31.6937 34.6810 31.6936 34.6809 1544 1473 1471 3554 3392 3.386
cot 5 5 35038 15102 1.5098 31.5266 34.6730 31.5267 34.6730 1451 139.7 1380 3341 3218 3.177
Cot 6 6 30046  1.5831 1.5827 31.3957 34.6591 31.3952 34.6585 128.0 1214 1225 2947 2795 2819
cot 7 7 25016 1.7239 1.7235 31.3066 34.6346 31.2638 34.5818 104.5 98.3 988 2406 2264 2274
cotr 8 8 20028 1.9936 1.9931  31.3002 34.5806 31.3002 34.5806 69.9 66.1 66.7 1608 1522 1536
Cot 9 9 18030 21164 2.1159 31.3048 345542 31.3074 34.5574 61.0 56.6 58.0 1.404 1304 1335
Co1 10 10 16025 22852 22647 31.3212 345164 99.9999 99.9999 S0.3 99999 9999.9 1.158 99.999 99.999
cor 11 11 1402.8 24790 2.4784 313965 34.4822 99.9999 99.9999 43.7 99999 99999 1.005 99.999 99.999
Cot 12 12 12027 27377 27370 31.4965 34.4319 99.9999 99.9999 38.7 9999.9 993999 0891 99.999 99.999
Cot 13 13 10025 3.0783 3.0775 31.6623 34.3756 31.6659 34.3799 39.1 433 423 0901 0995 0973
Cot 14 14 852.1  3.4149 3.4141  31.8322 34.3036 31.8356 34.3076 441 42.2 443 1016 0970 1.019
Cot 15 15 701.8 38744 3.8734 32,1009 34.2215 321035 34.2244 S5.8 53.5 5§54 1284 1,232 1.27S
Co1 16 16 601.6  4.1870 4.1860 32.2699 34.1484 322756 34.1550 727 65.6 656 1.672 1.510 1.508
cot 11 17 501.8 4.5418 45405 324639 34.0615 324674 34.0656 99.4 92.2 93.0 2287 2122 2139
Cot 18 18 402.1 47923 4.7912 325237 33.9256 325287 33.9315 1489 1364 1360 3425 3137 3127
Cor 19 19 3009 59511 5.9497 334563 33.8724 334636 33.8806 229.7 2064 2052 5283 4.747 4718
Ccotr 20 2% 101.4  8.1368 8.1343 352862 33.8275 352981 33.8402 3098 2754 2749 7123 6332 632!
cor 2t 21 1014  8.1368 8.1349 352862 33.8275 99.9999 99.9999  309.8 9999.9 99999 7.123 99.999 99.999
Ccot 22 22 50.7 117584 11.7556 38.6418 33.8782 38.6579 33.8939 298.1 2695 2696 6849 6.192 6.194
cot 23 23 208 17.1020 17.0979 43.735! 33.8963 43.7360 33.8970 2640 253.0 253.1 6.059 5806 5809
Co1 24 24 108 17.2460 17.2418 43.8759 33.9009 43.8837 33.9076 2736 2527 2520 6279 5799 5783
Cot 25 0 00 99.9999 99.9999 99.9999 99.9999 99.9999 33.8437 9999.9 9999.9 99993 93999 5786 5.765
cot 26 0 00 89.9999 99.9999 99.9999 99.9999 99.9999 33.8641 99999 99999 99999 93.999 99.399 99.999
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AR EE AR RS AR LRSS EEAESE SRR ERES AR SEERRR RN

C Create the final dataset of bottle-sampling data

c

O +~000000

June, 1992
C'tttltlt'tt*ikt"'tiﬂi‘"t"tt"t'i't't*'**i'*ittttt"
Files
INPUT FT10F001 CTDSTLGL.DATA (LRECL=130)
INPUT FT20F001 CTDROSL1.DATA (LRECL=80)
INPUT FT30F001 ROSETLGl.DATA (LRECL=60)
INPUT FT40F001 O2BINFAC.DATA (LRECL=50)
OUTPUT FTSOFO00l CTDRMSL1.DATA (LRECL=100)
IQ: Number of water samples at each station
PARAMETER (IQ=26,JQ=13)
REAL*8 PLD(IQ,JQ),PMAX, SALTMP,CNC1(IQ),CNC2(IQ)
REAL*8 CTD(IQ,S5),0CUR(IQ),O0TMP(IQ)
INTEGER NB1(IQ),NB2(IQ),NBOT(IQ),NTRI(IQ),KTRI(IQ)
CHARACTER*10 FRM10/'(91X,F4.0)'/
CHARACTER*2S5 FRM20/'(I4,F7.1,2F7.3,F7.4,F5.1)"'/
CHARACTER*31 FRM30/'(A4,I3,I4,F9.5,2(I4,F7.4,F8.5))"'/
CHARACTER*33 FRMSO/'(A4,I12,I3,F7.1,6F8.4,3F6.1,3F5.3)"'/
CHARACTER™*4 STA,STN
CHARACTER*1 DUM

*OO0OO0O0O0O0NO +00000

OO0

CO: Coeffic

Np=4 for cubic Eq.,
PARAMETER

REAL*8

For leg 1 (
DATA CO

*

DATA
*

DATA CO
-

»

PLD file
PLD(I,J):
IQ, JQ Size of array PLD
I : Bottle Number

J=1: Pressure, J=2: Temp. (IPTS-68),
J=4: Cctd, J=5: Sctd, J=6:
J=8: 02ctd (UMOL/KG), J=9,
J=11: 02ctd (ML/L),

ients of (NP-1)-th order polynomial of P for cell factor
NP=3 for quadratic Eq.

(NP=6)

CO(NP),A,C,D,

KH-91-5)

/ 0.1000054D+1,

E,F

0.5069215D-6,

-0.4631460D-1,0.12202D-3/
For leg 2 (KH-91-5)

/ 0.9999086D+0,

0.6578022D-6,
0.1120873D-12,-0.1563393D-16,
DATA A,C,D,E,F/0.410260346D+1,0.422961D-2,-0.2553547D-1,

0.68299419D+0,0.11620D-3/

CTD(I,J) file

I : Tr

J : 1 Pressure,
4 02 e.current,

DO 60 I=
PLD(I

PLD(I

PLD(I

PLD(I

PLD(I

PLD(I

60 CONTINUE

PLD(IQ,9)
PLD(IQ.10

igger Number

IQ-1,1IQ

,1) =0.0D+0

,2) =0.999999D+2
,3) =0.999999D+2
,4) =0.999999D+2
,8) =0.99999D+4

,11)=0.99999D+2

99999D+4
99999D+4

=0.

)=0.
PLD(IQ,12)=0.99999D+2

)=0.

PLD(IQ,13

READ(1O,

20 READ(10, ' (17X,A4)',END=1000)

99999D+2

*(Al) ') DUM

2 Temperature,
S 02 temperature

STN

Parameters at each sampling depth

3 Conductivity

PMAX: Maximum pressure in the CTD cast

READ(10,
READ(10,

READ(20,

FRM10) PMAX
*(Al)') DUM

' (Ad) ') STA

IF(STA.NE.STN) THEN

WRITE

GO TO
END IF
DO 10 I=

READ (20, FRM20)

10 CONTINUE

(*,*) 'INCORRECT STATION ORDER IN FILE 20’

1000
1,IQ

NTRI(I), (CTD(I,JS),JS=1,5)

*

-

-0.1927917D-9,
0.2664620D-13,-0.4903089D-18, -0.9984428D-22/
A,C,D,E,F/0.383540951D+1,~-0.229237D-2,-0.2297186D-1,

-0.3865528D-9,
0.8308362D-21/

J=3: Temp.(ITS-90)

Csample, J=7:
10: O2sample (UMOL/KG)
J=12,13: O2sample (ML/L)

. CTD00800

CTD00010
CTD00020
CTD00030
CTD00040
CTD000S0O
CTD00060
CTD00070
CTD00080
CTD00090
CTD00100
CTD00110
CTD00120
CTD00130
CTD00140
CTD00150
CTDOO0160
CTD00170
CTD00180
CTD00190
CTD00200
CTD00210
CTD00220
CTD00230
CTD00240
CTD00250
CTD00260
CTD00270
CTD00280
CTD00290
CTD00300
CTD00310
CTD00320
CTD00330
CTD00340
CTD00350
CTD00360
CTD00370
CTD00380
CTD00390
CTD00400
CTD00410
CTD00420
CTD00430
CTD00440
CTD00450
CTD00460
CTD00470
CTD00480
CTD00490
CTD00500
CTD00510
CTD00520
CTD00S30
CTD005S40
CTD00550
CTD00560
CTD00570
CTD00580
CTD00S90
CTD00600
CTD00610
CTD00620
CTD00630
CTD00640
CTD00650
CTD00660
CTD00670
CTD00680
CTD00690
CTD00700
CTD00710
CTD00720
CTD00730
CTD00740
CTD00750
CTD00760
CTD00770
CTD00780
CTD00790
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READ(20, ' (Al)') DUM CcTD00810

* CTD00820
READ(30, ' (Al)') DUM CTD00830

C CNC1l, CNC2: Concentration of Na2S203 for oxygen titration CTD00840
DO 40 I=1,IQ-1 CTD00850
READ(30,FRM30) STA,NBOT(I),KTRI(I),PLD(I,7),NB1(I), CTD00860

* PLD(I,12),CNC1(I),NB2(I),PLD(I,13),CNC2(I) CTD00870
IF(NBOT(I).NE.I) THEN CTD00880
WRITE(*,*) °'INCORRECT 30TTLE NUMBER IN FILE 30°' CTD00890

GO TO 1000 CTD00900

END IF . CTD00910

40 CONTINUE CTD00920
IF(STA.NE.STN) THEN CTD00930
WRITE(*,*) 'INCORRECT STATION ORDER IN FILE 30°' CTD00940

GO TO 1000 CTD00950

END IF CTD00960

C SALTMP: Temperature in the reservoir of salinometer CTD00970
READ(30,'(4X,I3,I4,F9.5,16X,F6.3)") CTD00980

* NBOT (IQ),KTRI(IQ),PLD(IQ,7),SALTMP . CTD00930
READ (30, ' (Al)') DUM CTD01000

- CTD01010
C Put CTD data taken at the bottle-closed depth into PLD CcTD01020
DO 70 I=1,IQ-2 CTD01030
K=KTRI(I) CTD01040
IF(K.EQ.0) THEN CTD01050
PLD(I,1)=0.999999D+5 CTD01060
PLD(I,2)=0.999999D+2 CTD01070
PLD(I,4)=0.999999D+2 CTD01080
OCUR(I)=0.99999D+1 CTD01090
OTMP(I)=0.999D+2 CTD01100

ELSE CTDO1110
PLD(I,1)=CTD(K,1) ' CTD01120
PLD(I,2)=CTD(K, 2) : CTDO01130
PLD(I,4)=CTD(X,3) CTD01140

OCUR(I)= CTD(K, 4) CTDO01150

OT™MP(I)= CTD(K,S) CTDO1160

END IF CTD01170

70 CONTINUE CTD01180

* CTD01190
C Process B2 CTD01200
CALL TCORRECT(PLD(1,2),IQ,1,IQ-2) CTD01210

CALL PCORREUP(IQ-2,PLD(1,1),I1Q,PMAX) CTD01220

C Process B3 CTD01230
CALL CELLCORR(PLD(L,4),PLD(1,1),PLD(1,2),1Q,1,IQ-2) CTD01240

C Process B4, B6 CTD01250
CALL CCORRECT(PLD(1l,4),PLD(1,1),IQ,CO,NP,1,IQ-2) CTD01260

CALL CSALCOMP(IQ,PLD, IQ, JQ, SALTMP) CTDO1270

CALL CTDOXYGN(IQ-2,PLD(1,1),PLD(1,2),PLD(1,5) CTD01280

* ,PLD(1,11),0CUR,OTMP, IQ,A,C,D,E,F) CTD01290

CALL SMPLOXGN{IQ-1,NBl,PLD(1,12),CNC1, IQ,40) CTD01300

CALL SMPLOXGN(IQ-1,NB2,PLD(1,13),CNC2,IQ,40) CTDO1310

CALL OXYUNIT(PLD, IQ,JQ.,1,IQ-1) CTD01320

* CTDO1330
C Temperature unit o IPTS-68 kara ITS-90 ni suru ° . CTD01340
DO S50 I=1,IQ-2 CTDO1350
IF(PLD(I,2).GT.0.9D+2) THEN CTDO1360
PLD(I,3)=0.999999D+2 CTDO1370

ELSE CTD01380
PLD(I,3)=PLD(I,2)*0.99976 CTDO1390

END IF . CTD01400

50 CONTINUE CTDO1410

- CTDO1420
C Create final dataset CTDO1430
WRITE(50,100) CTDO1440

100 FORMAT('STN BO TR CTDPRS CTDTMP CTDTMP CTDCND CTDSAL ', CTDO01450

* ' CNDTVT SALNTY CTDOXY OXYGEN CTDOXY OXYGEN"') CTDO1460
WRITE(50,200) CTDO1470

200 FORMAT (11X, 'DBAR IPTS68 ITS-90 MS/CM PSS-78 MS/CM *, CTD01480

* ' PSS-78 UMOL/KG UMOL/KG ML/L ML/L ML/L') CTDO01490

DO 30 I=1,1IQ CTDO01500

WRITE (S0, FRMS0) STA,NBOT(I),KTRI(I), (PLD(I,JS).JS=1,JQ) CTDO1510

30 CONTINUE CTD01520

M CTDO1530
GO TO 20 CTDO01540

. CTDO1550
1000 stop CTDO1560
END CTD01570

. CTD01580
C LR R R R R I A I I I T IR I S I I S SR R g CT001590
SUBROUTINE TCORRECT(T,IQ,IINI,IEND) CTDO1600
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C Correct temperature data using the quadratic E£q. CTDO1610
C obtained in a laboratory CTDO1620
C DT: Correction, DT = A * T**2 + B * T + C CTDO01630
N CTD01640
REAL*8 T(IQ),DT,A(2),8(2),C(2) CTD01650

LT FOR THE CTD WITHOUT 02 SENSOR CTDO1660
* BELOW *TEMP", ABOVE "TEMP“ CTD01670
(o DATA A/-0.100093D-4, 0.677039D-6/ CTD01680
C DATA B/-0.566937D-3, -0.721866D-3/ CTD01690
c DATA C/ 0.166095D-1, 0.170540D-1/ CTD01700
o] DATA TEMP/10.0/ CTDO1710
¥oomo- FOR THE CTD EQUIPPED WITH 02 SENSOR CTD01720
* BELOW "TEMP", ABOVE "TEMP" CTD01730
DATA A/ 0.121937D-4, 0.179550D-4/ CTD01740

DATA B/-0.803083D-3, -0.127571D-2/ CTD01750

DATA C/ 0.251885D-1, 0.290126D-1/ CTD01760

DATA TEMP/ 9.1/ CTD01770

* CTD01780
DO 10 I=IINI,IEND CTD01790
IF(T(I).GT.0.9D+2) GO TO 10 CTD01800

K=1 CTD01810
IF(T(I).LT.TEMP) K=2 CTD01820

DT = A(K)*T(I)**2 + B(K)*T(I) + C(K) CTD01830

T(I) = T(I) + DT CTD01840

10 CONTINUE CTD01850
RETURN CTD01860

END CTD01870

* CTD01880
C P R R R R R R R R R E E R R E R E R R R R R R R R R RN E TR E R EE TR EEEEE R EE R E R E LR SRS CTDOlng
SUBROUTINE PCORREUP (NDAT, P, IQ, PMAX) CTD01900

C Correct pressure data using fitted equations of CTD01910
C order NP-1 obtained from laboratory data CTD01920
C CDN(NP): Coefficients of the fitted equation for increasing pressure CTD01930
C CUP(J,NP): Similar coefficients for pressure decreasing from DEP(J) CTD01940
v CTDO01950
PARAMETER (NP=7) . CTDO1960

REAL*8 P(IQ),PMAX,CDN(NP),CUP(4,NP),DEP(4) CTDO01970

REAL*8 c,Cc0,Cl,DELC, DELCO,DC,CA,CB,CAP,CBP, CGRAD,CRATIO CTD01980

C SELECT ONE OF THE FOLLOWINGS (CHANGE SUB.PCORRED2 ALSO) CTD01990
C 1. FOR CTD WITHOUT 02 SENSOR CTD02000
c DATA CDN/ 0.356999D+01,-0.681617D-02,-0.127216D-05, CTD02010
c * 0.33165CD-08,-0.118204D-11, 0.170710D-15, CTD02020
c * -0.905423D-20/ CTD02030
c DATA CUP/ 0.241536D+1, 0.241695D+1, 0.268556D+1, 0.331024D+1, CTD02040
c * -0.286692D-2, -0.988938D-2, -0.122474D-1, -0.177953D-1, CTD02050
c * -0.748313D-4, -0.101950D-4, -0.374745D-5, 0.112576D-4, CTD02060
c * 0.282491D-6, 0.199215D-7, 0.122420D-7, -0.221939D-8, CTD02070
c * -0.480765D-9, -0.948127D-11,-0.643834D-11, 0.413944D-13,CTD02080
c * 0.398057D-12, 0.148217D-14, 0.139717D-14, 0.349808D-16,CTD02090
c * -0.127104D-15, 0.937150D~20,-0.111414D-18,-0.303500D0-20/CTDO2100
[ DATA DEP/ 1.0D+3, 2.0D+3, 4.0D+3, 6.0D+3/ CTD02110
C 2. FOR CTD WITH 02 SENSOR EQUIPPED CTD02120
DATA CDN/-0.269719D+01, 0.699556D-02,-0.455414D-05, CTD02130

* 0.154059D-08,-0.289204D-12, 0.287633D-16, CTD02140

* -0.116484D-20/ CTD02150

DATA CUP/-0.260042D+1, -0.265158D+1, -0.275144D+1, -0.249635D+1, CTD02160

* 0.266200D-2, 0.399053D-2, 0.467332D-2, 0.328313D-2, CTD02170

* 0.223005D-5, -0.385196D-5, -0.540009D-5, -0.171657D-5, CTD02180

* -0.567799D-8, 0.249443D-8, 0.363514D-8, 0.434294D-9, CTD02190

* 0.395952D-11,-0.106755D-11,-0.137340D-11,-0.542308D-13,CTD02200

* -0.104276D-14, 0.283531D-15, 0.269568D-15, 0.394729D-17,CTD02210

* 0.849785D-19,-0.311947D-19,-0.207116D-19,-0.149196D-21/CTD02220

DATA DEP/ 2.0D+3, 3.0D+3, . 4.0D+3, 6.0D+3/ CTD02230

* CTD02240
C Correction value at P=PMAX (CO) CTD02250
CO=CDN(1) CTD02260

DO 1 K=2,NP CTD02270

1 C0=CO0 + CDN(K) *PMAX**(K-1) CTD02280

* CTD02290
IF(PMAX.LE.DEP(1l)) THEN CTD02300
ClsCuP(1,1) CTD02310

DO 2 K=2,NP CTD02320

2 Cl=Cl + CUP(1l,K)*PMAX~*(K-1) CTD02330
DELC=C0 - Cl CTD02340
DELCO=(CDN(1l) - CUP(1l,1))(1.0DO-PMAX/DEP(1)) CTD02350

DO 4 I=1,NDAT CTD02360
IF(P(I).GT.0.9D+5) GO TO 4 CTD02370

DC=DELCO + (DELC-DELCO)*P(I)/PMAX CTD02380

Cc=Cup(l,1) CTD02390

DO 3 K=2,NP CTD02400
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3 C=C + CUP(1,K)*P(I)~**(X-1)
C=C + DC
P(I)=2(I) + C
4 CONTINUE
RETURN
END IF

IF (PMAX.LE.DEP(2)) THEN
JA=1
JB=2
ELSE
IF(PMAX.LE.DEP(3)) THEN
JA=2
JB=3
ELSE
JA=3
JB=4
END IF
END IF
Cl=CUP(JB, 1)
DO 10 K=2,NP
10 Cl1=Cl + CUP(JB,K) *PMAX** (X-1)
CA=CUP(JA, 1)
DO 11 K=2,NP
11 CA=CA + CUP(JA,K)*DEP{JA)**(K-1)
CB=CUP(JB, 1)
DO 12 K=2,NP
12 CB=CB + CUP(JB,K) *DEP(JA) **(K-1)
CGRAD=(CO - Cl)/PMAX
CRATIO=CGRAD*DEP(JA)/(CA - CB)
DO 13 I=1,NDAT
IF(P(I).GT.0.9D+5) GO TO 13
CBP=CUP(JB, 1)
DO 14 K=2,NP
14 CBP=CBP + CUP(JB,K) *P(I)**(K-1)
IF(P(I).GT.DEP(JA)) THEN
DC=CGRAD*P(I)

C=CBP + DC
P(I)=P(I) + C
ELSE

CAP=CUP(JA, 1)
DO 15 K=2,NP
15 CAP=CAP + CUP(JA,K)*P(I)~*"(K-1)
C=CBP + (CAP-CBP)*CRATIO
P(I)=P(I) + C
END IF
13 CONTINUE
RETURN
END

*

C FEEEEREEEEREE R EREREEEERENESENRZSSEEEZJSZE NSRRI E I I 3 I I IR I N I I I NI S I A
SUBROUTINE CELLCORR(C,P,T,IQ,IINI,IEND)

C Conductivity correction for the cell deformation due to T and P

REAL*8 C{IQ),P(IQ).,T(IQ)
REAL*8 ALPHA,BETA,TO, PO
ALPHA=-6.5D-6
BETA = 1.5D-8
TO = 1.5D+1
PO = 0.0D+0

DO 10 I=IINI,IEND
IF(C(I).GT.0.9D+2.0R.P(I).GT.0.9D+5.0R.T(I).GT.0.9D+2) THEN
C(I)=0.999999D+2
ELSE
C(I)=C(I)*(1.0D+0 + ALPHA*(T(I)-TO) + BETA*(P(I)-PQ))
END IF
10 CONTINUE
RETURN
END

*

G e o F W T N T A N A T A PR R AN T TN A TN E N OO T

SUBROUTINE CCORRECT(C,P,IP,CO,NP,IINTI, IEND)
C Multiply observed values of Cctd by the cell factor

REAL*8 c(Ip),P(I?),CO(NP),CF

DO 10 I=IINI, IEND
IF(C(I).GT.0.9D+2) GO TO 10
CF = CO(1l)

CTD02410
CTD02420
CTD02430
CTD02440
CTD02450
CTDQ2460
CTD02470
CTD02480
CTD02490
CTD02500
CTD02510
CTD02520
CTD02530
CTD02540
CTD02550
CTD02560
CTDO2570
CTD02580
CTD02590
CTD02600
CTD02610
CTD02620
CTD02630
CTD02640
CTD02650
CTD02660
CTD02670
CTD02680
CTD02690
CTD02700
CTD02710
CTD02720
CTD02730
CTD02740
CTD02750
CTD02760
CTD02770
CTD02780
CTD02790
CTD02800
CTD02810
CTD02820
CTD02830
CTD02840
CTD02850
CTD02860
CTD02870
CTD02880
CTD02890
CTD02900
CTD02910
CTD02920
CTD02930
CTD02940
CTD02950
CTD02960
CTD02970
CTD02980
CTD02990
CTD03000
CTD03010
CTD03020
CTD03030
CTD03040
CTD03050
CTD03060
CTD03070
CTD01080
CTD03090
CTD03100
CTD03110
CTD03120
CTD03130
CTD03140
CTDQ1150
CTDO3160
CTDO3170
CTD03180
CTDO3190
CTD03200
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-

C
C
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C

s OO00O00O0000 »00 »00 «O0 »

00

c

*

(pXe}

DO 20 J=2,NP
: CF = CF + CO(J)*P(I)**(J-1)
20 CONTINUE
C(I) = C(I)=*CF
10 CONTINUE
RETURN
END

AR AR AR R SRR EEEEEE AR AL EREEREEEREREEEE R BRI R I EIR IR R g g g g R R ]

SUBROUTINZ CSALCOMP (NDAT, PLD, IQ,JQ, STMP)
Compute Sctd (PLD(I,3)) from Cctd,
Csample (PLD(I,6)) from Ssample
STMP: TEMPERATURE IN THE RESERVOIR OF PORTASAL

REAL*8 PLD(IQ,JQ),SAL78,C35150,CND, SALINO78, STMP
EXTERNAL SAL78, SALINO78
PARAMETER (C35150=0.42914D+2)

PO 10 I=1,NDAT
IF(PLD(I,1).GT.0.9D+5.0R.PLD(I,2).GT.0.9D+2.0R.

* PLD(I,4).GT.0.9D+2) THEN
PLD(I,5)=0.999999D+2
ELSE

CND=PLD(I, 4)/C35150
PLD(I,S)=SAL78 (CND, PLD(I,2),PLD(I,1),0)
END IF
IF(PLD(I,7).GT.0.9D+2) THEN
PLD(I,6)=0.999999D+2
PLD(I,7)=0.999999D+2
ELSE
PLD(I,7)=SALINO78 (PLD(I,7),STMP)
IF(PLD(I,1).GT.0.9D+5.0R.PLD(I,2).GT.0.9D+2) THEN
PLD(I,6)=0.999999D+2
ELSE
PLD(I,6)=SAL78(PLD(I,7),PLD(I,2),PLD(I,1},1)
PLD(I,6)=PLD(I,6)*C35150
END IF
END IF
10 CONTINUE
RETURN
END

IR R R R R R R R R R R R R R R R RS

SEPT. 28 1983
ADD TF(S,P) FREEZING PT.

LR R R

WHOI CTD GROUP DISK FILE SPEC=BLUE::CTDA:<CTDEV,PRSW>PHYPROPSW.FOR

TITLE: ALGORITHMS FOR OCEANOGRAPHIC COMPUTATIONS
N FOFONOFF & R MILLARD

SAL78 FCN **exwiwsrwr MAR 28 1983 LR A AR AR
FUNCTION SAL78(CND,T, P, M)
IMPLICIT REAL*8 (A-H,0-2)

THE CONDUCTIVITY RATIO (CND) = 1.0000000 FOR SALINITY = 35
TEMPERATURE = 15.0 DEG. CELSIUS , AND ATMOSPHERIC PRESSURE.

FUNCTION TO CONVERT CONDUCTIVITY RATIO TO SALINITY (M = 0)

- CTD03680

PSS-78

SALINITY TO CONDUCTIVITY RATIO (M = 1,CND BECOMES INPUT SALINITY)

REFERENCES: ALSO LOCATED IN UNESCO REPORT # 37 1981
PRACTICAL SALINITY SCALE 1978: E.L. LEWIS IEEE OCEAN ENG. JAN.

UNITS:
PRESSURE P DECIBARS
TEMPERATURE T DEG CELSIUS (IPTS-68)
CONDUCTIVITY CND RATIO {(M=0)
SALINITY SAL78 (PSS-78) (M=0)
CHECKVALUES:

SAL78=1.888091 :CND= 40.0000,T=40 DEG C,P= 10000 DECIBARS:
SAL78=40,00000 :CND=1.888091,T=40 DEG C,?=10000 DECIBARS:

SAL78 RATIO: RETURNS ZERO FOR CONDUCTIVITY RATIO: < 0.0005
SAL78: RETURNS ZERO FOR SALINITY: < 0.02

INTERNAL FUNCTIONS

PRACTICAL SALINITY SCALE 1978 DEFINITION WITH TEMPERATURE CORRECTION

XT=T-15.0 : XR=SQRT (RT)
SAL(XR, XT) =

198

0

o

CTD03210
CTD03220
CTD03230
CTD03240
CTD03250
CTD03260
CTD03270
CTD03280 -
CTD03290
CTDQ3300
CTD03310
CTD03320
CTD03330
CTD03340
CTD03350
CTDO3360
CTD03370
CTD03380
CTD03390
CTD03400
CTD03410
CTD03420
CTD03430
CTD03440
CTD03450
CTD03460
CTD03470
CTD03480
CTD03490
CTD03500
CTD03510
CTD03520
CTD03530
CTD03540
CTD03550
CTD03560
CTD03570
CTD03580
CTD03590
CTD03600
CTD03610
CTD03620
CTD03630
CTD03640
CTD03650
CTD03660
CTD03670

CTD03690
CTD03700
CTD03710
CTD03720
CTD03730
CTD03740
CTD03750
CTD03760
CTDQ3770
CTD03780
CTD03790
CTD03800
CTD03810
CTD03820
CTD03830
CTD03840
CTD03850
CTD03860
CTD03870
CTD03880
CcTP03890
CTD03900
CTD03910
CTD03920
CTD03930
CTD03940
CTD03950
CTD03960
CTD03970
cTD03980
CTD03990
CTD04000
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[oXe]

* (({(0.27081D+1*XR-0.70261D+1)*XR+0.140941D+2) *XR+0,253851D+2) *XR CTD04010

X -0.1692D0)* XR+0.0080D0
X +(XT/(1.0D0+0.0162D0*XT)) " (((((-0.144D-1*XR+

X 0.636D-1)*XR-0.375D-1) *XR-0.66D-2) *XR-0.56D-2) *XR+0.5D-3)

DSAL(XR, XT) FUNCTION FOR DERIVATIVE OF SAL(XR,XT) WITH XR.
DSAL (XR, XT) =

*((((0.135405D+2*XR-0.281044D+2) *XR+0.422823D+2) *XR+0.507702D+2) *XRCTD04070
X -0.1692D0) +(XT/(1.0D0+0.162D-1*XT))*((((-0.720D-1*XR+0.2544D0) *XRCTD04080

X -0.1125D0) *XR-0.132D-1) *XR-0.56D-2)

FUNCTION RT35 : C(35,T,0)/C(35,15,0) VARIATION WITH TEMPERATURE

WITH TEMPERATURE.
RT35(XT) = (((1.0031D-9*XT-6.9698D-7) *XT+1.104259D-4) *XT
X + 2.00564D-2) *XT + 0.6766037D0
POLYNOMIALS OF RP: C(S,T,P)/C(S,T,0) VARIATION WITH PRESSURE
C{XP) POLYNOMIAL CORRESPONDS TO Al-A3 CONSTANTS: LEWIS 1980
C(XP) = ((3.989D-15*XP-6.370D-10)*XP+2,070D-5) *XP
B(XT) = (4.464D-4*XT+3.426D-2)*XT + 1.0D0

A{XT) POLYNOMIAL CORRESPONDS TO B3 AND B4 CONSTANTS: LEWIS 1980

A(XT) = -3.107D-3*XT + 0.4215D0

ZERO SALINITY/CONDUCTIVITY TRAP
SAL78=0.0D0
IF((M.EQ.0).AND. (CND.LE.SD-4)) RETURN
IF((M.EQ.1) .AND.(CND.LE.0.2D-1)) RETURN

DT = T - 0.15D+2
SELECT BRANCH FOR SALINITY (M=0) OR CONDUCTIVITY (M=1)
IF(M.EQ.1) GO TO 10

C CONVERT CONDUCTIVITY TO SALINITY

O ~00 =0

-

0O =0

R = CND
RT = R/{(RT35(T)*(1.0D0 + C(P)/(B(T) + A(T)*R)))
RT = DSQRT(DABS (RT))
SAL78 = SAL(RT,DT)
RETURN
¥wwxrxxxx END OF CONDUCTIVITY TO SALINITY SECTION *****¥»xwrx

INVERT SALINITY TO CONDUCTIVITY BY THE
NEWTON-RAPHSON ITERATIVE METHOD,

FIRST APPROXIMATION
10 RT = DSQRT(CND/0.35D+2)
SI = SAL(RT,DT)
N =20

ITERATION LOOP BEGINS HERE WITH A MAXIMUM OF 10 CYCLES
15 RT = RT + (CND - SI)/DSAL(RT,DT)
SI = SAL(RT,DT)
N =N+1
DELS = DABS(SI - CND)
IF((DELS.GT.1.0D-4) .AND. (N.LT.10))GO TO 15
*tﬁ‘.ﬁﬁ*tﬁ"*.'itiﬁ*'ﬁtﬁﬁﬁ*f'END OE‘ ITERATION LOOP % d ook W ok kN

COMPUTE CONDUCTIVITY RATIO
RTT = RT35(T)*RT*RT

AT = A(T)

BT = B(T)

CP = C(P)

CP = RTT*(CP + BT)
BT = BT - RTT*AT

C SOLVE QUADRATIC EQUATION FOR R: R=RT35*RT*(1+C/AR+B)

0

fOO0O0ON0ONOO »

0

R = DSQRT(DABS (BT*BT + 0.4D+1*AT*CP)) - BT
CONDUCTIVITY RETURN

SAL78 = 0.5DO*R/AT

RETURN

END

AAAA AR R AAAARARES AR AALAA LA ASREA SRS ASE RS EREEEAAEARESARAEARERAS (el nlo) Y Y:T0]

FUNCTION SALINO78(CND,T)
IMPLICIT REAL*8 (A-H,0-2)

CALCULATE SALINITY FROM SALINOMETER OUTPUT FOR SAMPLING WATER

UNITS:
PRESSURE P =20 DECIBARS
TEMPERATURE T DEG CELSIUS (IPTS-68)
CONDUCTIVITY CND RATIO
SALINITY SAL78 (PSS-78)

INTERNAL FUNCTIONS

" CTD04120

CTD04020
CTD04030
CTD04040
CTD04050
CTD04060

CTD04090
CTD04100
CTD04110

CTD04130
CTD04140
CTD04150
CTD04160
CTD04170
CTD04180
CTD04190
CTD04200 -
CTD04210
CTD04220
CTD04230
CTD04240
CTD04250
CTD04260
CTD04270
CTD04280
CTD04290Q
CTD04300
CTD04310
CTD04320
CTD04330
CTDO04340
CTD04350
CTD04360
CTD04370
CTD04380
CTD04390
CTD04400
CTD04410
CTD04420
CTD04430
CTD04440
CTD04450
CTD04460
CTD04470
CTD04480
CTD04490
CTD04500
CTD04510
CTD04520
CTD04530
CTD04540
CTD04550
CTD04560
CTD04570
CTD04580
CTD04590
CTD04600
CTD04610
CTD04620
CTD04630
CTD04640
CTD04650
CTD04660
CTD04670
CTDO4680

CTD04700
CTD04710
CTD04720
CTDO04730
CTD04740
CTD04750
CTD04760
CTD04770
CTD04780
CTD04790
CTD04800
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PRACTICAL SALINITY SCALZ 1978 DEFINITION WITH TEMPERATURE CORRECTION
XT=T-15.0 : XR=SQRT(XT)

-

X
X
X

ZzZRO

SAL (XR, XT) =
((((0.27081D+1"XR-0.70251D+1)*XR+0.140941D+2) *XR+0.253851D+2) *XR
-0.1692D0)* XR+0.0080D0
+(XT/(1.0D0+0.0162D0"XT) ) ~({(({(-0.144D-1"XR+
0.636D-1)*XR-0.375D-1)*XR-0.66D-2)*XR-0.56D-2) *XR+0.5D-3)

SALINITY/CONDUCTIVITY TRAP
SALINQ78=0.0D0
IF(CND.LE.SD-4) RETURN

DT = T - 0.15D+2

CONVERT CONDUCTIVITY TO SALINITY

RT = CND

RT = DSQRT (DA3S(RT))
SALINO78 = SAL(RT,DT)
RETURN

END

LR R R R R R R R

SUBROUTINE SMPLOXGN (NDAT, NBS, OX,CNC, IQ, II)

Compute the concentration of dissolved oxygen in water samples

30

20
40

REAL*8 OX(IQ),CNC(IQ),B(S)
INTEGER NBS(IQ),NB(S)

DO 10 I=1,NDAT
IF(NBS(I).GT.8000.0R.0X(I).GT.0.9D+2) THEN
OX(I)=0.99999D+2

ELSE
READ(II, ' (5(I4,F6.2))"',END=40) (NB(IS),B(IS),IS=1,5)
DO 20 J=1,5

IF(NB(J).EQ.NBS(I)) THEN
OX(I)=0X(I)*CNC(I)*B(J)

REWIND II
GO TO 10
END IF
CONTINUE
GO TO 30
0X(I)=0.88888D+2
REWIND II
END IF
10 CONTINUE
RETURN
END

L R R R R RN

SUBROUTINE CTDOXYGN (NDAT,?,T,S,0X,0CUR,OTMP, IQ,A,C,D,E,F)
Precise estimate the concentration of dissolved oxygen

from the 02 sensor data
IMPLICIT REAL*'8 (A-H,0-2)

DIMENSION P(IQ),T(IQ),S(IQ),0X(IQ),0CUR(IQ),OTMP(IQ)

OSAT(X,SA)=DEXP(((-2.18492D+1*X - 1.734292D+2)*X

-

3

+ 2.496339D+2)/X + SA*{((-0.17D-2*X + 1.4259D-2)"X
- 3.3096D-2) + 1.433483D+2*DLOG(X))

DO 10 I=1,NDAT

-

IF(P(I).GT.0.9D+5S.0R.T(I).GT.0.9D+2.0R.S(I).GT.0.9D+2.
OR.OCUR(I).GT.0.9D+1.0R.OTMP(I).GT.0.9D+2) THEN
0X(I)=0.99999D+2

ELSE

Q=DEXP(D*(T(I) + E*(OTMP(I) -~ T(I))) + F*P(I})
AT=(T(I) + 2.7316D+2)*0.1D-1
OX({I)=(A*OCUR(I)+C) *Q*OSAT (AT,.S(I))

END IF

10 CONTINUE

RETURN
END

R R R R R R R R R R R R R R R R R N

SUBROUTINE OXYUNIT (PLD, IQ,JQ, IINI, IEND)

Oxygen unit o ml/l kara micromol/kg ni henkan suru

REAL*8 PLD(IQ,JQ),THETA, PTO, SGO,COEF
EXTERNAL THETA

DO 10 I=IINI,IEND

IF{PLD(I,1l).GT.0.9D+S5.0R.PLD(I,2).GT.0.9D+2.0R.

CTD04810
CTD04820
CTD04830
CTD04840
CTD04850
CTD04860
CTD04870
CTD04830
CTD04890
CTD04900
CTD04910
CTD04920
CTD04930
CTD04940
CTD04950
CTD04960
CTD04970
CTD04980
CTD04990
CTDO5000
CTDO05010
CTDO5020
CTD05030
CTDO5040
CTDO5050
CTD05060
CTDO5070
CTD05080
CTD05090
CTD0S5100
CTDOS110
CTD0S5120
CTD05130
CTD0S5140
CTD05150
CTD05160
CTD05170
CTD05180
CTDO5190
CTD05200
CTDO5210
CTD05220
CTD05230
CTD05240
CTD0S250
CTD05260
CTD05270
CTD05280
CTDQ05290
CTD05300
CTD05310
CTD05320
CTD05330
CTD05340
CTD05350
CTD05360
CTD05370
CTD05380
CTD05390
CTD0S400
CTDO0S410
CTD0S420
CTD05430
CTD05440
CTD0S5450
CTDO05460
CTD05470
CTD0S480
CTD05490
CTDO05500
CTDOS5S510
CTD05520
CTDO0S530
CTD05540
CTDO5550
CTDO05560
CTD05570
CTDO5580
CTD05590
CTD05600
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[eNeNeNeRoXeNeXe oo oo XeXeXe e e XeXe X Xo Xe) O =

[2XeXeXe! [oXp] an

[eX2Xs)

* PLD(I,S5).GT.0.9D+2) THEN
PLD(I,8) =0.99999D+4
PLD(I,9) =0.99999D+4
PLD(I,10)=0.99999D+4
ELSE
PTO=THETA(PLD(I,5),PLD(I,2),PLD(I,1),0.0D+0)
CALL SIGMAN(PLD(I.S5),PTO0,0.0D+0,SGO0)
COZF=1.0D+3/0.224D+2/(0.1D+1 + SGO*0.1D-2)
IF(PLD{I,11).GT.0.8D+2) THEN
PLD(I,8)=0.99999D+4
ELSE
PLD(I,8)=PLD(I,11) *COEF
END IF
IF(PLD(I,12).GT.0.8D+2) THEN
PLD(I,9)=0.99999D+4
ELSE
PLD(I,9)=PLD(I,12)*COEF
END IF
IF(PLD(I,13).GT.0.8D+2) THEN
PLD(I,10)=0.99999D+4
ELSE
PLD(I,10)=PLD(I,13) *COEF
END IF
END IF
10 CONTINUE
RETURN
END

IR AR R R A R R R R R R R R R R R R R R R R R R R R 4

SUBROUTINE SIGMAN(S,T, PO, SIGMA)
IMPLICIT REAL*8 (A-H,K,0-2)
T=POT. TEMP. AT PO, P0=3000 NO TOKI SIGMA=SIGMA-3
MODIFIED RCM
AR SRR SRS R EEERE R EERE S E R R R R R EEERE RTINS
SPECIFIC VOLUME ANOMALY (STERIC ANOMALY) BASED ON 1980 EQUATION
OF STATE FOR SEAWATER AND 1978 PRACTICAL SALINITY SCALE.
REFERENCES
MILLERO, ET AL (1980) DEEP-SEA RES.,27A,255-264
MILLERO AND POISSON 1981,DEEP-SEA RES.,28A PP 625-629,.
BOTH ABOVE REFERENCES ARE ALSO FOUND IN UNESCO REPORT 38 (1981)
UNITS:

PRESSURE PO DECIBARS

TEMPERATURE T DEG CELSIUS (IPTS-68)
SALINITY S (IPSS-78)

SPEC. VOL. ANO. SVAN M**3/KG *1.0E-8
DENSITY ANO. SIGMA KG/M**3

(AR SR AR R R R SRR S RS R R R R R R R R R R NS R RN R R R R I I I I R

CHECK VALUE: SVAN=981.3021 E-8 M**3/KG. FOR S = 40 (IPSS-78) ,
T = 40 DEG C, PO= 10000 DECIBARS.
CHECK VALUE: SIGMA = 59.82037 KG/M**3 FOR S = 40 (IPSS-78) ,
T = 40 DEG C, PO= 10000 DECIBARS.
LA AR A EESEEEEEEEEREEESAEEEREERRENEEEREERERERZERERES IR I I I
EQUIV
EQUIVALENCE (E,D,Bl), (BW,B,R3),(C,Al,R2)
EQUIVALENCE (AW,A,R1l), (KW, KO0,X)
LA R A RS R RN EEESEEERENESS]
DATA
DATA R3500,R4/1.0281063D3,4.8314D-4/
DATA DR350/2.81086331DL1/
R4 IS REFERED TO AS C IN MILLERO AND POISSON 1981
CONVERT PRESSURE TO BARS AND TAKE SQUARE ROOT SALINITY.
P=P0/1.0D1
SR =DSQRT (DABS (S))
""'.'.""'f"""“'*"*""’"'It't"“.'**"""‘*"'*"
PURE WATER DENSITY AT ATMOSPHERIC PRESSURE
BIGG P.H.,(1967) BR. J. APPLIED PHYSICS 8 PP 521-537.

Rl = ((((6.536332D-9*T-1.120083D-6)*T+1.001685D-4)*T
X-9.095290D-3) *T+6.793952D-2) *T-2.8263737D1
SEAWATER DENSITY ATM PRESS.
COEFFICIENTS INVOLVING SALINITY
R2 = A IN NOTATION OF MILLERO AND POISSON 1981
R2 = ((({5.3875D-9*T-8.2467D-7)*T+7.6438D-5)*T-4.0899D-3)*T
X+8.24493D-1
R3 = B IN NOTATION OF MILLERO AND POISSON 1981
R} = (-1.6546D-6"T+1.0227D-4)*T-5.72466D-3
INTERNATIONAL ONE-ATMOSPHEREZ EQUATION OF STATE OF SEAWATER
SIG = (R4*S + R3*SR + R2)*S + Rl
SPECIFIC VOLUME AT ATMOSPHERIC PRESSURE
Vv350P = 1.0D0/R3500

CTD0S610
CTD0S620
CTD05630
CTD05640
CTDO5650
CTD05660
CTDOS670
CTD05680
CTD05690
CTD05700
CTDOS710
CTDO5720
CTD05730
CTD05740
€TDO5750
CTD05760
CTD0S770
CTDO05780
CTD05790
CTD05800
CTDOS810
CTD05820
CTD05830
CTD05840
CTD05850
CTD05860
CTD05870
CTD05880
CTDO5890
CTD05900
CTD05910
CTD05920
CTD05930
CTD05940
CTD05950
CTD05960
CTDO5970
CTD05980
CTD05990
CTD06000
CTD06010
CTD06020
CTD06030
CTD06040
CTDO6050
CTD06060
CTD0070
CTDO6080
CTD06030
CTD06100
CTDO6110
CTD06120
CTD06130
CTDO6140
CTDO6150
CTD06160
CTD06170
CTD06180
CTD06190
CTD06200
CTD0§210
CTD06220
CTD06230
CTD06240
CTD06250
CTD06260
CTD06270
CTD06280
CTD06290
CTDO06300
CTDO63 10
CTDO6320
CTD06330
CTD06340
CTD06350
CTD06360
CTD06370
CTD06380
CTD06390
CTD06400

f1$a 3-11



[ ctdroset.for |

SVA = -SIG*V3509/(R3500+SIG) CTD06410
SIGMA=SIG+DR350 CTD06420

C SCALEZ SPECIFIC VOL. ANOMALY TO NORMALLY REPORTED UNITS CTD06430
SVAN=SVA*1.0D+8 CTD06440
IF(P.EQ.0.0) RETURN CTD06450

C LA LA RS EEEEL LR R SRR E R AR SRS R R S EEE R R SRR R EREEER R RE R R R E RN CTD06460
C ****+* NEW HIGH PRESSURZ EQUATION OF STATE FOR SEAWATER ****x*+x CTD06470
ol AR ARA RS R RS SRR R R R R ) CTD06480
C MILLERO, ET AL , 1980 DSR 27A, PP 255-264 CTD06490
C CONSTANT NOTATION FOLLOWS ARTICLE : CTD06500
A ASAEAREER R R R L R R CTD06510
C COOPUTE COMPRESSION TERMS CTD06520
E = (9.1697D-10~T+2.0816D-8) *T-9.9348D-7 CTD06530

BW = (5.2787D-8*T-6.12293D-6)*T+3.47718D-5 CTD06540

B = BW + E*S CTDP06550

C CTD06560
D = 1.91075D-4 CTD06570

C = (-1.6078D-6*T-1.0981D-5) *T+2.2838D-3 CTD06580

AW = ((-5.7790SD-7*T+1.16092D-4) *T+1.43713D-3)*T CTD06590
X-0.1194975D0 CTDQ06600

A = (D*SR + C)*S + AW CTD06610

C CTDQ6620
Bl = (-5.3009D-4*T+1.6483D-2) *T+7.944D-2 CTD06630

Al = ((-6.1670D-5*T+1.09987D-2)*T-0.603459D0) *T+5.46746D1 CTD06640

KW = (((-5.155288D-5*T+1.360477D-2)*T-2.327105D0) *T CTD06650
X+1.484206D2)*T-1.93006D3 CTD06660

KO = (BLl*SR + Al)*S + KW CTD06670

C EVALUATE PRESSURE POLYNOMIAL CTD06680
C *hexrhdedkrhkh kAT AR XL ORI XTI R X R XN NN N AT AN XN CTD06690
C K EQUALS THE SECANT BULK MODULUS OF SEAWATER CTD06700
c DK=K(S,T,P)-K(35,0,P) CTD06710
C K35=X(35,0,P) - CTD06720
[ ASAR AR SRR RS AR R R AR AR SRR SRR LR CTD06730
DK = (B*P + A)*P + KO CTD06740

K35 = (5.03217D-5+*P+3.359406D0) *P+2.158227D4 CTD06750
GAM=P/K35 CTD06760

PK = 1.0D0 - GAM CTD06770

SVA = SVA*PK + (V350P+SVA) *P*DK/(K35*(K35+DK)) CTD06780

C SCALE SPECIFIC VOL. ANOMALY TO NORMALLY REPORTED UNITS CTD06790
SVAN=SVA*1.0D+8 CTD06800

V350P = V350P*PK CTD06810

C LAA AR R RS RS SRR EEEEEEEEEE RS R RS LSRR ERRRERREEEERE R R RN CTD06820
C COMPUTE DENSITY ANOMALY WITH RESPECT TO 1000.0 KG/M**3 CTD06830
C 1) DR350: DENSITY ANOMALY AT 35 (IPSS-78), O DEG. C AND 0 DECIBARS CTD06840
C 2) DR35P?: DENSITY ANOMALY 35 (IPSS-78), O DEG. C , PRES. VARIATION CTDO06850
C 3) DVAN : DENSITY ANOMALY VARIATIONS INVOLVING SPECFIC VOL. ANOMALY CTD06860
C AR R R R R RS ES E R N R A R R R R A R R AR AR LR R AR LSRR RLREEESEEN] CTD06870
C CHECK VALUE: SIGMA = 59.82037 KG/M**3 FOR S = 40 (IPSS-78), CTD06880
C T = 40 DEG C, PO= 10000 DECIBARS. CTD06830
R AR e R R R A A R R R CTDO06900
DR35P=CAM/V350P CTD06910Q
DVAN=SVA/ (V3S50P* (V350P+SVA)) CTD06920
SIGMA=DR350+DRI5P-DVAN ) CTD06930
RETURN CTD06940

END CTD06950

- CTD06960
ol R R R R R AR R A A A A R R A AR AR R R AR R R CTD06970
REAL FUNCTION ATG(S,T,P) CTD06980
IMPLICIT REAL*8 (A-H,0-2) CTD06990

C *orerrdrreerncnnrrrrerrrrvres CTDO7000
C ADIABATIC TEMPERATURE GRADIENT DEG C PER DECIBAR CTDO7010
C REF: BRYDEN,H.,1973,DEEP-SEA RES.,20,401-408 CTD07020
C UNITS: CTD07030
C PRESSURE P DECIBARS CTD07040
C TEMPERATURE T DEG CELSIUS (IPTS-68) CTD07050
C SALINITY S (IPSS-78) . CTD07060
C ADIABATIC ATG DEG. C/DECIBAR CTD07070
C CHECXVALUE: ATG=3.255976Z-4 C/DBAR FOR S=40 (IPSS-78), CTD07080
C T=40 DEG C,P0=10000 DECIBARS CTD07090
DS =S5 - 3.5D1 CTD07100

ATG = (((-2.1687D-16"T+1.8676D-14) *T-4.6206D-13) P CTDO7110
X+((2.7759D-12*T-1.1351D-10) *DS+((-5.4481D-14"T CTD07120
X+8.733D-12)*T-6.7795D-10) *T+1.8741D-8)) *P CTDO07130
X+(-4.2393D-8"T+1.8932D-6) *DS CTD07140
X+((6.6228D-10"T-6.836D-8) *T+8.5258D-6) *T+3.5803D-5 CTD07150
RETURN CTD07160

END CTDO07170

* CTDO07180
IR AR AR R R R R R AR SRS RS SRS SRS AL AS RS SRS R ARASAAAREEESSAA CcCTD07190
REAL FUNCTION THETA(S,TO, 20, PR) . CTD07200
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OONO0O0OO0OO00OONOON0ON

IMPLICIT REAL"8 (A-H,0-2)

R R R R R RS R R R R AR SRR

TO COMPUTE LOCAL POTENTIAL TEMPERATURE AT PR

USING BRYDEN 1973 POLYNOMIAL FOR ADIABATIC LAPSE RATE
AND RUNGE-KUTTA 4-TH ORDER INTEGRATION ALGORITHM.
REF: BRYDEN,H.,1973,DEEP-SEA RES.,20,401-408
FOFONOFF,N.,1977,DEEP-SEA RES.,24,489-491

UNITS:

PRESSURE PO DECIBARS
TEMPERATURE TO DEG CELSIUS (IPTS-63)
SALINITY S (I1PSS-78)
REFERENCE PRS PR DECIBARS

POTENTIAL TMP. THETA DEG CELSIUS

CHECKVALUE: THETA= 36.89073 C,S=40 (IPSS-78),T0=40 DEG C,
P0=10000 DECIBARS, PR=0 DECIBARS

SET-UP INTERMEDIATE TEMPERATURE AND PRESSURE VARIABLES
P=P0
T=TO

Crorvrxrrrrariny

H=PR - P

XK = H*ATG(S,T,P)

T + 0.5D0*XK

XK

P + 0.5DO0*H

K = H*ATG(S,T,P)

T + 0.29289322D0* (XK-Q)
0.58578644D0*XX + 0.121320344D0*Q
K = H*ATG(S,T,P)

T + 1.707106781D0* (XK-Q)
3.414213562D0*XK - 4.121320344D0*Q
P + 0.5D0*H

XK = H*ATG(S,T,P)

THETA = T + (XK-2.0D0*Q)/6.0DQ

RETURN

END

O3 XO0ORAXYvO3
non wonou

nowon

CTD07210
CTD07220
CTD07230
CTD07240
CTDO07250
CTD07260
CTD07270
CTD07280
CTD07290
CTD07300
CTD07310
CTD07320
CTD07330
CTDO7340
CTD07350
CTD07360
CTD07370
CTD07380
CTD07390
CTD07400
CTD07410
CTD07420
CTD07430
CTDO7440
CTD07450
CTD07460
CTD07470
CTD07480
CTD07490
CTDQ7500
CTDO7510
CTD07520
CTD07530
CTD07540
CTDO7550
CTDO7560
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(2) CSCCPOLY.FOR [87b]
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crwiiﬂl"It't!’t*'ttvtﬁ'tﬁt*fﬁttttt't"'t"t'ittt"1'1"ii'tttl'tt'l' C::Aooolo
C Program to compute polynomial of pressure = CFa00020
C ficting the vertical change of cell factor (April, 199%2) - Cra00030
c't"tt*tii'tttttitttitrl!*t"itttttlttltttl‘twt"tfitttit‘ltt.'t:tt C?AOOO4O
C Files CFA00050
c INPUT  FTL0F001 CTDRMSL1.DATA (LRECL=100) CFa00060
Cc OUTPUT FT207001 CTFPOLLGLl.DATA (LRECL=100) CFAQ0070
) CFA00080
C NP=4 for cubic £q., NP=3 for quadratic Eq. CFA00090
PARAMZETER (N2=8) CFA00100

C NST: Number of station treated here CFAQ0110
C NST=34 for leg 1, 38 for leg 2 (KH-91-3) CFAQ0120
PARAMETER (NST=34, IQ=NST*24) CFra00130
REAL*8 PR(IQ),CF(IQ),CO(NP),ECO(NP) CFra00140
REAL*8 CC(IQ),CS(IQ),CCTD,CSMP CFA00150
REAL*8 TC(IQ),TCTD,SS(IQ),SSMP CFA00160
REAL*8 PRES, CFCUT CFAQ00170
PARAMETER (ID=3) CFA00180
REAL*8 CFRMS(ID),CRMS(ID),SRMS(ID),AN(ID) CFA00190
REAL*8 POWER1 CFA00200
EXTERNAL POWERL CFA00210
CHARACTER*29 FRM10/'(A4,5X,F7.1,2(F8.4,8%X),2Fr8.4)"'/ CFA00220
CHARACTER"1 DUM CFA00230
CHARACTER*4 STN(NST) CFAQ0240

* CFA00250
N=0 CFAQ00260

DO 50 IT=1,NST CFAQ00270
STN(IT)=" ' CFA00280
READ(10, ' (Al)*',END=900) DUM CFA00290
READ(10, * (Al)*) DUM CFAQ00300

DO 30 I=1,24 ’ CFAQ00310
READ(10,FRM10) STN(IT), PRES, TCTD,CCTD,CSMP, SSMP CFA00320
IF(PRES.GT.9.D+4.0R.CCTD.GT.9.D+1.0R.CSMP.GT.9.D+1) GO TO 30CFA0Q0330

N=N+1 CFAQ00340

PR(N) =PRES CFA00350

CC(N) =CCTD CFAQ0360

CF(N) =CSMP/CCTD CFAQ0370

CS (N) =CSMP CFA00380

TC(N) =TCTD CFA00390

SS(N) =SSMP CFAQ00400

30 CONTINUE CFAQ0410
READ(10, ' (Al) ') DUM CFAQ0420
READ(10, ' (Al)') DUM CFA00430

50 CONTINUE CFA00440

* CFA00450
900 CONTINUE CFA00460
IF(N.LE.O) TH=N CFA00470
WRITE(6,*) 'No data. Check dataset.' CFA00480

STOP CFA00490

END IF CFA00500

* CFAQ0S510
WRITE(20,150) STN CFA00520

150 FORMAT('STN:',10(1X,Ad)) CFA00530
WRITE(20, ' (/)") CFA00540

i . CFA00550
C Calculate the least-square-fit polynomial of P for cell factor CFA00560
(o] using all data CFA00570
CFCUT=0.0D0 CFA00580

CALL LSQFIT(M,PR,CF,IQ, POWER]l,CO, ECO,NP) CFA00590

CALL RMSCFAC(PR,CF,CC,CS,TC,SS,CO, IQ,NP,N,CFRMS, CRMS, SRMS, AN, ID) CFAQ0600

CALL OUTPUT(N,CO, ECO,NP,CFCUT, CFRMS,CRMS, SRMS, AN, ID) CFA00610

* . CFA00620
C Recalculate the polynomial using the data within the range of four CFAQQ5830
Cc times of RMS of the anomaly from the previous-step polynomial CFAQ0640
CFCUT=CFRMS(3) *0.4D+1 CFA00650

CALL CFACCUT(PR,CF,CC,CS,TC,SS,C0O, IQ,NP,N,CFCUT) : CFAQ06860

CALL LSQFIT(N, PR,CF, IQ, POWERL, CO, ECO, NP) CFAQ0670

CALL RMSCFAC(?PR,CF,CC,CS,TC,SS,CO, IQ.NP,N,CFRMS, CRMS, SRMS, AN, ID) CFA00630

CALL OUTPUT (N,CO,ECO,NP,CFCUT,CFRMS,CRMS, SRMS, AN, ID) CFA00690

. CFA00700
C Recalculate using the data wichin three times of RMS CFAQ0710
CFCUT=CFRMS(3) *0.3D+1 CFAQ0720

CALL CFACCUT(PR,CF,CC,CS,TC,SS,CO, IQ,.NP,N,CFCUT) CFAQQ0730

CALL LSQFIT(N,PR,Cr, IQ, POWERL,CO, ECO,NP) CFAQ00740

CALL RMSCFAC(PR,CF,CC,CS,TC,SS,CO, IQ,NP,N,CFRMS, CRMS, SRMS, AN, ID) CFA00750

CALL OUTPUT (N, CO, ECO,NP,CFCUT, CFRMS,CRMS, S’RMS, AN, ID) CFAQQ0760

- CFA00770
C Recalculate using the data within twice of RMS : CFA00730
CFCUT=CFRMS(3) *0.2D+1 CFAQ0790

CALL CFACCUT(?R,CF,CC,CS,TC,SS,C0O, IQ,NP,N,CFCUT) CFA008Q0
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CALL LSQFIT(N, ?PR,CF, IQ, POWER1,CO, ECO,NP)
CALL RMSCFAC(PR,CF,CC,CS,TC,SS,CO, IQ,NP,N,CFRMS, CRMS, SRMS, AN, ID)
CALL OUTPUT (N, CO, ECO, NP, CFCUT, CFRMS, CRMS, SRMS, AN, ID)

STOP
END

IR R R R R R R R R R R R R R TR R R Y EE A R

SUBROUTINE CFACCUT(PR,CF,CC,CS,TC,SS,CO,IQ,NP,N,DCFCUT)
Remove the cell factors which deviate from the fitted
polynomial values more than DCFCUT
REAL*8 PR(IQ),CF(IQ),CC(IQ),CS(IQ),CO(NP),TC(IQ),SS(IQ)
REAL*8 CFP, DCF, DCFCUT
I=0
30 I=I+1
IF(I.GT.N) GO TO 31
CFP=CO(1)
DO 35 K=2,NP
CFP=CFP + CO(K)*PR(I)**(K-1)
35 CONTINUE
DCF=DABS (CFP-CF(I))
IF(DCF.GE.DCFCUT) THEN
IF(I.EQ.N) GO TO 41
DO 40 J=I,N-1
PR(J)=PR(J+1)
CF(J)=CF(J+1)
CC(J)=CC(T+1)
CS(J)=CS(J+1)
TC(J)=TC(J+1)
SS(J)=SS(J+1)
40 CONTINUE
41 N=N-1
I=I-1
END IF
GO TO 30
31 CONTINUE
RETURN
END

IR R R R R R R

SUBROUTINE LSQFIT(ND, XD, YD, IQ, FNC,CO, ECO, NO)
Least square fit of YD to a polynomial of XD

PARAMETER (NOMAX=6)

REAL*8 XD(IQ),YD(IQ)

REAL*8 FNC

EXTERNAL FNC

REAL*8 CO(NO) ,ECO(NO)

REAL*8 B (NOMAX, NOMAX) , C (NOMAX)

REAL*3 BW (NOMAX, NOMAX) , Cw (NOMAX) , W (NOMAX)
REAL*8 S, X,Y,E,ESQ

INTEGER K,L,I

The purpose of this program is to determine CO(K) sucnh that
MINIMIZE SUM(I=1,ND) (E(I)**2)
where erros are given by
E(I)=DY(I)- SUM(K=1,NO) (CO(K) *FNC(DX(I),K))
FNC(X,I) is a set of fitting functions. Any linear independent
functions can be used for the fitting. For example, FNC(X,1l)=1
and FNC(X,2)=X when linear fitting is considered.
Anyway, the user must prepare to declare these functions
with a double precission variable as the first argument and
integral variable as the socond argument.

Now start procedure
DO 10 K=1,NO
C(K)=0.0D+0
CW(K)=0.0D+0
DO 10 L=1,NO
B(X,L)=0.0D+0
BW(X,L)=0.0D+0

10 CONTINUE
Construct normal equation temporary use CO(K) as FNC(X,K)
DO 20 I= 1,ND
X = XD(I)
Y = YD(I)

DO 30 K=1,NO
CO(K) = FNC(X,K)
30 CONTINUE
DO 40 X=1,NO

‘CFAQ1600

FAQQ0810
CFA00820
CFA00830
CFA00840
CFA00850
CFA00860
CFA00870
CFA00880
CFA00890
CFA00900
CFA00910
CFA00920
CFA00930
CFA00940
CFA00950
CFA00960
CFAQ0970
CFA00980
CFA00990
CFA01000
CFA01010
CFA01020
CFA01030
CFA01040
CFA01050
CFA01060
CFAQ01070
CFA01080
CFAQ01090
CFA01100
CFAQ1110
CFAQ01120
CFAQ01130
CFA01140
CFAQ1150
CFA01160
CFA01170
CFAQ1180
CFAQ01190
CFA01200
CFAQ1210
CFAQ01220
CFA01230
CFAQ01240
CFAQ1250
CFA01260
CFAQ1270
CFA01280
CFA01290
CFAQ1300
CFAO01310
CFA01320
CFAO0L1330
CFAQ1340
CFAQ1350
CFA01360
CFA01370
CFA01380
CFA01390
CFAQ1400
CFAQ1410
CFAQ1420
CFAQ1430
CFAQ01440
CFA01450
CFA01460
CFAQ1470
CFAQ1480
CFAQL1490
CFA01500
CFA01510
CFA01520
CFAQ01530
CFAQ1540
CFA01550
CFA01560
CFA01570
CFAQ01580
CFA01590
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40
20

S0

43

63

C(K) = C(X)
DO 40 L=X,NO

+ Y*CO(X)

B(K,L)=B(X,L)+CO(K)"CO(L)

CONTINUE
CONTINUZ
DO 50 K=1,NO-1
DO 50 L=K+1,NO
B(L,K)=B(K,L)
CONTINUE

DO 43 J=1,NO
CW(J)=C(J)

DO 43 I=1,NO
BW(I,J)=8(I.,J)

CONTINUE

CALL LINLD(BW,NO,NOMAX,CW,~1.0D0,CO, IER)

DO 63 K=1,NO
CO(K) =CW(K)
CONTINUE

Check error bar

60

80
70

100
90

102

101

DO 60 K=1,NO
C(X)=0.

CONTINUE

ESQ=0.

Do 70 I= 1,ND

X = XD(I)

E = ¥YD(I)

DO 80 K=1,NO

E = E-FNC(X,K) *CO(K)

CONTINUE
ESQ=ESQ+E~E
CONTINUE

E=DSQRT (ESQ/FLOAT (ND-NO) )

DO 90 I=1,ND
X = XD(I)
DO 100 K=1,NO
C(K) = C(K)
CONTINUE
CONTINUE

DO 102 J=1,NO
CW(J)=C(J)

DO 102 I=1,NO
BW(I,J)=B(I,J)

CONTINUE

+ E*FNC(X,K)

CALL LINLD(BW,NO,NOMAX,CW,-1.0D0,WW, IER)

DO 101 K=1,NO
ECO(K) =CW(X)
RETURN
END

AR A R R R R

Function used for polynomial fitting

FUNCTION POWERL (X,K)

REAL*8 POWERL, X
INTEGER K
POWERL=X**(K-1)
RETURN
END

IR R R R R R R R R N R e R R L R R e EEEEE R}

SUBROUTINE LINLD(A, N, N1,

B,

EPS, P, IER)

Simultaneous equations for real symmetric matrix

by modified Cholesky method

Parameters

(7) IER : Error code

Copy right T. OGUNI

IMPLICIT REAL*8 (A-H,
DIMENSION A(N1l,N1),

Check the input data

Standard value =
) P : l-dim. array containing reciprocals of diagonals of D

July 30 1989

0-2)
B(N),

1.0D-14

P(N)

Version 1.0

(1) A : 2-dim. array containing real symmetric matrix
2) N : Order of the matrix to solve

) N1 : Size of array a defined in *‘DIMENSION'
)

)

statementc

B : l-dim. array containing the right hand side vector
EPS : Parameter to check singularity of the matrix

CFAOQ1610
CFA01620
CFA01630
CFAQ01640
CFAQ1650
CFA01660
CFAQ1670
CFA01680
CFA01690
CFA01700
CFA01710
CFA01720
CFA01730
CFA01740
CFA01750
CFAQ01760
CFAQ1770
CFA01780
CFAQ1790
CFAQ01800
CFA01810
CFA01820
CFA01830
CFA01840
CFA01850
CFA01860
CFAQ01870
CFA01880
CFA01890
CFAQ01900 -
CFAQ01910
CFA01920
CFA01930
CFA01940
CFA01950
CFA01960
CFA01970
CFA01980
CFA01990
CFAQ2000
CFA02010
CFA02020
CFA02030
CFA02040
CFAQ2050
CFA02060
CFA02070
CFA02080
CFA02090
CFA02100
CFA02110
CFA02120
CFA02130
CFA02140
CFAQ2150
CFA02160
CFA02170
CFA02180
CFAQ2190
CFA02200
CFA02210
CFA02220
CFA02230
CFA02240
CFA02250
CFA02260
CFA02270
CFAQ2280
CFA02290
CFA02300
CFA02310
CFA02320
CFA02330
CFA02340
CFA02350
CFA02360
CFA02370
CFAQ02380
CFA02390
CFA02400
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.LT. N)
WRITE(", *)

.OR. (N
' (SU3R. LIN

ENDIF

IF (2PS .LE. 0.0)

IF (DABS(A(l,1))
J=1

WRITE(*,*)
IER = 1
RETURN
ENDIF
Initialization
P(1) = 1.0D0 / A(1,1)
IER = 0

(SUBR. LINLD)

1)) THEN
) INVALID ARGUMENT. N1 < N.',

SINGULAR AT STEP # *‘, J

Modified Cholesky decomposition

DO 150 J=2,N
IF (J .GT. 2) THEN
DO 120 I=2,J-1
S = 0.0D0
DO 110 K=1,I-1
110 S =S5 + A(K,I) *
A(I,J) =
CONTINUE
ENDIF
S = 0.0D0
DO 140 I=1,J-1
T = A(I,J)
A(I,J) = P(I) = T
S =S85+ A(I,J) *T
CONTINUE
T = A(J,J) - S
IF (DABS(T) .LE.
WRITE(*, *)
IER = 1
RETURN
ENDIF
P(J) = 1.0D0 / T
A(J,J) =T
150 CONTINUE

120

140

EPS)
(SUBR.

ENTRY LDSUB(A,B)
Forward substitution
DO 200 I=2,N
S = 0.0D0
DO 190 K=1,I-1
190 S =S + A{K,I)
B(I) = B(I) - S
200 CONTINUE
DO 210 I=1,N
210 B(I) = B(I) * P(I)
Backward substitution
DO 240 K=2,N

* B(K)

F (T .NE. 0.0) THEN
DO 230 I=1,J0-1
B(I) = B(I) - A(I,J
ENDIF
240 CONTINUE
RETURN
END

230

A

THEN

L

)

(K,J)

A(I,J) - s

INLD) SINGULAR AT STEP # ‘', J

* T

N1,

LR R R R R R R R R R

SUBROUTINE RMSCFAC(P,CF,CC,CS,T,S,.CO, IQ,NP,N,
* CFRMS,CRMS, SRMS, AN, ID)
Compute rms difference of cell factor
from the fitted polynomial curve

P(IQ),CF(IQ),CC(IQ),CS(IQ),T(IQ).S(IQ),CO(NP)

REAL*8

REAL*S CFRMS (ID),CRMS(ID),SRMS(ID) ,AN(ID)
REAL*8 CFA, DVARCF, DVARC, DVARS

REAL*8 C35150,SAL78,CND, SAL

PARAMETER (C35150=0.42914D+2)

EXTERNAL SAL78

DO S5 K=1,1ID

CFRMS(K) = 0.0DO0
CRMS(K) = 0.0DO0
SRMS(X) = 0.0D0

N

- CFA03200

CFA02410
CFA02420
CFA02430
CFA02440
CFA02450
CFA02460
CFA02470
CFA02480
CFA02490
CFA02500
CFA02510
CFA02520
CFAQ2530
CFA02540
CFA02550
CFA02560
CFA02570
CFA02580
CFA02590
CFA02600
CFA02610
CFA02620
CFA02630
CFA02640
CFA02650
CFA02660
CFA02670
CFA02680
CFA02690
CFA02700
CFA02710
CFA02720
CFA02730
CFA02740
CFA02750
CFA02760
CFA02770
CFA02780
CFA02790
CFA02800
CFA02810
CFA02820
CFA02830
CFA02840
CFA02850
CFA02860
CFA02870
CFA02880
CFA02890
CFA02900
CFA02910
CFA02920
CFA02930
CFA02940
CFA02950
CFA02960
CFA02970
CFA02980
CFA02990
CFA03000
CFA03010
CFA03020
CFA03030
CFA03040
CFA03050
CFA03060
CFA03070
CFA03080
CFA03090
CFA03100
CFA03110
CFA03120
CFA03130
CFA03140
CFA03150
CFA03160
CFA03170
CFA03180
CFA03190
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AN (X) = 0.0D0 CFA03210

S CONTINUE : CFA03220
CFAQ3230

I=0 CFa03240

10 I=I+1 CFA03250
IF(I.GT.N) GO TO 20 CFA03260
CFA=CO(1) CFA03270

DO 30 K=2,NP CFA03280
CFA=CFA + CO(X)*P(I)**(K-1) CFA03290

30 CONTINUE CFA03300
DVARCF = (CFA - CF(I))*(CFA - CF(I)) CFA03310
CFRMS(3)= CFRMS(3) + DVARCF CFA03320
DVARC = (CFA*CC(I) - CS(I))~(CFA*CC(I) - CS(I)) CFA03330
CRMS(3) = CRMS(3) + DVARC CFA03340
CND=CFA*CC(I)/C35150 CFA03350
SAL=SAL78(CND,T(I),P(I),0) CFA03360
DVARS = (SAL - S(I))*(SAL - S(I)) CFA03370
SRMS(3) = SRMS(3) + DVARS ’ CFA03380
AN(3) = AN{3) + 0.1D+1 CFA03390
IF(P(I).LT.0.2D+4) THEN CFA03400
CFRMS(1)= CFRMS(1l) + DVARCF CFA03410
CRMS({1) = CRMS(1l) + DVARC CFA03420

SAMS (1) = SRMS(l) + DVARS CFA03430

AN(1) = AN(1) + 0.1D+1 CFA03440

ELSE CFA03450
CFRMS(2)= CFRMS(2) + DVARCF CFA03460
CRMS(2) = CRMS(2) + DVARC CFA03470
SRMS(2) = SRMS(2) + DVARS CFA03480

AN(2) = AN(2) + 0.1D+1 CFA03490

END IF CFA03500

GO TO 10 CFA03510
CFA03520

20 DO 15 K=1,1ID CFA03530
CFRMS (K) = DSQRT (CFRMS (K) /AN(X)) CFA03540

CRMS (K) = DSQRT(CRMS(K) /AN(K)) CFA03550
SRMS(K) = DSQRT(SRMS(K) /AN(K)) CFA03560

15 CONTINUE CFA03570
RETURN CFA03580

END ' CFA03590
CFA03600

i'ttttt*it'tw*it'tttt"iitittttttttthtttktthﬁtititttttwni--tr't‘f\?t'i CFAOBGIO
SEPT. 28 1983 CFA03620
ADD TF(S,P) FREEZING PT. CFA03630
WHOI CTD GROUP? DISK FILE SPEC=BLUZ::CTDA:<CTDEV.PRSW>PHYPROPSW.FOR CFA03640
CFA03650

TITLE: ALGORITHMS FOR OCEANOGRAPHIC COMPUTATIONS CFA03660
N FOFONOFF & R MILLARD CFA03670
CFA03680

SAL78 FCN ***wwxwxtx MAR 28 1983 ~rewwrer CFA03690
FUNCTION SAL78(CND,T,P,M) CFA03700
IMPLICIT REAL*8 (A-H,0-2) CFA03710
CFA03720

THE CONDUCTIVITY RATIO (CND) = 1.0000000 FOR SALINITY = 35 PSS-78 CFAQ03730
TEMPERATURE = 15.0 DEG. CELSIUS , AND ATMOSPHERIC PRESSURE. CFA03740

v CFA03750
FUNCTION TO CONVERT CONDUCTIVITY RATIO TO SALINITY (M = 0) CFA03760
SALINITY TO CONDUCTIVITY RATIO (M = 1,CND BECOMES INPUT SALINITY) CFA03770
CFA03780

REFERENCES: ALSO LOCATED IN UNESCO REPORT # 37 1981 CFA03790
PRACTICAL SALINITY SCALE 1978: E.L. LEWIS IEEE OCEAN ENG. JAN. 1980 CFA03800
CFA03810

UNITS: CFA03820
PRESSURE p DECIBARS CFAQ03830
TEMPERATURE T DEG CELSIUS (IPTS-68) CFA03840
CONDUCTIVITY CND RATIO (M=0) CFA03850
SALINITY SAL78 (PSS-78)  (M=0) CFA03860
CHECKVALUES: CFA03870
SAL78=1.888091 :CND= 40.0000,T=40 DEG C,P= 10000 DECIBARS: M= 1CFA03880
SAL78=40.00000 :CND=1.888091,T=40 DEG C,P=10000 DECIBARS: M=0 CFA03890
CFA03900

SAL78 RATIO: RETURNS ZERO FOR CONDUCTIVITY RATIO: < 0.000S5 CFAQ3910
SAL78: RETURNS ZERO FOR SALINITY: < 0.02 CFA03920
CFA03930

INTERNAL FUNCTIONS CFAQ03940
CFA03950

PRACTICAL SALINITY SCALE 1978 DEFINITION WITH TEMPERATURE CORRECTION CFA03960
XT=T-15.0 : XR=SQRT(RT) CFAQ03970
SAL(XR,XT) = CFA03980

* ((((0.27081D+1*XR-0.70251D+1) *%R+0.140941D+2) *XR+0.253351D+2) *XR CFA03990

X -0.1692D0)* XR+0.0080D0 CFAQ4000
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X  +(XT/(1.0D0+0.0162D0*XT)) " (((((-0.144D-1*XR+

X 0.636D-1)*XR-0.375D-1) *XR-0.66D-2) *XR-0.56D-2) *XR+0.5D-3)

DSAL (XR,XT) FUNCTION FOR DERIVATIVE OF SAL(XR,XT) WITH XR.
DSAL (XR, XT) =

*((((0.135405D+2*XR-0.281044D+2) *XR+0.422823D+2) *XR+0.507702D+2) *XRCFAQ4050
X -0.1692D0) + (XT/(1.0D0+0.152D-1*XT)) *{(((-0.720D-1*XR+0.2544D0) *XRCFAQ4060

X -0.1125D0) *XR-0.132D-1) *XR-0.56D-2)

FUNCTION RT3S : C(35,T,0)/C(35,15,0) VARIATION WITH TEMPERATURE

WITH TEMPERATURE.
RT35(XT) = (((1.0031D-9*XT-6.9698D-7) *XT+1.104259D-4) *XT
X + 2.00564D-2) *XT + 0.6766097D0
POLYNOMIALS OF RP: C(S,T,P)/C(S,T,0) VARIATION WITH PRESSURE
C(XP) POLYNOMIAL CORRESPONDS TO Al-A3 CONSTANTS: LEWIS 1980
C(XP) = ((3.989D-15*XP-6.370D-10) *XP+2.070D-5) *XP
B(XT) = (4.464D-4*XT+3.426D-2)*XT + 1.0D0

A(XT) POLYNOMIAL CORRESPONDS TO B3 AND B4 CONSTANTS: LEWIS 1980

A(XT) = -3.107D-3*XT + 0.4215D0

ZERO SALINITY/CONDUCTIVITY TRAP
SAL78=0.0D0
IF((M.EQ.0) .AND. (CND.LE.5D-4)) RETURN
IF((M.EQ.1) .AND. (CND.LE.0.2D-1)) RETURN

DT = T - 0.15D+2
SELECT BRANCH FOR SALINITY (M=0) OR CONDUCTIVITY (M=1)
IF(M.EQ.1) GO TO 10

CONVERT CONDUCTIVITY TO SALINITY
R = CND
RT = R/(RT35(T)*(1.0D0 + C(P)/(B(T) + A(T)*R)))
RT = DSQRT (DABS (RT))
SAL78 = SAL(RT,DT)
RETURN
#sexsvevs END OF CONDUCTIVITY TO SALINITY SECTION ***<x*+xr«+

INVERT SALINITY TO CONDUCTIVITY BY THE
NEWTON-RAPHSON ITERATIVE METHOD.

FIRST APPROXIMATION
10 RT = DSQRT(CND/0.35D+2)
SI = SAL(RT,DT)
N =0

ITERATION LOO? BEGINS HERE WITH A MAXIMUM OF 10 CYCLES
15 RT = RT + (CND - SI)/DSAL(RT,DT)
SI = SAL(RT,DT)
N =N4+1
DELS = DABS(SI - CND)
. IF((DELS.GT.1.0D-4).AND. (N.LT.10))GO TO 15
l'*ti*iitlitiitt't'tittt'ttt'EN‘D OF ITER.ATION LOOP k k kW H XN

COMPUTE CONDUCTIVITY RATIO
RTT = RT35(T)*RT*RT

AT = A(T)

BT = B(T)

cp = C(P)

CP = RTT*(C? + BT)
BT = BT - RTT*AT

SOLVE QUADRATIC EQUATION FOR R: R=RT3S*RT~*(1+C/AR+B)
R = DSQRT(DABS(BST*BT + 0.4D+1*AT*CP)) - BT
CONDUCTIVITY RETURN
SAL78 = 0.5D0*R/AT
RETURN
END

P R R R R R R R R R R R R R

SUBROUTINE OUTPUT (N,CO, ECO,NP,CFCUT,CFRMS, CRMS, SRMS, AN, ID)
REAL*8 CO(NP), ECO(NP),CFCUT
REAL"8 CFRMS(ID),CRMS(ID),SRMS(ID),AN(ID)

WRITE(20,100) N,CFCUT,
* (AN(IS),CFRMS(IS),CRMS(IS),SRMS(IS),IS=1,1ID)
100 FORMAT('DATA NUMBER=',I4,5X, 'CFCUT=',F8.5/
5X,'PR < 2000db',3X,'NuM=',FS5.0,3X,
"RMS ERROR OF CELL FACTOR =',E15.7/
31X, 'RMS ERROR OF CONDUCTIVITY=',ELS5.7/

* X A % % x

31X, *RMS ERROR OF SALINITY =',EL5.7/
5X, ‘PR > 2000db',3¥, 'NUM=',F5.0,3X,
*RMS ERROR OF CELL FACTOR =',E15.7/

- CFA04800

CFAQ4010
CFAQ04020
CFA04030
CFA04040

CFA04070
CFA04080
CFA04090
CFA04100
CFA04110
CFAQ04120
CFA04130
CFA04140
CFAQ04150
CFAQ4160
CFA04170
CFA04180
CFA04190
CFA04200
CFA04210
CFA04220
CFA04230
CFA04240
CFA04250
CFA04260
CFA04270
CFA04280
CFA04290
CFA04300
CFA04310
CFA04320
CFA04330
CFAQ04340
CFA04350
CFA04360
CFAQ04370
CFA04380
CFA04390
CFA04400
CFAQ04410
CFA04420
CFAQ04430
CFAQ04440
CFA04450
CFA04460
CFA04470
CFAQ04480
CFAQ04490
CFA04500
CFA04510
CFA04520
CFA04530
CFA04540
CFA04550
CFA04560
CFAQ04570
CFA04580
CFAQ04590
CFA04600
CFAQ04610
CFA04620
CFAQ4630
CFAQ04640
CFA04650
CFA04660
CFA04670
CFA04680
CFA04690
CFA04700
CFA04710
CFA04720
CFA04730
CFA04740
CFAQ4750
CFA04760
CFA04770
CFA04780
CFA04790
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"'RMS ERROR OF CELL FACTOR

L 2

WRITE(20,110) CO

110 FORMAT(' CO: ',6E15.7)
WRITE(20,120) ECO

120 FORMAT(' ECO:',6E15.7/)
RETURN
END

31X, 'RMS ERRCR OF CONDUCTIVITY=',ELS.
31X, '’RMS ERROR OF SALINITY =',El5.
5X, 'Total ', 3%, 'NUM=',F5.0, 3X,

=',E15.7/

31X, 'RMS ERROR OF CONDUCTIVITY=',bELS.
31X, 'RMS ERROR OF SALINITY =',ELS.

7/
7/

7/
7)

CFa04810
Cra04820
CFA04830
CFA04840
CFA04850
CFA04860
CFA04870
CFA04880
Cra04890
CFa04900
CFA04910
CFA04920

fft§z 4-8
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A AR AR R R RS R R R R R R

C Program to compuce polynomial of conductivity from CTD *

C for water-sample conductivity (April, 1992) *
Clt**tﬁt"*i'l‘"\"'!l‘t'i‘ltllt"'!'1tttktﬁ'*‘."*ii'ttittttl't
C Files
C INPUT FT107001 CTDRMSL1.DATA (LRECL=100)
C OUTPUT FT20F001 CSCCILGl.DATA (LRECL=72)
C NP: 2 for linear, 3 for quadratic, 4 for cubic
PARAMETER (NP=2)
C NST: Number of station
C NST=34 for leg 1, 38 for leg 2 (XH-91-5)
PARAMETER (NST=38, IQ=NST*24)
REAL*3 CC(IQ).,CS(IQ),CO(NP),ECO(NP)
REAL*8 PC(IQ),TC(IQ),SS(IQ),PCTD,TCTD, SSMP
REAL*8 CCTD, CSMP, CCUT
PARAMETER (ID=3)
REAL*8 CRMS(ID),SRMS(ID),AN(ID)
REAL*8 POWER1
EXTERNAL POWER1

CHARACTER=*29 FRM10/'(A4,S5X,F7.1,2(F8.4,8X),2F8.4)"'/
CHARACTER™1 DUM
CHARACTER*4 STN(NST)

N=0

DO 50 IT=1,NST
STN(IT)=" !
READ(10, ' (Al)',END=900) DUM
READ(10,' (Al) ') DUM

DO 30 I=1,24
READ(10, FRM10) STN(IT),PCTD,TCTD,CCTD,CSMP, SSMP
IF(CCTD.GT.0.9D+2.0R.CSMP.GT.0.9D+2) GO TO 30
N=N+1
PC(N) =PCTD
TC(N) =TCTD
CC(N) =CCTD
CS(N) =CsMP
SS (N) =SSMP
30 CONTINUE
READ(10, * (Al) ') DUM
READ(10, ' (Al)') DUM
S0 CONTINUE

900 CONTINUE
IF(N.LE.O) THEN
WRITE(6,*) 'No data. Check dataset.'
STOP
END IF

WRITE(20,150) STN
150 FORMAT(*STN:',10(1X,Ad4))
WRITE(20,'(/)")

C Calculate the least-square-fit polynomial of Cctd for Csample
C using all data
CCuUT=0.0D0
CALL LSQFIT(N,CC,CS,IQ, POWERL, CO, ECO,NP)
CALL RMSCOND(CC,CS, PC,TC,SS,CO, IQ,NP,N,CRMS, SRMS, AN, ID)
CALL OUTPUT(N,CO,ECO,NP,CCUT, CRMS, SRMS, AN, ID)

C Recalculate the polynomial using the data within the range of four
C times of RMS of the anomaly from the previous-step polynomial
CCUT=CRMS(3) *0.4D+1
CALL CONDCUT (CC,CS, PC,TC,SS,CO, IQ,NP,N,CCUT)
CALL LSQFIT(N,CC,CS, IQ, POWERL,CO, ECO, NP)
CALL RMSCOND(CC,CS,PC,TC,SS,CO, IQ,NP,N,CRMS, SRMS, AN, ID)
CALL OUTPUT(N,CO, ECO, NP, CCUT,CRMS, SRMS, AN, ID)

C Recalculate using the data within three times of RMS
CCUT=CRMS(3) *0.3D+1
CALL CONDCUT(CC,CS, PC,TC, SS,CO, IQ,NP,N,CCUT)
CALL LSQFIT(N,CC,CS,IQ, POWERL, CO, ECO,NP)
CALL RMSCOND(CC,CS, PC,TC,SS,CO, IQ,NP,N,CRMS, SRMS, AN, ID)
CALL OUT?PUT(N,CO, ECO, NP, CCUT,CRMS, SRMS, AN, ID)

C Recalculate using the data within twice of RMS
CCUT=CRMS(3)*0.2D+1
CALL CONDCUT(CC,CS, PC,TC,SS,C0O, IQ,NP,N,CCUT)
CALL LSQFIT(N,CC,CS, IQ, POWERL,CO, ECO,NP)

€sC00010
€sSC00020
CSC00030
CsC00040
CsC00050
CSC00060
CsCo00070
CsC00080
CsC00090
CSC00100
CSC00110
CSC00120
Csco00130
CSC00140
CSC00150
CSC00160
CSC00170
CSC00180
CSC00190
€SC00200
CSsC00210
€SC00220
CSC00230
CS8C00240
CsC00250
CSC00260
CsC00270
€sC00280
CSC00290
CSC00300
CSC00310
CSC00320
CSC00330
CSC00340
CsC00350
CSC00360
CsC00370
CsC00380
CsC00390
CSC00400
CSC00410
CSC00420
CSC00430
CSC00440
CSC00450
CSC00460
CSC00470
CsC00480
CsC00490
CsSC00500
CSC00510
CSC00520
CSC00530
CSC00540
CSC00550
CSC00560
CSC00570
CSC00580
CSC00590
CsC00600
CSC00610
CSC00620
CSC00630
CSC00640
CSC00650
CSsC00660
CSC00670
CSC00680
CSC00690
CSC00700
CSC00710
CSC00720
CSC00730
CSC00740
Csc00750
Csc00760
CSCco0770
CSC00780
CSC00790
CsC00800
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C

C
C

O»xO00000000O000 *

CALL RMSCOND(CC,CS, PC,TC,SS,CO,IQ,N?,N,CRMS, SRMS, AN, ID)
- CALL OUTPUT (N, CO, ECO,N?, CCUT, CRMS, SRMS, AN, ID)

STOP
END

R KXk X R KRR RT Kk KK T AT XA XX TR A K AT T X R RN AT R AN R TR T R h e xrwhn

SUBROUTINEZ CONDCUT(X,Y,P,T,S.CO,IQ,NP,N,CUT)
Remove the conductivity data which deviate

from the fitted polynomial values more than CUT
REAL*8 X(IQ),Y(IQ),CO(NP),?2(IQ),T(IQ),S(IQ)
REAL*8 YA,D=zV,CUT
I=0
30 I=I+1
IF(I.GT.N) GO TO 31
YA=CO(1)

DO 35 K=2,NP
YA=YA + CO(K) *X(I)**(K-1)
35 CONTINUE
DEV=DABS (YA - Y (I))
IF(DEV.GE.CUT) THEN
IF(I.EQ.N) GO TO 41
DO 40 J=I,N-1
X(J)=X(J+1)
Y(J)=Y(J+1)
P(J)=P(J+1)
T(J)=T(J+1)
S(J)=S(J+1)
40 CONTINUE
41 N=N-1
I=I-1
END IF
GO TO 30
31 CONTINUE
RETURN
END

PR R R R R R R R R

SUBROUTINE LSQFIT(ND, XD, YD, IQ, ¥NC, CO, ECQO, NO)
Least square fit of YD to a polynomial of XD

PARAMETER (NOMAX=6)

REAL*8 XD(IQ),YD(IQ)

REAL*8 FNC

EXTERNAL FNC

REAL*8 CO(NO) , ECO(NO)

REAL*S B (NOMAX, NOMAX) , C (NOMAX)

REAL*8 BW (NOMAX , NOMAX) , CW (NOMAX) , WW (NOMAX)
REAL*8 S,X,Y,E,ESQ

INTEGER K,L,I

The purpose of this program is to determine CO(X) such that
MINIMIZE SUM(I=1,ND) (E(I)~~*2)
where erros are given by
E(I)=DY(I)- SUM(K=1,NO) (CO(K)*FNC(DX(I),K))
FNC(X,I) is a set of fitting functions. Any linear independent
functions can be used for the fitting. For example, FNC(X,1l)=1
and FNC(X,2)=X when linear fitting is considered.
Anyway, the user must prepare to declare these functions
with a double precission variable ‘as the first argument and
integral variable as the socond argument.

Now start procedure
DO 10 K=1,NO
C(K)=0.0D+0
CW(K)=0.0D+0
DO 10 L=1,NO
B(X,L)=0.0D+0
BW(K,L)=0.0D+0

10 CONTINUE
Construct normal equation temporary use CO(K) as FNC(X,X)
DO 20 I= 1,ND
Y = YD(I)

DO 30 K=1,NO
CO(K) = FNC(X,K)
30 CONTINUZE
DO 40 K=1,NO
C(K) = C(K) + Y*CO(X)
DO 40 L=X,NO

.CsC00950

Csc00810
€sc00820
C€sCco0830
CSC00840
CsSC00850
CsSC00860
CsC00870
€sc00880
CSC00890
C€sC00900
CsCc00910
C€SC00920
CSC00930
CSC00940

CSC00960
CSC00970
CsC00980
Cs5C00990
CscC01000
Csc01010
CsC01020
CSC01030
CSC01040
CsC01050
CsC01060
CsC01070Q
CSC01080
CsSC01090
CsCc01100
Csco01110
CSsC01120
Csc01130
CSC01140
CSCO01150
CSC01160
CsCc01170
CsC01180
Cscol1190
Csc01200
csco1210
Csc01220
CsC01230
CsC01240
CsC01250
CSC01260
Csc01270
CsC01280
CsC01290
CsC01300
CSC01310
CsC01320
CsC01330
CsC01340
CsCO01350
CSC01360
CsC01370
Csco1380
CSC01390
CSC01400
CsC01410
CSC01420
CsSC01430
CSC01440
CSC01450
CSC01460
CSC01470
CSC01480
CSCO1490
CSC01500
CSCO1510
CsSC01520
CsC01530
CSCO01540
CSCO01550
CsSCO01560
CSCO01570
CsC01580
CsC01590
CSC01600
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cOOO0O0OO0OOONON O =

40
20

50

43

63

DO 43 J=1,NO
CW(J)=C(J)
DO 43 I=1,NO

3(X,L)=3(X,L)+CO(X) *CO(L)
CONTINUZ
CONTINUZ
DO 50 X=1,NO-1
DO 50 L=K+1,NO

B(L,K)=B(X,L)
CONTINUE

BW(I,J)=B(I,J)
CONTINUE
CALL LINLD(BW,NO, NOMAX,CW, -1.0D0,CO, IER)

DO 63 K=1,NO

CO(K) =CW(K)
CONTINUE

Check error bar

60

80
70

100
90

102

101

DO 60 K=1,NO

C(K)=0.
CONTINUE
ESQ=0.

DO 70 I= 1,ND
X = XD(I)
E = YD(I)
DO 80 K=1,NO

E = E-FNC(X,K) *CO(K)
CONTINUE
ESQ=ESQ+E*E
CONTINUE

E=DSQRT (ESQ/FLOAT (ND-NO) )
DO 90 I=1,ND

X = XD(I)
DO 100 K=1,NO
C(K) = C(K)
CONTINUE
CONTINUE

DO 102 J=1,NO

CW(J)=C(J)

DO 102 I=1,NO
BW(I,J)=3(I,J)
CONTINUE
CALL LINLD(BW,NO,NOMAX,CW,-1.0D0,WW, IER)
DO 101 K=1,NO
ECO(K) =CW(K)

RETURN

END

+ E*FNC(X,K)

IR R R R R R R R R R R R R EEE RN RN

FUNCTION POWERL (X, K)
Function used for polynomial fitting

REAL*8 POWERL, X
INTEGER K
POWERL=X**(K-1)
RETURN
END

R R R e R E R

SUBROUTINE LINLD(A, N, N1,

B,

EPS, P, IER)

Simultaneous equations for real symmetric matrix
by modified Cholesky method

Parameters
(1) A :
(2) N :
(3) N1
(4) B :
(S) EPS
(6) P :
(7) IER :

Copy right

2-dim. array containing real symmetric matrix
Order of the matrix to solve
Size of array a defined in ‘'DIMENSION'

1-dim. array containing the right hand side vector

statement

Parameter to check singularity of the matrix
standard value = 1.0D-14

1-dim. array containing reciprocals of diagonals of D
Error code

T. OGUNI

July 30 1989 Version 1.0

IMPLICIT REAL*8(A-H,0-2)
DIMENSION A (NLl,N1),
Check the input data

EPS
IF

1 =
((N1

1.0D-14
.LT. N)

.OR.

B(N), P(N)

(N .LE.

1)) THEN

CSC01610
CSC01620
CSC01630
CSC01640
CsC01650
CSC01660
CSC01670
CsC01680
CsC01690
CSC01700
CsC01710
CsCo1720
CSC01730
CSC01740
CSC01750
CSC01760
CSC01770
CSC01780
CSC01790
CSC01800
Csco1810
CSCo01820
Cscol830
Csco01840
Csco1850
CsC01860
Csco1870
Csco1880
Csco1890
CSC01900
Cscol910
Csc01920
Csc01930
Cscol940
CSC01950
CSC01960
CsC01970
Csc01980
CsC01990
CsC02000
CSC02010
CsC02020
CSC02030
CSC02040
CsC02050
CSC02060
CSC02070
CsC02080
CsC02090
Csc02100
Csco02110
CSC02120
CsC02130
CsC02140
CsSC02150
Csc02160
CsC02170
€sco2180
€sC02190
€sc02200
CSC02210
CSC02220
CSC02230
€sC02240
€sc02250
CSC02260
€sC02270
€sC02280
€sc02290
€SC02300
Csc02310
Csc02320
CSsC02330
Csc02340
€SsC02350
CSC02360
CsCc02370
csc02380
€sc02390
€sc02400
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C
C

¥RITE(;,') ' (SUBR. LINLD) INVALID ARGUMENT. N1 < N.', N1,
ER =
RETURN
ENDIF
IF (EPS .LE. 0.0) EPS = EPS1
IF (DABS(A(1,1)) .LE. EPS) THEN
J =1
WRITE(*,*) ' (SUBR. LINLD) SINGULAR AT STEP # ‘', J
IER = 1
RETURN
ENDIF
Initialization
P(1) = 1.0D0 / A(1,1)
IER = 0
Modified Cholesky decomposition
DO 150 J=2,N
IF (J .GT. 2) THEN
DO 120 I=2,J0-1
S = 0.0D0
DO 110 K=1,I-1
110 S =S + A(K,I) * A(K,J)
A(I,J) = A(I,J) - S~
120 CONTINUE
ENDIF
S = 0.0D0
DO 140 I=1,0-1
T = A(I,J)

A(I,J) = P(I) * T
S =85+ A(I,J) *T
140 CONTINUE
T = A(J,J) - S
IF (DABS(T) .LE. EPS) THEN
WRITE(*,*) ' (SUBR. LINLD) SINGULAR AT STEP # ', J
IER = 1
RETURN
ENDIF
P(J) = 1.0D0 / T
A(J,J) = T
150 CONTINUE

ENTRY LDSUB(A,B)
Forward substitution
DO 200 I=2,N
S = 0.0D0
DO 190 K=1,I-1
190 S =S + A(K,I) * B(K)
B(I) = B(I) - S
200 CONTINUE
DO 210 I=1,N
210 B(I) = B(I) * P(I)

Backward substitution
DO 240 K=2,N
J = N + 2 - K
T = B(J)
IF (T .NE. 0.0) THEN
DO 230 I=1,J-1
230 B(I) = B(I) - A(I,J) * T
ENDIF
240 CONTINUE
RETURN
END
I AR E R EEEEEEEENEREEEEEEREEERERENESEIEEIEJSENIEIE R B2 202 I I I A I I I I I A2
SUBROUTINE RMSCOND(CC,CS,P,T,S,CO, IQ,NP,N,CRMS, SRMS,AN, ID)
Compute rms difference of sample conductivity
from the fitted polynomial curve

REAL*8 CC(IQ),CS(IQ),CO(NP),P(IQ),T(IQ).S(IQ)
REAL*8 CRMS (ID),SRMS(ID),AN(ID)

REAL*8 CCA, DVARC, DVARS

REAL*8 C35150, SAL78,CND, SAL

PARAMETER (CJ5150=0.42914D+2)

EXTERNAL SAL78

DO S K=1,1ID
CRMS (K) = 0.0D0
SRMS(K) = 0.0D0
AN (K) = 0.0D0
S CONTINUE
I=0

N

- €S8C02890

CsC02410
CSC02420
CsC02430
CSC02440
CsC02450
CSC02460
CSC02470
CSC02480
CSC02490
CSC02500
CSC02510
CS8C02520
€sSC02530
CSC02540
CS8C02550
CSC02560
CSC02570
€sC02580
CSC02590
CSC02600
CSC02610
CSC02620
CSC02630
CSC02640
CSC02650
CSC02660
CSC02670
€SC02680
CSC02690
C€sC02700
CSC02710
CSC02720
CSC02730
CSC02740
CsC02750
CSC02760
€SC02770
€sc02780
CSC02790
€sC02800
CsC02810
€sco02820
€sC02830
CSC02840
€SsC02850
CsSC02860
CsC02870
€sC02880

€SC02900
CSC02910
€SC02920
CSC02930
CSC02940
CSC02950
CSC02960
CSC02970
€sC02980
CsC02990
C€sC03000
CSC03010
CS8C03020
CSC03030
CSC03040
CsC03050
CSC03060
CSC03070
CsC03080
CsC03090
CSC03100
CsC03110
CsC03120
CsC03130
CSsC03140
CSC03150
CSC03160
CSsC03170
Csco3180
CSC03190
€SC03200
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OO0 0000 =

OO +N0+00 «O0N0NNONONO =00 «00 +0OO +

10 I=I+1 . CSC03210
IF(I.GT.N) GO TO 20 CSC03220
CCA:CO(l) Csco03230
DO 30 X=2,N? CSC03240

CCA=CCA + CO(X)=CC(I)~=(K- l) CSC03250

30 CONTINUE CSC03280
DVARC = (CCA - CS(I))=(CCA - CS(I)) CSc03270
CRMS(3) = CRMS(3) + DVARC . ’ CSC03230
CND = CCA/C35130 CSc03290
SAL = SAL78(CND,T(I),?(I),0) CSsC03300
DVARS = (SAL - S(I))*(SAL - S(I)) CSC03310
SRMS(3) = SRMS(3) + DVARS CsSC03320
AN(3) = AN(3) + 0.1D+1 CsC03330
IF(P(I).LT.0.2D+4) THEN CSC03340

CRMS(1) = CRMS(1l) + DVARC CSC03350
SRMS (1) = SRMS(1l) + DVARS CSC03360
AN(1) = AN(1) + 0.1D+1 CSC03370
ELSE Csc03380
CRMS(2) = CRMS(2) + DVARC CSC03390
SRMS(2) = SRMS(2) + DVARS CSC03400
AN(2) = AN(2) + 0.1D+1 CSC03410
END IF €SC03420
GO TO 10 €SC03430
CSC03440

20 DO 15 K=1,1ID CSC03450
CRMS (K) = DSQRT(CRMS (K)/AN(K)) CSC03460
SRMS(K) = DSQRT(SRMS(K)/AN(K)) CSC03470

15 CONTINUE CSC03480
RETURN CSC03490
END CSC03500

CSC03510

IR EE R R SRR R SRR EREEEEEEEEEEREEREREEEEEEEEEREEREREREEEREREREREIEEREREE R R IR I CSC03520
SEPT. 28 1983 CSC03530
ADD TF(S, FREEZING PT. CSC03540
WHOI CTD GROUP DISX FILE SPEC=BLUE: :CTDA:<CTDEV.PRSW>PHYPROPSW.FOR CSC03550
CSC03560

+ TITLE: ALGORITHMS FOR OCEANOGRAPHIC COMPUTATIONS CSC03570
N FOFONOFF & R MILLARD CSC03580
CSC03590

SAL78 FCN *******xvxr MAR 28 1983 *#**x**xx CSC03600
FUNCTION SAL78(CND,T, P, M) CSCc03610
IMPLICIT REAL*8 (A-H,0-2) CSC03620
CSC03630

THE CONDUCTIVITY RATIO (CND) = 1.0000000 FOR SALINITY = 35 PSS-78 CSC03640
TEMPERATURE = 15.0 DEG. CELSIUS , AND ATMOSPHERIC PRESSURE. CSC03650
CSC03660

FUNCTION TO CONVERT CONDUCTIVITY RATIO TO SALINITY (M = 0) CSC03670
SALINITY TO CONDUCTIVITY PATIO (M = 1,CND BECOMES INPUT SALINITY) CSC03280
CSC03690

REFERENCES: ALSO LOCATED IN UNESCO REPORT # 37 1981 ' CSC03700
PRACTICAL SALINITY SCALE 1978: E.L. LEWIS IEEE OCEAN ENG. JAN., 1980 (CSC03710
CSC03720

UNITS: CSC03730
PRESSURE P DECIBARS CSC03740
TEMPZRATURE T DEG CELSIUS (IPTS-68) CSC03750
CONDUCTIVITY CND RATIO (M=0) CSC03760
SALINITY SAL78 (PSS-78) (M=0) CSC03770
CHECKVALUES: CSC03780
SAL78=1.888091 :CND= 40.0000,T=40 DEG C,P= 10000 DECIBARS: M= 1CSC03790
SAL78=40.00000 :CND=1.888091,T=40 DEG C,P=10000 DECIBARS: M=0 CSC03800

: CSco3810

SAL78 RATIO: RETURNS ZERO FOR CONDUCTIVITY RATIO: < 0.0005 CSC03820
SAL78: RETURNS ZERO FOR SALINITY: < 0.02 CSCc03830
Ccsc03840

INTERNAL FUNCTIONS €SCc03850
CSC03860

PRACTICAL SALINITY SCALE 1978 DEFINITION WITH TEMPERATURE CORRECTION CSC03870

XT=T-15.0 : XR=SQRT(RT) CsC03880
SAL(XR,XT) = CsSCc03890

* ((((0.27081D+1"XR-0.70261D+1)*XR+0.140941D+2) *XR+0.253851D+2) *XR CSC03900
X -0.1692D0)* XR+0.0080DO CSC03910
X +(XT/(1.0D0+0.0162DO0*XT))*(((((-0.144D-1*XR+ CSC03920
X 0.636D-1)*XR-0.375D-1) *XR-0.66D-2) *XR-0.586D-2) *XR+0.5D-3) CSC03930

DSAL (XR,XT) FUNCTION FOR DERIVATIVE OF SAL(XR,XT) WITH XR. CSC03940

DSAL (XR,XT) = CSC03950

*((((0.135405D+2" XR-0.281044D+2)'XR+0.42282JD+2)'XR+0.5077020¢2)'XRCSC0396O
X -0.1692D0) +(XT/(1.0D0+0.162D-1*XT)) *((((-0.720D-1*XR+0.2544D0) *XRCSCO03970

X -0.1125D0) *XR-0.132D-1) *XR-0.56D-2) €sSC03980
FUNCTION RT3S : C(35,T,0)/C(35,15,0) VARIATION WITH TEMPERATURE CSC03990
WITH TEMPEZRATURE. . Csco04000
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o0

RT3IS(XT) = (((1.0031D-9+XT-5.35698D-7)*XT+1.104259D-4) *XT
X + 2.00564D-2)*XT + 0.6755297D0
POLYNOMIALS OF R?: C(S,T,?2)/C(5,7,0) VARIATION WITH PRISSURE
C(X?) POLYNOMIAL CORRESPONDS TO Al-A3 CONSTANTS: LEWIS 1930
C(XP) = ((3.983D-15"X2-6.370D-10) *XP+2.070D-5) *X?
B(XT) = (4.464D-4*XT+3.4268D-2)*XT + 1.0D0
A(XT) POLYNOMIAL CORRES?ONDS TO 33 AND B4 CONSTANTS: LEWIS 1980
A(XT) = -3.107D-3"XT + 0.4215D0

C ZERO SALINITY/CONDUCTIVITY TRA?

O «00 x0

»*

*

SAL78=0.0D0
IF((M.2Q.0).AND. (CND.LZ.5D-4)) RETURN
IF((M.EQ.1) .AND. (CND.LE.0.2D-1)) RETURN

DT = T - 0.15D+2
SELECT BRANCH FOR SALINITY (M=0) OR CONDUCTIVITY (M=1)
IF(M.EQ.1) GO 7O 10

CONVERT CONDUCTIVITY TO SALINITY
R = CND
RT = R/(RT35(T)*(1.0D0 + C(2)/(B(T) + A(T)*R)))
RT = DSQRT(DA3S (RT))
SAL78 = SAL(RT,DT)
RETURN
txxxxexce END OF CONDUCTIVITY TO SALINITY SECTION #*+rxxxx++«

INVERT SALINITY TO CONDUCTIVITY 3Y THE
NEWTON-RAPHSON ITZRATIVE METHOD.

FIRST APPROXIMATION

10 RT = DSQRT(CND/0Q.35D+2)
SI = SAL(RT,DT)
N =0

ITERATION LOOP BEGINS H=ZRE WITH A MAXIMUM OF 10 CYCLES
15 RT = RT + (CND - SI)/DSAL(RT,DT)
SI = SAL(RT,DT)
N=N+1
DELS = DABS(SI - CND)
IF((DZLS.GT.1.0D-4) .AND. (N.LT.10))GO TO 15

vxrkrrrrerenrarbccvecexrcevrrxDOND OF [TERATION LOQP ***rre«x
COMPUTE CONDUCTIVITY RATIO

RTT = RT3S5(T) "RT*RT

AT = A(T)

BT = B(T)

Cp = C(P)

CP = RTT*(CP + 3T)

BT = BT - RTT*AT

SOLVE QUADRATIC EQUATIONM FOR R: 2=RT3S*RT*(l+C/AR+B)
R = DSQRT(DA3S(3T<*3T + 0.4D+1-AT-"CP)) - BT

CONDUCTIVITY RETURN
SAL78 = 0.S5DO*R/AT
RETURN
END

IZ AR SR E LR R AR EREEEEE AR SR ASE AL EEEEEEEREREENEEEENESEEENEENEIENES]
SUBROUTINEZ OUTPUT(N,CO, ECO,N?,CUT,CRMS, SRMS, AN, ID)
REAL*8 CO(NP), ECO(N?),CUT
REAL*8 CRMS(IDJ,SRMS(ID),AN(ID)

WRITE(20,100) N,CUT, (AN(IS),CRMS(IS),SRMS(IS),IS=1,ID)
100 FORMAT ('DATA NUMBER=',I4,SX,'CUT=',F8.5/
) SX,'PR < 2000db’,3X, 'NUM=',FS.0, 3X,
‘RMS ERROR OF CONDUCTIVITY=',El1S5.7/
31X, '’MS ERROR OF SALINITY =',E15.7/
SX, 'PR > 2000db', 3K, 'NUM=',FS5.0, 3X,
*RMS =ZRR0R OF CONDUCTIVITY=',ELS.7/

4 % 4 A & X % %

J1X, 'RMS ERROR OF SALINITY =',E15.7/
5X, ‘Total ',3X,'NUM=",FS5.0,3X,
'RMS EZRROR OF CONDUCTIVITY=',El1S5.7/
31X, '*MS ERROR OF SALINITY =',EL15.7)

WRITZ(20,110) CO

110 FORMAT(®' CO: ',4ELS5.7)
WRITE(20,120) =CO

120 FORMAT(' ECO:',4E15.7)
WRITE(20, ' (1X) ')
RETURN
END

CSC04010
€sC04020
CSC04030
CSC04040
CsC04050
CSC04060
CSC04070
€sCc04080
CSC04090
€SC04100
CSC04110
CSC04120
CSC04130
CSC04140
CSC04150
CSC04160
CSC04170
€SC04180
CSC04190
CsC04200
CSC04210
CsC04220
CSC04230
CSC04240
CsC04250
CSC04260
CsC04270
€SsC04280
CsC04290
CSC04300
CSC04310
CsC04320
CSC04330
CsC04340
CSC04350
CSC04360
CSC04370
CSC04380
CsC04390
CSC04400
CSC04410
CSC04420
CSC04430
CsC04440
CSC04450
CsSC04460
CSC04470
CSC04480
€sC04490
CsC04500
CsC04510
CSC04520
CSC04530
CSC04540
CSC04550
CSC04560
CsC04570
CSC04580
CsC04590
CSC04600
CSC04610
CSC04620
CSC04630
CSC04640
CSC04650
CSC04660
CSC04570
CsSC04680
CSC04690
CsC04700
CSC04710
CsC04720
CSC04730
CSC04740
CSC04750
CSC04750
CsC04770
CSsc04780
CSC04790
CSC04800
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